STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

KNOX COUNTY (Contract No. CNW919 Call 001)

HSIP-71(33),47024-3239-94

THE GRADING, DRAINAGE, RETAINING WALLS AND PAVING ON U.S. 441 (S.R. 71) FROM SOUTH OF SIMPSON ROAD (L.M. 1.00) TO HENDRON CHAPEL ROAD (L.M. 1.98) IN KNOXVILLE.

PROJECT LENGTH - 1.129 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2025

DBE GOAL 10.00%

TOTAL CONTRACT

Charles Blalock & Sons, Inc.

\$18,840,591.07

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNW919 EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Charles Blalock & Sons, Inc.	1.000 LS	\$800,000.0000	\$800,000.00
108-03	CPM PROJECT SCHEDULE	1.000 LS		
	Charles Blalock & Sons, Inc.		\$240,000.0000	\$240,000.00
109-10.01	TRAINEE			
	Charles Blalock & Sons, Inc.	1,720.000 HOUR	\$0.8000	\$1,376.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Charles Blalock & Sons, Inc.		\$200,000.0000	\$200,000.00
202-01.57	REMOVAL OF STRUCTURES & OBSTRUCTIONS (CB & EW)	1.000 LS		
	Charles Blalock & Sons, Inc.		\$4,727.6300	\$4,727.63
202-01.58	REMOVAL OF STRUCTURES & OBSTRUCTIONS (PIPES)	1.000 LS		
	Charles Blalock & Sons, Inc.		\$3,214.6500	\$3,214.65
202-03.01	REMOVAL OF ASPHALT PAVEMENT	4,122.000 S.Y.	\$22.7100	\$93,610.62
202.04	Charles Blalock & Sons, Inc.			
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) Charles Blalock & Sons, Inc.	57,163.000 C.Y.	\$20.5100	\$1,172,413.13
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)		ψ20.3100	ψ1,172,413.13
	Charles Blalock & Sons, Inc.	5,236.000 TON	\$44.4600	\$232,792.56
203-04	PLACING AND SPREADING TOPSOIL			
	Charles Blalock & Sons, Inc.	7,365.000 C.Y.	\$8.2200	\$60,540.30
203-06	WATER			
	Charles Blalock & Sons, Inc.	152.000 M.G.	\$105.6800	\$16,063.36
203-07	FURNISHING & SPREADING TOPSOIL			
	Charles Blalock & Sons, Inc.	3,938.000 C.Y.	\$6.0000	\$23,628.00

PAGE 2

			UNIT PRICE	EXTENSION
204-08	FOUNDATION FILL MATERIAL			
	Charles Blalock & Sons, Inc.	30.000 C.Y.	\$80.2500	\$2,407.50
209-02.05	12" TEMPORARY SLOPE DRAIN			
	Charles Blalock & Sons, Inc.	1,441.000 L.F.	\$20.5600	\$29,626.96
209-02.07	18" TEMPORARY SLOPE DRAIN			
	Charles Blalock & Sons, Inc.	552.000 L.F.	\$29.8300	\$16,466.16
209-05	SEDIMENT REMOVAL			
	Charles Blalock & Sons, Inc.	398.000 C.Y.	\$19.5600	\$7,784.88
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Charles Blalock & Sons, Inc.	13,224.000 L.F.	\$4.0700	\$53,821.68
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
	Charles Blalock & Sons, Inc.	21,672.000 L.F.	\$2.0900	\$45,294.48
209-08.07	ROCK CHECK DAM			
	Charles Blalock & Sons, Inc.	9.000 EACH	\$417.3000	\$3,755.70
209-08.08	ENHANCED ROCK CHECK DAM			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$856.0000	\$3,424.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$1,070.0000	\$4,280.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	Charles Blalock & Sons, Inc.	26.000 EACH	\$267.5000	\$6,955.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
	Charles Blalock & Sons, Inc.	17.000 EACH	\$374.5000	\$6,366.50
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
	Charles Blalock & Sons, Inc.	8.000 EACH	\$588.5000	\$4,708.00

CONTRACT CNW919 UNIT PRICE **EXTENSION** 209-40.46 CATCH BASIN FILTER ASSEMBLY(TYPE 6) 19.000 EACH Charles Blalock & Sons, Inc. \$535.0000 \$10,165.00 209-40.47 CATCH BASIN FILTER ASSEMBLY(TYPE 7) 2.000 EACH Charles Blalock & Sons, Inc. \$642.0000 \$1.284.00 209-40.48 CATCH BASIN FILTER ASSEMBLY(TYPE 8) 2.000 EACH Charles Blalock & Sons, Inc. \$1,337.5000 \$2.675.00 209-65.04 TEMPORARY IN STREAM DIVERSION 198.000 L.F. Charles Blalock & Sons, Inc. \$160.5000 \$31,779.00 303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D 15,599.000 TON Charles Blalock & Sons, Inc. \$40.2200 \$627,391.78 303-01.01 GRANULAR BACKFILL (ROADWAY) 266.000 TON Charles Blalock & Sons, Inc. \$73.4900 \$19,548.34 303-01.03 GRANULAR BACKFILL (RETAINING WALLS) 2.500 TON \$199.5600 Charles Blalock & Sons, Inc. \$498.90 303-10.01 MINERAL AGGREGATE (SIZE 57) 261.000 TON Charles Blalock & Sons, Inc. \$52.8700 \$13,799.07 307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 956.000 TON Charles Blalock & Sons, Inc. \$160.0700 \$153,026.92 307-01.21 ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S 1,060.000 TON Charles Blalock & Sons, Inc. \$157.0800 \$166,504.80 307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A 2,384.000 TON Charles Blalock & Sons, Inc. \$366,826.08 \$153.8700 307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2 1,192.000 TON Charles Blalock & Sons, Inc. \$154.8300 \$184,557.36

UNIT PRICE EXTENSION

			UNIT PRICE	EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	22 200 TON		
	Charles Blalock & Sons, Inc.	23.300 TON	\$1,086.0500	\$25,304.97
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Charles Blalock & Sons, Inc.	33.500 TON	\$1,021.8500	\$34,231.98
411-01.10	ACS MIX(PG64-22) GRADING D	420 000 TON		
	Charles Blalock & Sons, Inc.	439.000 TON	\$233.6900	\$102,589.91
411-02.10	ACS MIX(PG70-22) GRADING D			
	Charles Blalock & Sons, Inc.	3,014.000 TON	\$149.1600	\$449,568.24
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUC	DUS) (8IN WIDTH) 1.800 L.M.		
	Charles Blalock & Sons, Inc.	1.800 L.M.	\$2,086.5000	\$3,755.70
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUC	DUS) (4IN WIDTH) 0.300 L.M.		
	Charles Blalock & Sons, Inc.	0.300 L.M.	\$25,825.8700	\$7,747.76
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	2 200 000 TON		
	Charles Blalock & Sons, Inc.	2,299.000 TON	\$29.0000	\$66,671.00
602-01	STRUCTURAL STEEL	645.000 LB.		
	Charles Blalock & Sons, Inc.	043.000 LB.	\$15.2200	\$9,816.90
604-01.01	CLASS A CONCRETE (ROADWAY)	38.000 C.Y.		
	Charles Blalock & Sons, Inc.	30.000 C.T.	\$2,033.0000	\$77,254.00
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)	5 022 000 L B		
	Charles Blalock & Sons, Inc.	5,922.000 LB.	\$2.6800	\$15,870.96
604-07.01	RETAINING WALL (WALL 1)	1,397.000 S.F.		
	Charles Blalock & Sons, Inc.	1,397.000 S.F.	\$425.1400	\$593,920.58
604-07.02	RETAINING WALL (WALL 2)	1,109.000 S.F.		
	Charles Blalock & Sons, Inc.	1,103.000 S.F.	\$316.5300	\$351,031.77

			UNIT PRICE	EXTENSION
604-07.03	RETAINING WALL (WALL 3)			
	Charles Blalock & Sons, Inc.	1,321.000 S.F.	\$277.8400	\$367,026.64
604-07.04	RETAINING WALL (WALL 4)	1,039.000 S.F.		
	Charles Blalock & Sons, Inc.	1,039.000 S.F.	\$342.6300	\$355,992.57
604-07.05	RETAINING WALL (WALL 5)	6,338.000 S.F.		
	Charles Blalock & Sons, Inc.	0,000,000 0.1 1	\$371.1200	\$2,352,158.56
604-07.06	RETAINING WALL (WALL 6)	572.000 S.F.		
	Charles Blalock & Sons, Inc.		\$395.2300	\$226,071.56
604-07.07	RETAINING WALL (WALL 7)	732.000 S.F.		\$294,769.08
	Charles Blalock & Sons, Inc.		\$402.6900	
604-07.08	RETAINING WALL (8)	372.000 S.F.		
	Charles Blalock & Sons, Inc.		\$244.9700	\$91,128.84
604-10.05	CONCRETE	80.000 S.F.		
	Charles Blalock & Sons, Inc.		\$171.7700	\$13,741.60
604-10.54	CONCRETE REPAIRS	80.000 S.F.		
	Charles Blalock & Sons, Inc.		\$406.5300	\$32,522.40
604-10.63	CONCRETE REPAIRS (CRACKS)	200.000 L.F.		
	Charles Blalock & Sons, Inc.		\$186.6800	\$37,336.00
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)	14.000 L.F.		
	Charles Blalock & Sons, Inc.		\$513.6300	\$7,190.82
607-03.30	18" PIPE CULVERT	2,840.000 L.F.		
	Charles Blalock & Sons, Inc.		\$125.4900	\$356,391.60
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)	72.000 L.F.	•	A
	Charles Blalock & Sons, Inc.		\$225.9800	\$16,270.56

CONTRACT CNW919 UNIT PRICE **EXTENSION** 607-39.02 18" PIPE CULVERT (SIDE DRAIN) 156.000 L.F. \$102.8600 Charles Blalock & Sons, Inc. \$16,046.16 611-02.10 JUNCTION BOX, TYPE 1 9.000 EACH Charles Blalock & Sons, Inc. \$8.609.3900 \$77.484.51 611-07.01 CLASS A CONCRETE (PIPE ENDWALLS) 39.000 C.Y. Charles Blalock & Sons, Inc. \$1,503.5900 \$58,640.01 611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS) 2,117.000 LB. Charles Blalock & Sons, Inc. \$5.3700 \$11,368.29 611-07.31 18IN ENDWALL (SIDE DRAIN) 8.000 EACH Charles Blalock & Sons, Inc. \$9,502.4400 \$76,019.52 611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1 1.000 EACH Charles Blalock & Sons, Inc. \$10,226.2500 \$10,226.25 611-07.56 18IN ENDWALL (CROSS DRAIN) 6:1 1.000 EACH Charles Blalock & Sons, Inc. \$11,952.5700 \$11,952.57 611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1 1.000 EACH Charles Blalock & Sons, Inc. \$7,689.9800 \$7,689.98 611-07.59 24IN ENDWALL (CROSS DRAIN) 6:1 1.000 EACH Charles Blalock & Sons, Inc. \$10,157.0100 \$10,157.01 611-09.03 CAPPING EXISTING CATCHBASIN 4.000 EACH Charles Blalock & Sons, Inc. \$2,509.1900 \$10,036.76 611-25.01 CATCH BASINS, TYPE 25, 0' - 4' DEPTH 6.000 EACH Charles Blalock & Sons, Inc. \$35,256.18 \$5,876.0300 611-25.02 CATCH BASINS, TYPE 25, > 4' - 8' DEPTH 10.000 EACH Charles Blalock & Sons, Inc. \$6,152.3900 \$61,523.90

			UNIT PRICE	EXTENSION
611-25.03	CATCH BASINS, TYPE 25, > 8' - 12' DEPTH			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$8,242.7600	\$8,242.76
611-26.02	CATCH BASINS, TYPE 26, > 4' - 8' DEPTH	2.000 EACH		
	Charles Blalock & Sons, Inc.		\$12,503.1500	\$25,006.30
611-41.01	CATCH BASINS, TYPE 41, 0' - 4' DEPTH	3.000 EACH		
	Charles Blalock & Sons, Inc.	3.000 EACH	\$10,597.8300	\$31,793.49
611-41.02	CATCH BASINS, TYPE 41, > 4' - 8' DEPTH			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$12,599.0100	\$25,198.02
611-42.01	CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$7,051.9900	\$21,155.97
611-42.02	CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$9,421.9900	\$28,265.97
611-45.02	CATCH BASINS, TYPE 45, > 4' - 8' DEPTH			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$18,005.3800	\$36,010.76
701-02	CONCRETE DRIVEWAY			
	Charles Blalock & Sons, Inc.	10,514.000 S.F.	\$24.6100	\$258,749.54
702-03	CONCRETE COMBINED CURB & GUTTER			
	Charles Blalock & Sons, Inc.	520.000 C.Y.	\$592.2300	\$307,959.60
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
	Charles Blalock & Sons, Inc.	59.000 C.Y.	\$963.0000	\$56,817.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$2,086.5000	\$6,259.50
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
	Charles Blalock & Sons, Inc.	64.000 EACH	\$16.0500	\$1,027.20

CONTRACT CNW919 UNIT PRICE **EXTENSION** 705-06.01 W BEAM GR (TYPE 2) MASH TL-3 3,465.000 L.F. Charles Blalock & Sons, Inc. \$34.7800 \$120,512.70 705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL-3 2.000 EACH Charles Blalock & Sons, Inc. \$1.605.0000 \$3.210.00 705-06.11 GR TERMINAL (IN-INLINE) MASH TL-3 9.000 EACH Charles Blalock & Sons, Inc. \$1,551.5000 \$13,963.50 705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3 3.000 EACH Charles Blalock & Sons, Inc. \$3,745.0000 \$11,235.00 705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3 12.000 EACH Charles Blalock & Sons, Inc. \$2,621.5000 \$31,458.00 705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2 5.000 EACH Charles Blalock & Sons, Inc. \$3,290.2500 \$16,451.25 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 42.000 EACH Charles Blalock & Sons, Inc. \$10,165.0000 \$426,930.00 706-01 GUARDRAIL REMOVED 130.000 L.F. Charles Blalock & Sons, Inc. \$4.2800 \$556.40 706-10.26 ROUNDED END ELEMENT 6.000 EACH Charles Blalock & Sons, Inc. \$133.7500 \$802.50 708-02.01 MARKERS (CONCRETE R.O.W. POSTS) 58.000 EACH Charles Blalock & Sons, Inc. \$435.7200 \$25,271.76 709-05.05 MACHINED RIP-RAP (CLASS A-3) 105.000 TON Charles Blalock & Sons, Inc. \$63.3100 \$6,647.55 709-05.06 MACHINED RIP-RAP (CLASS A-1) 1,131.000 TON Charles Blalock & Sons, Inc. \$67.2700 \$76,082.37

CONTRACT CNW919 UNIT PRICE **EXTENSION** 709-05.08 MACHINED RIP-RAP (CLASS B) 514.000 TON Charles Blalock & Sons, Inc. \$75.1000 \$38,601.40 709-05.09 MACHINED RIP-RAP (CLASS C) 380.000 TON Charles Blalock & Sons, Inc. \$82.9400 \$31,517.20 710-04 FILTER CLOTH UNDERDRAIN (WITH PIPE) 8,019.000 L.F. Charles Blalock & Sons, Inc. \$10,7000 \$85,803.30 710-05 LATERAL UNDERDRAIN 462.000 L.F. Charles Blalock & Sons, Inc. \$9.1000 \$4,204.20 710-06.11 LATERAL UNDERDRAIN ENDWALL (2:1) 5.000 EACH Charles Blalock & Sons, Inc. \$1,070.0000 \$5,350.00 710-06.13 LATERAL UNDERDRAIN ENDWALL (4:1) 4.000 EACH Charles Blalock & Sons, Inc. \$1,070.0000 \$4,280.00 710-06.15 LATERAL UNDERDRAIN ENDWALL (6:1) 16.000 EACH \$1,070.0000 Charles Blalock & Sons, Inc. \$17,120.00 711-05.71 51IN SINGLE SLOPE CONCRETE BARRIER WALL 55.000 L.F. Charles Blalock & Sons, Inc. \$302.1700 \$16,619.35 711-05.72 SINGLE SLOPE HALF CONCRETE BARRIER WALL 718.000 L.F. Charles Blalock & Sons, Inc. \$166.9300 \$119,855.74 712-01 **TRAFFIC CONTROL** 1.000 LS Charles Blalock & Sons, Inc. \$1,100,000.0000 \$1,100,000.00 712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL 5,434.000 L.F. Charles Blalock & Sons, Inc. \$175,137.82 \$32.2300 712-04.01 FLEXIBLE DRUMS (CHANNELIZING) 200.000 EACH

Charles Blalock & Sons, Inc.

\$6,366.00

\$31.8300

				DNIRACI CNW918
			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
	Charles Blalock & Sons, Inc.	12.000 EACH	\$26.7500	\$321.00
712-06	SIGNS (CONSTRUCTION)			
	Charles Blalock & Sons, Inc.	676.000 S.F.	\$9.9000	\$6,692.40
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Charles Blalock & Sons, Inc.	66.000 L.F.	\$29.9600	\$1,977.36
712-08.03	ARROW BOARD (TYPE C)			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$1,150.2500	\$4,601.00
712-12.10	TEMPORARY CURB W/FLEXIBLE DELINEATOR			
	Charles Blalock & Sons, Inc.	2,850.000 L.F.	\$41.2000	\$117,420.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Charles Blalock & Sons, Inc.	590.000 LB.	\$6.1500	\$3,628.50
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Charles Blalock & Sons, Inc.	65.000 S.F.	\$18.7300	\$1,217.45
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	Charles Blalock & Sons, Inc.	10.000 S.F.	\$26.7500	\$267.50
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Charles Blalock & Sons, Inc.	1.000 LS	\$909.5000	\$909.50
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$7,356.2500	\$29,425.00
713-16.06	DEAD END SIGN AND SUPPORT			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$390.5500	\$1,171.65
713-16.07	END OF ROADWAY SIGN AND SUPPORT			
	Charles Blalock & Sons, Inc.	5.000 EACH	\$401.2500	\$2,006.25

			UNIT PRICE	CONTRACT CNW919 EXTENSION
			UNITIAIOE	EXTENSION
716-01.06	TEMPORARY RAISED PAVEMENT MARKER, WHITE			
	Charles Blalock & Sons, Inc.	308.000 EACH	\$14.9800	\$4,613.84
716-01.07	TEMPORARY RAISED PAVEMENT MARKER, YELLOW			
	Charles Blalock & Sons, Inc.	115.000 EACH	\$14.9800	\$1,722.70
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	OLOR)		
	Charles Blalock & Sons, Inc.	161.000 EACH	\$36.9200	\$5,944.12
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
	Charles Blalock & Sons, Inc.	161.000 EACH	\$36.9200	\$5,944.12
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Charles Blalock & Sons, Inc.	180.000 EACH	\$16.0500	\$2,889.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	117.000 L.F.		
	Charles Blalock & Sons, Inc.		\$18.1900	\$2,128.23
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$214.0000	\$428.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	Charles Blalock & Sons, Inc.	7.000 EACH	\$294.2500	\$2,059.75
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Charles Blalock & Sons, Inc.	0.800 L.M.	\$2,942.5000	\$2,354.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
	Charles Blalock & Sons, Inc.	51,348.000 L.F.	\$0.4500	\$23,106.60
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
	Charles Blalock & Sons, Inc.	149.000 L.F.	\$8.0300	\$1,196.47
716-12.01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
	Charles Blalock & Sons, Inc.	0.800 L.M.	\$6,099.0000	\$4,879.20

EXTENSION

UNIT PRICE

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) 6.200 L.M. Charles Blalock & Sons, Inc. \$8,025.0000 \$49,755.00 MOBILIZATION 717-01 1.000 LS Charles Blalock & Sons, Inc. \$945.000.0000 \$945,000.00 740-06.01 GEOMEMBRANE 555.000 S.Y. Charles Blalock & Sons, Inc. \$48,7400 \$27,050.70 740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL) 1,938.000 S.Y. Charles Blalock & Sons, Inc. \$7.4600 \$14,457.48 740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION) 1,131.000 S.Y. Charles Blalock & Sons, Inc. \$10.4500 \$11,818.95 740-11.02 TEMPORARY SEDIMENT TUBE 12IN 218.000 L.F. Charles Blalock & Sons, Inc. \$4.2800 \$933.04 801-02 **SEEDING (WITHOUT MULCH)** 260.000 UNIT \$30.5000 Charles Blalock & Sons, Inc. \$7,930.00 WATER (SEEDING & SODDING) 801-03 60.000 M.G. Charles Blalock & Sons, Inc. \$107.0000 \$6,420.00 803-01 SODDING (NEW SOD) 7,135.000 S.Y. Charles Blalock & Sons, Inc. \$5.8900 \$42,025.15 805-01.03 TURF REINFORCEMENT MAT (CLASS III) 651.000 S.Y. Charles Blalock & Sons, Inc. \$5.3500 \$3,482.85 805-12.02 EROSION CONTROL BLANKET (TYPE II) 27,624.000 S.Y. Charles Blalock & Sons, Inc. \$1.1800 \$32,596.32 806-02.03 PROJECT MOWING 4.000 CYCL Charles Blalock & Sons, Inc. \$1,955.9000 \$7,823.60

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNW919 EXTENSION
204-06.01 FLOWABLE FILL (GENERAL)			
Charles Blalock & Sons, Inc.	27.000 C.Y.	\$713.2100	\$19,256.67
791-02.02 2IN MDPE GAS MAIN	500 000 1 5		
Charles Blalock & Sons, Inc.	520.000 L.F.	\$32.5900	\$16,946.80
791-02.06 8IN MDPE GAS MAIN			
Charles Blalock & Sons, Inc.	6,590.000 L.F.	\$122.7500	\$808,922.50
791-02.27 <=2 IN PE TEMP. BY-PASS FOR TIE-IN	1.000 LS		
Charles Blalock & Sons, Inc.	1.000 ES	\$4,888.3300	\$4,888.33
791-04.02 HDD 2IN PE PIPE - UNCONSOLIDATED	120.000 L.F.		
Charles Blalock & Sons, Inc.		\$179.2400	\$21,508.80
791-04.06 HDD 8IN PE PIPE - UNCONSOLIDATED	215.000 L.F.		
Charles Blalock & Sons, Inc.		\$325.8900	\$70,066.35
791-06.02 CONNECT TO 2IN EX. PE MAIN	2.000 EACH		
Charles Blalock & Sons, Inc.		\$2,824.3700	\$5,648.74
791-06.03 CONNECT TO 4IN EX. PE MAIN	1.000 EACH		
Charles Blalock & Sons, Inc.		\$5,974.6200	\$5,974.62
791-06.05 CONNECT TO 8IN EX. PE MAIN	3.000 EACH		
Charles Blalock & Sons, Inc.		\$11,949.2400	\$35,847.72
791-07.01 2IN PE GAS VALVE ASSEMBLY	6.000 EACH		
Charles Blalock & Sons, Inc.		\$923.3500	\$5,540.10
791-07.04 8IN PE GAS VALVE ASSEMBLY	2.000 EACH	\$2,715.7400	\$5,431.48
Charles Blalock & Sons, Inc.			
791-07.21 EXCESS FLOW VALVE (EFV)	4.000 EACH		
Charles Blalock & Sons, Inc.	4.000 EACH	\$244.4200	\$977.68

			UNIT PRICE	EXTENSION
791-08.03	1IN SERVICE ASSEMBLY			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$2,172.5900	\$8,690.36
791-08.08	1IN PE SERVICE PIPE			
	Charles Blalock & Sons, Inc.	500.000 L.F.	\$16.2900	\$8,145.00
791-08.41	GAS MAIN REMOVAL			
	Charles Blalock & Sons, Inc.	200.000 L.F.	\$44.5400	\$8,908.00
791-09.05	RESTORE ASPHALT			
	Charles Blalock & Sons, Inc.	500.000 S.Y.	\$54.3100	\$27,155.00
791-09.06	RESTORE CONCRETE			
	Charles Blalock & Sons, Inc.	100.000 S.Y.	\$247.6800	\$24,768.00
791-09.07	RESTORE GRAVEL			
	Charles Blalock & Sons, Inc.	100.000 S.Y.	\$45.6200	\$4,562.00
791-10.10	RETIRE GAS MAIN	4 000 1 0		
	Charles Blalock & Sons, Inc.	1.000 LS	\$53,228.4200	\$53,228.42
791-99.01	ADDER FOR FULL CLEAN STONE BACKFILL	500.000 5		
	Charles Blalock & Sons, Inc.	500.000 L.F.	\$33.6800	\$16,840.00
791-99.02	CLEAN UP RESTORATION & CLOSEOUT	4 000 1 0		
	Charles Blalock & Sons, Inc.	1.000 LS	\$11,949.2400	\$11,949.24
795-01.03	6IN DIP RESTRAINED JOINT WATER LINE	<i></i>		
	Charles Blalock & Sons, Inc.	40.000 L.F.	\$104.8600	\$4,194.40
795-01.04	6IN DIP SLIP JOINT WATER LINE			
	Charles Blalock & Sons, Inc.	460.000 L.F.	\$95.2300	\$43,805.80
795-01.05	8IN DIP RESTRAINED JOINT WATER LINE			
	Charles Blalock & Sons, Inc.	430.000 L.F.	\$118.7700	\$51,071.10

			UNIT PRICE	EXTENSION
795-01.06	8IN DIP SLIP JOINT WATER LINE			
	Charles Blalock & Sons, Inc.	7,630.000 L.F.	\$104.8600	\$800,081.80
795-05.02	HDD 4IN HDPE CASING PIPE-UNCON			
	Charles Blalock & Sons, Inc.	525.000 L.F.	\$155.1500	\$81,453.75
795-05.65	BORE/JACK 16IN STEEL CASING PIPE-UNCON.	70 000 1 5		
	Charles Blalock & Sons, Inc.	70.000 L.F.	\$497.5500	\$34,828.50
795-05.79	BORE/JACK 16IN STEEL CASING PIPE-ROCK.			
	Charles Blalock & Sons, Inc.	150.000 L.F.	\$802.5000	\$120,375.00
795-06.01	CONNECT TO 2IN WATER LINE			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$2,247.0000	\$2,247.00
795-06.03	CONNECT TO 4IN WATER LINE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$3,424.0000	\$6,848.00
795-06.04	CONNECT TO 6IN WATER LINE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$3,531.0000	\$7,062.00
795-06.05	CONNECT TO 8IN WATER LINE			
	Charles Blalock & Sons, Inc.	5.000 EACH	\$4,815.0000	\$24,075.00
795-06.31	CUT AND CAP 2IN WATER LINE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$1,070.0000	\$2,140.00
795-06.32	CUT AND CAP 4IN WATER LINE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$1,284.0000	\$2,568.00
795-06.33	CUT AND CAP 6IN WATER LINE			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$1,605.0000	\$1,605.00
795-06.34	CUT AND CAP 8IN WATER LINE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$1,872.5000	\$3,745.00

			UNIT PRICE	EXTENSION
795-07.03	6IN X 6IN TAPPING SLEEVE AND VALVE			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$10,700.0000	\$10,700.00
795-08.01	2IN GATE VALVE ASSEMBLY			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$1,048.6000	\$1,048.60
795-08.03	4IN GATE VALVE ASSEMBLY			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$1,904.6000	\$1,904.60
795-08.04	6IN GATE VALVE ASSEMBLY			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$2,428.9000	\$9,715.60
795-08.05	8IN GATE VALVE ASSEMBLY			
	Charles Blalock & Sons, Inc.	27.000 EACH	\$3,187.5300	\$86,063.31
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY			
	Charles Blalock & Sons, Inc.	32.000 EACH	\$1,872.5000	\$59,920.00
795-09.28	3/4IN COPPER SERVICE PIPE			
	Charles Blalock & Sons, Inc.	1,760.000 L.F.	\$43.8700	\$77,211.20
795-11.01	BLOW-OFF ASSEMBLY			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$2,969.2500	\$2,969.25
795-11.02	FIRE HYDRANT ASSEMBLY			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$7,811.0000	\$23,433.00
795-11.12	RETIRE IN PLACE EXISTING WATER MAIN			
	Charles Blalock & Sons, Inc.	6,660.000 L.F.	\$21.4000	\$142,524.00
795-12.01	REMOVE FIRE HYDRANT			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$1,605.0000	\$1,605.00
795-12.02	REMOVAL OF EXISTING LINE			
	Charles Blalock & Sons, Inc.	1.000 LS	\$16,050.0000	\$16,050.00

			UNIT PRICE	EXTENSION
795-13.01	DI FITTINGS			
	Charles Blalock & Sons, Inc.	2,500.000 LB.	\$16.0500	\$40,125.00
795-13.05	CREEK CROSSING (STA 396+50)			
	Charles Blalock & Sons, Inc.	1.000 LS	\$19,260.0000	\$19,260.00
795-13.06	CREEK CROSSING (STA 407+55)	4 000 1 0		
	Charles Blalock & Sons, Inc.	1.000 LS	\$19,260.0000	\$19,260.00
795-14.08	RESTORE ASPHALT			
	Charles Blalock & Sons, Inc.	450.000 S.Y.	\$109.1000	\$49,095.00
795-14.09	RESTORE CONCRETE			
	Charles Blalock & Sons, Inc.	80.000 S.Y.	\$546.1000	\$43,688.00
795-15.02	12IN STEEL CASING PIPE OPEN CUT METHOD			
	Charles Blalock & Sons, Inc.	40.000 L.F.	\$337.0500	\$13,482.00
795-15.25	16IN STEEL CASING PIPE OPEN CUT METHOD	210.000 L.F.		
	Charles Blalock & Sons, Inc.	210.000 L.F.	\$379.8500	\$79,768.50
795-20.01	RECONNECT SERVICE ASSEMBLY	32.000 EACH		
	Charles Blalock & Sons, Inc.	32.000 EACH	\$909.5000	\$29,104.00
797-03.04	2IN PVC FORCE MAIN	200.000 L.F.		
	Charles Blalock & Sons, Inc.	200.000 L.1.	\$82.3900	\$16,478.00
797-03.06	4IN PVC FORCE MAIN	1,300.000 L.F.		
	Charles Blalock & Sons, Inc.	1,500.000 L.I .	\$89.8800	\$116,844.00
797-06.02	HDD 4IN HDPE CARRIER PIPE-UNCON	175.000 L.F.		
	Charles Blalock & Sons, Inc.	175.000 L.F.	\$214.0000	\$37,450.00
797-06.87	OPEN CUT 8IN STEEL CASING PIPE	80.000 L.F.		
	Charles Blalock & Sons, Inc.	00.000 L.F.	\$283.5500	\$22,684.00

			C	ONTRACT CNW919
			UNIT PRICE	EXTENSION
797-08.02	PVC FITTINGS			
	Charles Blalock & Sons, Inc.	300.000 LB.	\$27.8200	\$8,346.00
797-08.12	2IN END OF LINE FLUSHING ASSEMBLY			
	Charles Blalock & Sons, Inc.	1.000 EACH	\$2,675.0000	\$2,675.00
797-09.04	2IN PVC BALL VALVE			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$918.0600	\$1,836.12
797-09.06	4IN PLUG VALVE ASSEMBLY			
	Charles Blalock & Sons, Inc.	3.000 EACH	\$2,049.0500	\$6,147.15
797-09.41	CUT AND CAP 2IN FORCE MAIN			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$1,070.0000	\$2,140.00
797-09.43	CUT AND CAP 4IN FORCE MAIN			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$1,605.0000	\$3,210.00
797-10.14	CONNECT TO 2IN FORCE MAIN			
	Charles Blalock & Sons, Inc.	6.000 EACH	\$2,140.0000	\$12,840.00
797-10.16	CONNECT TO 4IN FORCE MAIN			
	Charles Blalock & Sons, Inc.	4.000 EACH	\$2,675.0000	\$10,700.00
797-11.30	RETIREIN PLACE EXISTING SEWER <8IN			
	Charles Blalock & Sons, Inc.	1,490.000 L.F.	\$32.1000	\$47,829.00
797-11.38	BY-PASS PUMPING			
	Charles Blalock & Sons, Inc.	1.000 LS	\$17,120.0000	\$17,120.00
797-11.40	RESTORE ASPHALT			
	Charles Blalock & Sons, Inc.	80.000 S.Y.	\$422.0600	\$33,764.80
797-11.41	RESTORE CONCRETE			
	Charles Blalock & Sons, Inc.	20.000 S.Y.	\$775.3200	\$15,506.40

SUB-TOTAL ROADWAY

Charles Blalock & Sons, Inc.

SUB-TOTAL UTILITY

Charles Blalock & Sons, Inc.

TOTAL CONTRACT

Charles Blalock & Sons, Inc.

\$15,406,737.38

\$3,433,853.69

\$18,840,591.07

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, GREENE, HAMBLEN, HANCOCK, JEFFERSON, JOHNSON, KNOX, LOUDON, MONROE, MORGAN, ROANE, SCOTT, SEVIER, SULLIVAN, UNICOI, UNION, AND WASHINGTON (Contract No. CNW268 Call 002)

R1BVAR-M3-014

THE RANDOM ON-CALL CABLE BARRIER REPAIR ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2023

Tennessee Guardrail, Inc. LU, Inc. TOTAL CONTRACT

\$797,422.50 \$825,785.30

			со	NTRACT CNW268
			UNIT PRICE	EXTENSION
MAINTEN	IANCE CATEGORY			
705-06.40	CABLE BARRIER (MASH TL-3)			
		100.000 L.F.		
	Tennessee Guardrail, Inc. LU, Inc.		\$15.4500 \$15.5000	\$1,545.00 \$1,550.00
	LO, IIIC.		φ13.3000	\$1,550.00
705-06.41	CABLE BARRIER ANCHOR (MASH TL-3)			
	Tennessee Guardrail, Inc.	2.000 EACH	\$1,220.0000	\$2,440.00
	LU, Inc.		\$1,875.0000	\$3,750.00
705 90 04	LONGITUDINAL CABLE BARRIER			
705-60.01	LONGI UDINAL CABLE BARRIER	520.000 L.F.		
	Tennessee Guardrail, Inc.		\$13.0000	\$6,760.00
	LU, Inc.		\$13.2500	\$6,890.00
705-80.03	LONGITUDINAL CABLE BARRIER (END TERMINAL) T	L-3		
		3.000 EACH		
	Tennessee Guardrail, Inc.		\$1,975.0000	\$5,925.00
	LU, Inc.		\$1,350.0000	\$4,050.00
705-80.04	SOCKETED LINE POST W/ALL ACCESSORIES			
		3,200.000 EACH		
	Tennessee Guardrail, Inc. LU, Inc.		\$176.9500 \$180.0000	\$566,240.00 \$576,000.00
			• • • • • • • •	· · · · · · · · · · · ·
705-80.06	TERMINAL POST W/ALL ACCESSORIES			
	Tennessee Guardrail, Inc.	200.000 EACH	\$142.0000	\$28,400.00
	LU, Inc.		\$150.8500	\$30,170.00
705-80.07	CABLE RELEASE POST (TOP) W/ALL ACCESSORIES			
105-80.07	CABLE RELEASE FOST (TOP) WALL ACCESSORIES	40.000 EACH		
	Tennessee Guardrail, Inc.		\$354.0000	\$14,160.00
	LU, Inc.		\$351.3800	\$14,055.20
705-80.10	LINE POST W/FTNG & ALL ACC.			
		70.000 EACH		
	Tennessee Guardrail, Inc. LU, Inc.		\$155.0000 \$158.0000	\$10,850.00 \$11,060.00
	20, 110.		ψ130.0000	\$11,000.00
705-80.12	CHECK CABLE TENSION			
	Tennessee Guardrail, Inc.	1.000 LS	\$4,000.0000	\$4,000.00
	LU, Inc.		\$8,000.0000	\$8,000.00
705 00 1 -				
705-80.14	END TERMINAL HARDWARE FOR ATTACHING SINGL	E CABLE 165.000 EACH		
	Tennessee Guardrail, Inc.	103.000 EAGN	\$47.5000	\$7,837.50
	LU, Inc.		\$47.4800	\$7,834.20

CONTRACT CNW268 UNIT PRICE **EXTENSION** 705-80.15 RETENSIONING CABLE BARRIER SECTION AFTER REPAIR 320.000 EACH Tennessee Guardrail, Inc. \$23.0000 \$7,360.00 LU, Inc. \$23.6900 \$7,580.80 705-80.17 LONGITUDINAL CABLE BARRIER TRAINING 1.000 EACH Tennessee Guardrail, Inc. \$200.0000 \$200.00 LU, Inc. \$200.0000 \$200.00 705-80.19 HARDWARE FOR ATTACHING ALL CABLES TO A SINGLE POST 2,000.000 EACH Tennessee Guardrail, Inc. \$66.0000 \$132,000.00 LU, Inc. \$67.0000 \$134,000.00 705-80.20 LONGITUDINAL CABLE BARRIER SPLICE (TORPEDO, TURNBUCKLE) 35.000 EACH Tennessee Guardrail, Inc. \$70.0000 \$2,450.00 LU, Inc. \$70.9900 \$2,484.65 705-80.21 LONGITUDINAL CABLE BARRIER CABLE 2,040.000 L.F. Tennessee Guardrail, Inc. \$1.0000 \$2,040.00 LU, Inc. \$0.9500 \$1,938.00 705-80.22 TERMINAL POST W/FOOTING AND ALL ACCESSORIES 5.000 EACH Tennessee Guardrail, Inc. \$23.0000 \$115.00 \$23.7400 \$118.70 LU, Inc. 705-80.23 LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-4 1.000 EACH Tennessee Guardrail, Inc. \$1,700.0000 \$1,700.00 LU, Inc. \$3,500.0000 \$3,500.00 705-80.24 CONCRETE MONOLITHIC BLOCK FOR CABLE END TERMINAL FOUNDATION 3.000 EACH Tennessee Guardrail, Inc. \$595.0000 \$1,785.00 LU, Inc. \$600.0000 \$1,800.00 706-80.18 CABLE BARRIER TERMINAL (REMOVAL) 5.000 EACH Tennessee Guardrail, Inc. \$11.0000 \$55.00 LU, Inc. \$10.7500 \$53.75 712-01.02 LANE CLOSURE 10.000 EACH Tennessee Guardrail, Inc. \$11.0000 \$110.00

LU, Inc.

\$2,000.00

\$200.0000

			NINACI CIWIZ00
		UNIT PRICE	EXTENSION
712-01.03 LANE CLOSURE(NIGHT WORK)			
	10.000 EACH		
Tennessee Guardrail, Inc.		\$11.0000	\$110.00
LU, Inc.		\$450.0000	\$4,500.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	10.000 DAY		
Tennessee Guardrail, Inc.		\$90.0000	\$900.00
LU, Inc.		\$275.0000	\$2,750.00
717-01.03 MOBILIZATION (PER CALL-OUT)			
	20.000 EACH		
Tennessee Guardrail, Inc.		\$22.0000	\$440.00
LU, Inc.		\$75.0000	\$1,500.00
•		•	. ,

SUB-TOTAL MAINTENANCE

Tennessee Guardrail, Inc. LU, Inc.

\$797,422.50 \$825,785.30

TOTAL CONTRACT

Tennessee Guardrail, Inc. LU, Inc. \$797,422.50 \$825,785.30

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

COUNTIES ANDERSON, CLAIBORNE, KNOX, MONROE, ROANE, AND SEVIER (Contract No. CNW296 Call 003)

HSIP-REG1(212),R1SVAR-F3-015

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 6.00%

Whaley Construction, LLC Southern Constructors, Inc.

TOTAL CONTRACT

\$1,078,489.00 \$1,669,909.00

				CONTRACT CNW296
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
202 02 04	REMOVAL OF ASPHALT PAVEMENT			
202-03.01	REMOVAL OF ASPHALT PAVEMENT	6.000 S.Y.		
	Whaley Construction, LLC		\$100.0000	\$600.00
	Southern Constructors, Inc.		\$450.0000	\$2,700.00
704 04 02				
701-01.02	CONCRETE SIDEWALK (6 ")	1,025.000 S.F.		
	Whaley Construction, LLC	1,023.000 3.1 .	\$22.0000	\$22,550.00
	Southern Constructors, Inc.		\$30.0000	\$30,750.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		16,447.000 S.F.	•	•
	Whaley Construction, LLC Southern Constructors, Inc.		\$38.0000 \$48.0000	\$624,986.00 \$789,456.00
	Sourierr Constructors, inc.		φ - 0.0000	ψ <i>ι</i> 03, 1 30.00
701-02.03	CONCRETE CURB RAMP			
		5,479.000 S.F.		
	Whaley Construction, LLC		\$35.0000	\$191,765.00
	Southern Constructors, Inc.		\$42.0000	\$230,118.00
702-01	CONCRETE CURB			
		3.000 C.Y.		
	Whaley Construction, LLC		\$1,500.0000	\$4,500.00
	Southern Constructors, Inc.		\$1,750.0000	\$5,250.00
702-03	CONCRETE COMBINED CURB & GUTTER			
702-03	CONCRETE COMBINED CORB & GUTTER	11.000 C.Y.		
	Whaley Construction, LLC	11.000 0.11	\$850.0000	\$9,350.00
	Southern Constructors, Inc.		\$2,000.0000	\$22,000.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Whaley Construction, LLC	1.000 LS	\$64,238.0000	\$64,238.00
	Southern Constructors, Inc.		\$420,000.0000	\$420,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Whaley Construction, LLC Southern Constructors, Inc.		\$38.0000 \$40.0000	\$3,800.00 \$4,000.00
	Southern Constructors, Inc.		φ40.0000	φ4,000.00
712-05.01	WARNING LIGHTS (TYPE A)			
		50.000 EACH		
	Whaley Construction, LLC		\$35.0000	\$1,750.00
	Southern Constructors, Inc.		\$30.0000	\$1,500.00
712-06	SIGNS (CONSTRUCTION)			
		809.000 S.F.		
	Whaley Construction, LLC		\$18.0000	\$14,562.00
	Southern Constructors, Inc.		\$15.0000	\$12,135.00

				oonnaac onneoo
			UNIT PRICE	EXTENSION
713-15.40	SIGN INSTALLATION (DESCRIPTION)			
		1.000 LS		
	Whaley Construction, LLC		\$2,500.0000	\$2,500.00
	Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Whaley Construction, LLC		\$80,000.0000	\$80,000.00
	Southern Constructors, Inc.		\$85,000.0000	\$85,000.00
730-26.07	FLASHING WARNING BEACON (RECTANGULAR RAPID FLASHING	BEACON)		
		6.000 EACH		
	Whaley Construction, LLC		\$9,648.0000	\$57,888.00
	Southern Constructors, Inc.		\$9,500.0000	\$57,000.00

SUB-TOTAL ROADWAY

Whaley Construction, LLC Southern Constructors, Inc.

\$1,078,489.00 \$1,669,909.00

TOTAL CONTRACT

Whaley Construction, LLC Southern Constructors, Inc.

\$1,078,489.00 \$1,669,909.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

BEDFORD AND LEWIS COUNTIES (Contract No. CNW255 Call 004)

HSIP-REG3(216),R3SVAR-F3-020

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 7.00%

MarCor Construction, Inc.

TOTAL CONTRACT

\$389,667.00

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNW255 EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	MarCor Construction, Inc.	6,600.000 S.F.	\$45.0000	\$297,000.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)	444 000 0 5		
	MarCor Construction, Inc.	144.000 S.F.	\$30.0000	\$4,320.00
712-01	TRAFFIC CONTROL			
	MarCor Construction, Inc.	1.000 LS	\$58,850.0000	\$58,850.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	MarCor Construction, Inc.	100.000 EACH	\$30.0000	\$3,000.00
712-06	SIGNS (CONSTRUCTION)			
	MarCor Construction, Inc.	1,408.000 S.F.	\$8.0000	\$11,264.00
717-01	MOBILIZATION			
	MarCor Construction, Inc.	1.000 LS	\$15,233.0000	\$15,233.00

MarCor Construction, Inc.

TOTAL CONTRACT

MarCor Construction, Inc.

\$389,667.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

COUNTIES BENTON, CROCKETT, DECATUR, DYER, FAYETTE, HAYWOOD, HENDERSON, MADISON, OBION, SHELBY, AND TIPTON (Contract No. CNW291 Call 005)

R4BVAR-M3-020

THE RANDOM ON-CALL CABLE BARRIER REPAIR ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2023

LU, Inc. Highway Safety Systems, L.L.C. Tri-State Guardrail & Sign Co., Inc. TOTAL CONTRACT

\$571,853.75 \$585,843.00 \$755,525.00

MAINTENANCE CATEGORY 100.000 L.F. 100.000 L.F. 100.000 L.F. LU, Inc. \$31.0000 Highway Safety Systems, L.L.C. \$1.0000 Tri-State Guardrail & Sign Co., Inc. \$45.0000 705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) LU, Inc. \$1,920.0000 Highway Safety Systems, L.L.C. \$1,920.0000 State Guardrail & Sign Co., Inc. \$1,920.0000	T CNW291
705-06.40 CABLE BARRIER (MASH TL-3) 100.000 L.F. LU, Inc. \$31.0000 \$ Highway Safety Systems, L.L.C. \$1.0000 \$ Tri-State Guardrail & Sign Co., Inc. \$45.0000 \$ 705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) \$ \$ LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1,920.0000 \$	TENSION
100.000 L.F. LU, Inc. \$31.0000 \$ Highway Safety Systems, L.L.C. \$1.0000 \$ Tri-State Guardrail & Sign Co., Inc. \$45.0000 \$ 2.000 EACH LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1,920.0000 \$	
LU, Inc. \$31.0000 \$ Highway Safety Systems, L.L.C. \$1.0000 \$ Tri-State Guardrail & Sign Co., Inc. \$45.0000 \$ 705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) \$ LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1,920.0000 \$	
Highway Safety Systems, L.L.C. \$1.0000 Tri-State Guardrail & Sign Co., Inc. \$45.0000 705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) 2.000 EACH LU, Inc. \$1,920.0000 Highway Safety Systems, L.L.C. \$1.0000	
Tri-State Guardrail & Sign Co., Inc. \$45.0000 \$ 705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) 2.000 EACH LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1.0000 \$	\$3,100.00
705-06.41 CABLE BARRIER ANCHOR (MASH TL-3) 2.000 EACH LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1.0000	\$100.00
2.000 EACH LU, Inc. \$1,920.0000 Highway Safety Systems, L.L.C. \$1.0000	\$4,500.00
LU, Inc. \$1,920.0000 \$ Highway Safety Systems, L.L.C. \$1.0000	
Highway Safety Systems, L.L.C. \$1.0000	
	\$3,840.00
Tri-State Guardrail & Sign Co., Inc. \$4,300.0000	\$2.00
	\$8,600.00
705-80.01 LONGITUDINAL CABLE BARRIER	
75.000 L.F.	
LU, Inc. \$3.8500	\$288.75
Highway Safety Systems, L.L.C. \$1.0000	\$75.00
Tri-State Guardrail & Sign Co., Inc. \$45.0000	\$3,375.00
705-80.03 LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-3	
3.000 EACH	
	\$2,250.00
Highway Safety Systems, L.L.C. \$1.0000	\$3.00
Tri-State Guardrail & Sign Co., Inc.\$4,300.0000\$1	12,900.00
705-80.04 SOCKETED LINE POST W/ALL ACCESSORIES	
2,170.000 EACH	
	25,320.00
	99,100.00
Tri-State Guardrail & Sign Co., Inc.\$250.0000\$54	12,500.00
705-80.06 TERMINAL POST W/ALL ACCESSORIES	
70.000 EACH	
	2,250.00
	\$7,000.00
Tri-State Guardrail & Sign Co., Inc.\$300.0000\$2	21,000.00
705-80.07 CABLE RELEASE POST (TOP) W/ALL ACCESSORIES	
15.000 EACH	
	\$4,425.00
Highway Safety Systems, L.L.C. \$50.0000	\$750.00
Tri-State Guardrail & Sign Co., Inc.\$850.0000\$1	12,750.00
705-80.09 DRIVEN SOCKETED LINE POST W/ALL ACCESSORIES	
150.000 EACH	
	26,250.00
	22,500.00
Tri-State Guardrail & Sign Co., Inc.\$250.0000\$3	37,500.00

EXTENSION

UNIT PRICE

705-80.10 LINE	POST W/FTNG & ALL ACC.		
	10.000 EACH		
LU, Ir	nc.	\$200.0000	\$2,000.00
Highv	way Safety Systems, L.L.C.	\$150.0000	\$1,500.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$275.0000	\$2,750.00
705-80.12 CHEC	CK CABLE TENSION		
	1.000 LS		
LU, Ir	nc.	\$7,500.0000	\$7,500.00
-	way Safety Systems, L.L.C.	\$10,000.0000	\$10,000.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$15,000.0000	\$15,000.00
705-80.14 END	TERMINAL HARDWARE FOR ATTACHING SINGLE CABLE		
	15.000 EACH		
LU, Ir	nc.	\$105.0000	\$1,575.00
	way Safety Systems, L.L.C.	\$150.0000	\$2,250.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$150.0000	\$2,250.00
705-80.15 RETE	ENSIONING CABLE BARRIER SECTION AFTER REPAIR		
	60.000 EACH		
LU, Ir	nc.	\$100.0000	\$6,000.00
Highv	way Safety Systems, L.L.C.	\$100.0000	\$6,000.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$100.0000	\$6,000.00
705-80.17 LONG	GITUDINAL CABLE BARRIER TRAINING		
	1.000 EACH		
LU, Ir		\$750.0000	\$750.00
	way Safety Systems, L.L.C.	\$1.0000	\$1.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$5,000.0000	\$5,000.00
705-80.19 HARE	DWARE FOR ATTACHING ALL CABLES TO A SINGLE POST		
	600.000 EACH		
LU, Ir		\$82.0000	\$49,200.00
	way Safety Systems, L.L.C.	\$55.0000	\$33,000.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$85.0000	\$51,000.00
705-80.20 LONG	GITUDINAL CABLE BARRIER SPLICE (TORPEDO, TURNBUCKLE)		
	20.000 EACH		
LU, Ir		\$190.0000	\$3,800.00
	way Safety Systems, L.L.C.	\$1.0000	\$20.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$450.0000	\$9,000.00
705-80.21 LONG	GITUDINAL CABLE BARRIER CABLE		
	100.000 L.F.		
LU, Ir	nc.	\$4.0000	\$400.00
	way Safety Systems, L.L.C.	\$0.0100	\$1.00
Tri-St	tate Guardrail & Sign Co., Inc.	\$6.0000	\$600.00

CONTRACT CNW291 UNIT PRICE **EXTENSION** 705-80.22 TERMINAL POST W/FOOTING AND ALL ACCESSORIES 5.000 EACH LU, Inc. \$300.0000 \$1,500.00 Highway Safety Systems, L.L.C. \$1.0000 \$5.00 Tri-State Guardrail & Sign Co., Inc. \$200.0000 \$1,000.00 705-80.23 LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-4 1.000 EACH LU. Inc. \$4,500.0000 \$4,500.00 Highway Safety Systems, L.L.C. \$1.0000 \$1.00 Tri-State Guardrail & Sign Co., Inc. \$4,500.00 \$4,500.0000 706-80.18 CABLE BARRIER TERMINAL (REMOVAL) 5.000 EACH LU, Inc. \$6.0000 \$30.00 Highway Safety Systems, L.L.C. \$1.0000 \$5.00 Tri-State Guardrail & Sign Co., Inc. \$10.0000 \$50.00 712-01.02 LANE CLOSURE 10.000 EACH \$300.0000 \$3,000.00 LU, Inc. Highway Safety Systems, L.L.C. \$1.0000 \$10.00 Tri-State Guardrail & Sign Co., Inc. \$200.0000 \$2,000.00 712-01.03 LANE CLOSURE(NIGHT WORK) 10.000 EACH \$750.0000 \$7,500.00 LU, Inc. Highway Safety Systems, L.L.C. \$1.0000 \$10.00 Tri-State Guardrail & Sign Co., Inc. \$550.0000 \$5,500.00 712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD 10.000 DAY LU, Inc. \$375.0000 \$3,750.00 Highway Safety Systems, L.L.C. \$1.0000 \$10.00 Tri-State Guardrail & Sign Co., Inc. \$75.0000 \$750.00

717-01.03 MOBILIZATION (PER CALL-OUT)

35	.000 EACH	
LU, Inc.	\$75.0000	\$2,625.00
Highway Safety Systems, L.L.C.	\$100.0000	\$3,500.00
Tri-State Guardrail & Sign Co., Inc.	\$200.0000	\$7,000.00

SUB-TOTAL MAINTENANCE

LU, Inc.	\$571,853.75
Highway Safety Systems, L.L.C.	\$585,843.00
Tri-State Guardrail & Sign Co., Inc.	\$755,525.00

TOTAL CONTRACT

LU, Inc.	\$571,853.75
Highway Safety Systems, L.L.C.	\$585,843.00
Tri-State Guardrail & Sign Co., Inc.	\$755,525.00

COUNTIES BRADLEY, COFFEE, CUMBERLAND, GRUNDY, HAMILTON, MARION, PUTNAM, AND SEQUATCHIE (Contract No. CNW283 Call 006)

R2BVAR-M3-012

THE RANDOM ON-CALL CABLE BARRIER REPAIR ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2023

Tennessee Guardrail, Inc. LU, Inc. Highway Safety Systems, L.L.C. TOTAL CONTRACT \$408,720.50 \$444,352.37 \$565,220.00

			с	ONTRACT CNW283
			UNIT PRICE	EXTENSION
MAINTEN	IANCE CATEGORY			
705-06.40	CABLE BARRIER (MASH TL-3)			
	Tannaaaa Quandrail Ina	100.000 L.F.	¢45 5000	¢4 550 00
	Tennessee Guardrail, Inc. LU, Inc.		\$15.5000 \$15.7500	\$1,550.00 \$1,575.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$100.00
705-06.41	CABLE BARRIER ANCHOR (MASH TL-3)			
100 00.41		2.000 EACH		
	Tennessee Guardrail, Inc.		\$1,250.0000	\$2,500.00
	LU, Inc.		\$1,875.0000	\$3,750.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$2.00
705-80.01	LONGITUDINAL CABLE BARRIER			
		500.000 L.F.		
	Tennessee Guardrail, Inc.		\$13.3500	\$6,675.00
	LU, Inc.		\$11.2500	\$5,625.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$500.00
705-80.03	LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-3			
		3.000 EACH		
	Tennessee Guardrail, Inc.		\$1,043.2500	\$3,129.75
	LU, Inc.		\$1,121.4900	\$3,364.47
	Highway Safety Systems, L.L.C.		\$1.0000	\$3.00
705-80.04	SOCKETED LINE POST W/ALL ACCESSORIES			
		1,700.000 EACH		
	Tennessee Guardrail, Inc.		\$188.5000	\$320,450.00
	LU, Inc.		\$197.0000 \$250.0000	\$334,900.00
	Highway Safety Systems, L.L.C.		\$250.0000	\$425,000.00
705-80.06	TERMINAL POST W/ALL ACCESSORIES			
	T	70.000 EACH		
	Tennessee Guardrail, Inc.		\$175.0000	\$12,250.00
	LU, Inc. Highway Safety Systems, L.L.C.		\$195.0000 \$100.0000	\$13,650.00 \$7,000.00
705-80 07	CABLE RELEASE POST (TOP) W/ALL ACCESSORIES			
105-00.01		10.000 EACH		
	Tennessee Guardrail, Inc.		\$147.0000	\$1,470.00
	LU, Inc.		\$145.5300	\$1,455.30
	Highway Safety Systems, L.L.C.		\$50.0000	\$500.00
705-80.10	LINE POST W/FTNG & ALL ACC.			
		20.000 EACH		
	Tennessee Guardrail, Inc.		\$175.0000	\$3,500.00
	LU, Inc.		\$195.5400	\$3,910.80

Highway Safety Systems, L.L.C.

\$2,000.00

\$100.0000

CONTRACT CNW283

	C	CONTRACT CNW28
	UNIT PRICE	EXTENSION
705-80.12 CHECK CABLE TENSION		
1.00	00 LS	
Tennessee Guardrail, Inc.	\$8,775.0000	\$8,775.00
LU, Inc.	\$8,000.0000	\$8,000.00
Highway Safety Systems, L.L.C.	\$20,000.0000	\$20,000.00
705-80.14 END TERMINAL HARDWARE FOR ATTACHING SINGLE CABLE		
25.00	00 EACH	
Tennessee Guardrail, Inc.	\$48.9500	\$1,223.75
LU, Inc.	\$48.5100	\$1,212.75
Highway Safety Systems, L.L.C.	\$1.0000	\$25.00
705-80.15 RETENSIONING CABLE BARRIER SECTION AFTER REPAIR		
	00 EACH	
Tennessee Guardrail, Inc.	\$29.0000	\$2,900.00
LU, Inc.	\$53.0000	\$5,300.00
Highway Safety Systems, L.L.C.	\$500.0000	\$50,000.00
705-80.17 LONGITUDINAL CABLE BARRIER TRAINING		
	00 EACH	
Tennessee Guardrail, Inc.	\$200.0000	\$200.00
LU, Inc.	\$242.5500	\$242.55
Highway Safety Systems, L.L.C.	\$1.0000	\$1.00
705-80.19 HARDWARE FOR ATTACHING ALL CABLES TO A SINGLE POST		
	00 EACH	
Tennessee Guardrail, Inc.	\$72.0000	\$36,000.00
LU, Inc.	\$74.7200	\$37,360.00
Highway Safety Systems, L.L.C.	\$80.0000	\$40,000.00
705-80.20 LONGITUDINAL CABLE BARRIER SPLICE (TORPEDO, TURNBUCKLE)		
	00 EACH	
Tennessee Guardrail, Inc.	\$50.0000	\$1,750.00
LU, Inc.	\$54.9000	\$1,921.50
Highway Safety Systems, L.L.C.	\$1.0000	\$35.00
705-80.21 LONGITUDINAL CABLE BARRIER CABLE		
	00 L.F.	
Tennessee Guardrail, Inc.	\$0.7400	\$518.00
LU, Inc.	\$3.8500	\$2,695.00
Highway Safety Systems, L.L.C.	\$0.0100	\$7.00
705-80.22 TERMINAL POST W/FOOTING AND ALL ACCESSORIES		
	00 EACH	
Tennessee Guardrail, Inc.	\$23.0000	\$230.00
LU, Inc.	\$100.0000	\$1,000.00
Highway Safety Systems, L.L.C.	\$1.0000	\$10.00

		cc	NTRACT CNW283
		UNIT PRICE	EXTENSION
705-80.23 LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-4			
	2.000 EACH		
Tennessee Guardrail, Inc.		\$1,700.0000	\$3,400.00
LU, Inc.		\$3,000.0000	\$6,000.00
Highway Safety Systems, L.L.C.		\$1.0000	\$2.00
705-80.24 CONCRETE MONOLITHIC BLOCK FOR CABLE END TERMINAL F	OUNDATION		
	1.000 EACH		
Tennessee Guardrail, Inc.		\$595.0000	\$595.00
LU, Inc.		\$590.0000	\$590.00
Highway Safety Systems, L.L.C.		\$1.0000	\$1.00
706-80.18 CABLE BARRIER TERMINAL (REMOVAL)			
	4.000 EACH		
Tennessee Guardrail, Inc.		\$11.0000	\$44.00
LU, Inc.		\$75.0000 \$1.0000	\$300.00 \$4.00
Highway Safety Systems, L.L.C.		\$1.0000	\$4.00
712-01.02 LANE CLOSURE			
	10.000 EACH		
Tennessee Guardrail, Inc.		\$11.0000	\$110.00
LU, Inc. Highway Safety Systems, L.L.C.		\$200.0000 \$1.0000	\$2,000.00 \$10.00
Highway Salety Systems, L.L.C.		\$1.0000	\$10.00
712-01.03 LANE CLOSURE(NIGHT WORK)			
	10.000 EACH	• · · · · · · ·	• · · · · · ·
Tennessee Guardrail, Inc.		\$11.0000	\$110.00
LU, Inc. Highway Safety Systems, L.L.C.		\$500.0000 \$1.0000	\$5,000.00 \$10.00
Fighway Safety Systems, L.L.C.		\$1.0000	\$10.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	10.000 DAY	*	* • • • • •
Tennessee Guardrail, Inc.		\$90.0000	\$900.00 \$3,000.00
LU, Inc. Highway Safety Systems, L.L.C.		\$300.0000 \$1.0000	\$3,000.00 \$10.00
Fighway Salety Systems, L.L.C.		\$1.0000	\$10.00
717-01.03 MOBILIZATION (PER CALL-OUT)			
	20.000 EACH	•	A
Tennessee Guardrail, Inc.		\$22.0000	\$440.00
LU, Inc. Highway Safety Systems I. I. C		75.0000\$1,000 \$1,000.0000	\$1,500.00 \$20,000,00
Highway Safety Systems, L.L.C.		φι,000.0000	\$20,000.00

SUB-TOTAL MAINTENANCE

Tennessee Guardrail, Inc.	\$408,720.50
LU, Inc.	\$444,352.37
Highway Safety Systems, L.L.C.	\$565,220.00

TOTAL CONTRACT

Tennessee Guardrail, Inc.	\$408,720.50
LU, Inc.	\$444,352.37
Highway Safety Systems, L.L.C.	\$565,220.00

COUNTIES CARROLL, DECATUR, AND MADISON (Contract No. CNW297 Call 007)

HSIP-REG4(217),R4SVAR-F3-008

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 5.00%

MarCor Construction, Inc. Ford Construction Company TOTAL CONTRACT

\$651,216.30 \$730,225.00

		cc	ONTRACT CNW297
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
ROADWAT CATEGORT			
202-03 REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
	270.000 S.Y.	* 400.0000	# 40,000,00
MarCor Construction, Inc. Ford Construction Company		\$180.0000 \$105.0000	\$48,600.00 \$28,350.00
630-01.15 6" PVC (SCHEDULE 40) PIPE			
	20.000 L.F.		
MarCor Construction, Inc. Ford Construction Company		\$10.0000 \$50.0000	\$200.00 \$1,000.00
701-01.01 CONCRETE SIDEWALK (4 ")			
	2,160.000 S.F.	* 40 = 000	
MarCor Construction, Inc. Ford Construction Company		\$12.5000 \$20.0000	\$27,000.00 \$43,200.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)			
MarCor Construction, Inc.	7,809.000 S.F.	\$47.0000	\$367,023.00
Ford Construction Company		\$50.0000	\$390,450.00
701-02.03 CONCRETE CURB RAMP			
MarCar Construction Inc.	1,775.000 S.F.	\$23.5000	\$41,712.50
MarCor Construction, Inc. Ford Construction Company		\$45.0000	\$79,875.00
702-01 CONCRETE CURB			
MarCar Construction Inc.	12.000 C.Y.	\$993.9000	¢11.026.90
MarCor Construction, Inc. Ford Construction Company		\$993.9000 \$1,100.0000	\$11,926.80 \$13,200.00
712-01 TRAFFIC CONTROL			
MarCor Construction, Inc.	1.000 LS	\$116,550.0000	\$116,550.00
Ford Construction Company		\$78,000.0000	\$78,000.00
713-16.20 SIGNS (STOP, R1-1)			
MarCor Construction, Inc.	2.000 EACH	\$500.0000	\$1,000.00
Ford Construction Company		\$225.0000	\$450.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
MarCor Construction, Inc.	10.000 L.F.	\$100.0000	\$1,000.00
Ford Construction Company		\$100.0000	\$1,000.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROS			
MarCor Construction, Inc.	25.000 L.F.	\$100.0000	\$2,500.00
Ford Construction Company		\$100.0000	\$2,500.00
			PAGE 2

CONTRACT CNW297

	UNIT PRICE	EXTENSION
716-04.10 PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)		
2.000 EAC	H	
MarCor Construction, Inc.	\$300.0000	\$600.00
Ford Construction Company	\$300.0000	\$600.00
716-05.03 PAINTED PAVEMENT MARKING (CROSS-WALK)		
200.000 L.F.		
MarCor Construction, Inc.	\$25.0000	\$5,000.00
Ford Construction Company	\$25.0000	\$5,000.00
716-08.01 REMOVAL OF PAVEMENT MARKING (LINE)		
1,050.000 L.F.		
MarCor Construction, Inc.	\$2.0000	\$2,100.00
Ford Construction Company	\$2.0000	\$2,100.00
716-08.11 REMOVAL OF WORD PAVEMENT MARKING (HANDICAP SYMBOL)		
2.000 EAC	H	
MarCor Construction, Inc.	\$250.0000	\$500.00
Ford Construction Company	\$250.0000	\$500.00
717-01 MOBILIZATION		
1.000 LS		
MarCor Construction, Inc.	\$25,504.0000	\$25,504.00
Ford Construction Company	\$84,000.0000	\$84,000.00
	· · · · · · · · · · · · · · · · · · ·	÷ - ,

SUB-TOTAL ROADWAY

MarCor Construction, Inc. Ford Construction Company

\$651,216.30 \$730,225.00

TOTAL CONTRACT

MarCor Construction, Inc. Ford Construction Company \$651,216.30 \$730,225.00

CARTER COUNTY (Contract No. CNW249 Call 008)

HSIP-159(10),10013-3215-94,HSIP-362(12),10016-3219-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 362 FROM S.R. 361 (L.M. 0.00) TO GAP CREEK ROAD (L.M. 5.34) AND ON U.S. 321 (S.R. 159) FROM ANDREW FINNEY ROAD (L.M. 2.83) TO BUNTONTOWN ROAD (L.M. 8.14).

PROJECT LENGTH - 10.650 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 6.00%

TOTAL CONTRACT

Superior Traffic Control, LLC

\$358,314.70

ROADWA	Y CATEGORY		UNIT PRICE	CONTRACT CNW249 EXTENSION
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)	(4IN WIDTH)		
	Superior Traffic Control, LLC	10.500 L.M.	\$560.0000	\$5,880.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
	Superior Traffic Control, LLC	37,790.000 L.F.	\$4.1500	\$156,828.50
712-01	TRAFFIC CONTROL			
	Superior Traffic Control, LLC	1.000 LS	\$10,000.0000	\$10,000.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Superior Traffic Control, LLC	1,266.000 L.F.	\$5.7500	\$7,279.50
713-02.22	BARRIER WALL DELINEATION ENHANCEMENT	6,790.000 L.F.		
	Superior Traffic Control, LLC	0,790.000 L.I .	\$5.0000	\$33,950.00
713-11.01	"U" SECTION STEEL POSTS	494 000 L D		
	Superior Traffic Control, LLC	481.000 LB.	\$5.1000	\$2,453.10
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	5,806.000 LB.		
	Superior Traffic Control, LLC	3,000.000 LB.	\$6.1000	\$35,416.60
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	1,000.000 S.F.		
	Superior Traffic Control, LLC	1,000,000 0.1 1	\$17.0000	\$17,000.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	564.000 S.F.		
	Superior Traffic Control, LLC		\$19.0000	\$10,716.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING	108.000 EACH		
	Superior Traffic Control, LLC		\$50.0000	\$5,400.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-	DIR) (1 COLOR) 134.000 EACH		
	Superior Traffic Control, LLC	134.000 EACH	\$65.0000	\$8,710.00
716-01.40	REMOVE AND REPLACE LENS ON SNOWPLOWABLE	REFLECTIVE MARKER 348.000 EACH		
	Superior Traffic Control, LLC	540.000 LACH	\$26.0000	\$9,048.00

		UNIT PRICE	CONTRACT CNW249 EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Superior Traffic Control, LLC	257.000 L.F.	\$14.0000	\$3,598.00
716-13.07 SPRAY THERMO PVMT MRKNG (40 mil) (6IN LINE)			
Superior Traffic Control, LLC	21.000 L.M.	\$1,725.0000	\$36,225.00
716-13.10 SPRAY THERMO PVMT MRKNG (40 mil) (6IN DOTTED LINE)			
Superior Traffic Control, LLC	810.000 L.F.	\$1.0000	\$810.00
717-01 MOBILIZATION			
Superior Traffic Control, LLC	1.000 LS	\$15,000.0000	\$15,000.00

Superior Traffic Control, LLC

TOTAL CONTRACT

Superior Traffic Control, LLC

\$358,314.70

COUNTIES CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HUMPHREYS, LAWRENCE, MARSHALL, MAURY, MONTGOMERY, ROBERTSON, RUTHERFORD, SMITH, SUMNER, WILLIAMSON, AND WILSON (Contract No. CNW261 Call 009)

R3BVAR-M3-018

THE RANDOM ON-CALL CABLE BARRIER REPAIR ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2023

LU, Inc. Highway Safety Systems, L.L.C. TOTAL CONTRACT \$594,617.00 \$629,743.25

			C	CONTRACT CNW261
MAINTEN	ANCE CATEGORY		UNIT PRICE	EXTENSION
705-06.40	CABLE BARRIER (MASH TL-3)	100.000 L.F.		
	LU, Inc. Highway Safety Systems, L.L.C.		\$17.5000 \$1.0000	\$1,750.00 \$100.00
705-06.41	CABLE BARRIER ANCHOR (MASH TL-3)			
	LU, Inc. Highway Safety Systems, L.L.C.	2.000 EACH	\$1,975.0000 \$1.0000	\$3,950.00 \$2.00
705-80.01	LONGITUDINAL CABLE BARRIER			
	LU, Inc. Highway Safety Systems, L.L.C.	200.000 L.F.	\$10.0000 \$1.0000	\$2,000.00 \$200.00
705-80.03	LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-3			
	LU, Inc. Highway Safety Systems, L.L.C.	3.000 EACH	\$1,250.0000 \$1.0000	\$3,750.00 \$3.00
705-80.04	SOCKETED LINE POST W/ALL ACCESSORIES			
	LU, Inc. Highway Safety Systems, L.L.C.	2,500.000 EACH	\$189.0000 \$225.0000	\$472,500.00 \$562,500.00
705-80.06	TERMINAL POST W/ALL ACCESSORIES			
	LU, Inc. Highway Safety Systems, L.L.C.	125.000 EACH	\$185.0000 \$100.0000	\$23,125.00 \$12,500.00
705-80.07	CABLE RELEASE POST (TOP) W/ALL ACCESSORIES			
	LU, Inc. Highway Safety Systems, L.L.C.	15.000 EACH	\$375.0000 \$50.0000	\$5,625.00 \$750.00
705-80.10	LINE POST W/FTNG & ALL ACC.			
	LU, Inc. Highway Safety Systems, L.L.C.	30.000 EACH	\$175.0000 \$150.0000	\$5,250.00 \$4,500.00
705-80.12	CHECK CABLE TENSION			
	LU, Inc. Highway Safety Systems, L.L.C.	1.000 LS	\$8,000.0000 \$10,000.0000	\$8,000.00 \$10,000.00
705-80.14	END TERMINAL HARDWARE FOR ATTACHING SINGLE CA			
	LU, Inc. Highway Safety Systems, L.L.C.	15.000 EACH	\$85.0000 \$1.0000	\$1,275.00 \$15.00

CONTRACT CNW261

				CONTRACT CNW261
			UNIT PRICE	EXTENSION
705-80.15	RETENSIONING CABLE BARRIER SECTION AFTER REPAIR			
		100.000 EACH		
	LU, Inc.		\$99.0000	\$9,900.00
	Highway Safety Systems, L.L.C.		\$100.0000	\$10,000.00
705-80.17	LONGITUDINAL CABLE BARRIER TRAINING			
		1.000 EACH		
	LU, Inc.		\$750.0000	\$750.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$1.00
705-80.19	HARDWARE FOR ATTACHING ALL CABLES TO A SINGLE POS	т		
		415.000 EACH		
	LU, Inc.		\$87.0000	\$36,105.00
	Highway Safety Systems, L.L.C.		\$70.0000	\$29,050.00
705-80.20	LONGITUDINAL CABLE BARRIER SPLICE (TORPEDO, TURNBU	JCKLE)		
		30.000 EACH		
	LU, Inc.		\$50.0000	\$1,500.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$30.00
705-80.21	LONGITUDINAL CABLE BARRIER CABLE			
		125.000 L.F.		
	LU, Inc.		\$4.0000	\$500.00
	Highway Safety Systems, L.L.C.		\$0.0100	\$1.25
705-80.22	TERMINAL POST W/FOOTING AND ALL ACCESSORIES			
		5.000 EACH		
	LU, Inc.		\$135.0000	\$675.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$5.00
705-80.23	LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-4			
		1.000 EACH		
	LU, Inc.		\$3,500.0000	\$3,500.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$1.00
705-80.24	CONCRETE MONOLITHIC BLOCK FOR CABLE END TERMINAL	FOUNDATION		
		1.000 EACH		
	LU, Inc.		\$600.0000	\$600.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$1.00
706-80.18	CABLE BARRIER TERMINAL (REMOVAL)			
		4.000 EACH		
	LU, Inc.		\$28.0000	\$112.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$4.00
712-01.02	LANE CLOSURE			
		10.000 EACH		
	LU, Inc.		\$200.0000	\$2,000.00
	Highway Safety Systems, L.L.C.		\$1.0000	\$10.00

CONTRACT CNW261

\$50.00

\$1.0000

		UNIT PRICE	EXTENSION
712-01.03 LANE CLOSURE(NIGHT WORK)			
	10.000 EACH		
LU, Inc.		\$500.0000	\$5,000.00
Highway Safety Systems, L.L.C.		\$1.0000	\$10.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	10.000 DAY		
LU, Inc.		\$300.0000	\$3,000.00
Highway Safety Systems, L.L.C.		\$1.0000	\$10.00
717-01.03 MOBILIZATION (PER CALL-OUT)			
	50.000 EACH		
LU, Inc.		\$75.0000	\$3,750.00

Highway Safety Systems, L.L.C.

SUB-TOTAL MAINTENANCE

LU, Inc. Highway Safety Systems, L.L.C. \$594,617.00 \$629,743.25

TOTAL CONTRACT

LU, Inc. Highway Safety Systems, L.L.C. \$594,617.00 \$629,743.25

COUNTIES CHEATHAM, DICKSON, HUMPHREYS, AND MONTGOMERY (Contract No. CNW254 Call 011)

HSIP-REG3(215),R3SVAR-F3-019

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 5.00%

MarCor Construction, Inc. Thomson & Thomson, Inc. TOTAL CONTRACT

\$249,826.40 \$331,444.00

				CONTRACT CNW254
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		3,584.000 S.F.		
	MarCor Construction, Inc.		\$38.0000	\$136,192.00
	Thomson & Thomson, Inc.		\$42.0000	\$150,528.00
701-02.03	CONCRETE CURB RAMP			
		110.000 S.F.		
	MarCor Construction, Inc.		\$27.0000	\$2,970.00
	Thomson & Thomson, Inc.		\$32.0000	\$3,520.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
		16.000 S.F.		
	MarCor Construction, Inc.		\$60.0000 \$76.0000	\$960.00
	Thomson & Thomson, Inc.		\$76.0000	\$1,216.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		34.000 C.Y.		
	MarCor Construction, Inc.		\$697.4000	\$23,711.60
	Thomson & Thomson, Inc.		\$1,600.0000	\$54,400.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	MarCor Construction, Inc.		\$36,800.0000 \$20,000.0000	\$36,800.00 \$20,000.00
	Thomson & Thomson, Inc.		\$20,000.0000	\$20,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	MarCor Construction, Inc. Thomson & Thomson, Inc.		\$30.0000 \$45.0000	\$3,000.00 \$4,500.00
			\$45.0000	φ4,500.00
712-06	SIGNS (CONSTRUCTION)			
		1,728.000 S.F.		
	MarCor Construction, Inc. Thomson & Thomson, Inc.		\$8.0000 \$10.0000	\$13,824.00 \$17,280.00
			\$10.0000	φ17,280.00
712-08.03	ARROW BOARD (TYPE C)			
		10.000 EACH		
	MarCor Construction, Inc.		\$2,100.0000	\$21,000.00 \$18,000.00
	Thomson & Thomson, Inc.		\$1,800.0000	\$18,000.00
717-01	MOBILIZATION			
		1.000 LS		
	MarCor Construction, Inc.		\$11,368.8000	\$11,368.80
	Thomson & Thomson, Inc.		\$62,000.0000	\$62,000.00

SUB-TOTAL ROADWAY

MarCor Construction, Inc. Thomson & Thomson, Inc. \$249,826.40 \$331,444.00

TOTAL CONTRACT

MarCor Construction, Inc. Thomson & Thomson, Inc. \$249,826.40 \$331,444.00

CHESTER COUNTY (Contract No. CNW256 Call 012)

HSIP-1200(28),12945-3441-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$162,094.66 \$210,674.07

				CONTRACT CNW256
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
712-01	TRAFFIC CONTROL			
		1.000 LS		
	LU, Inc. Superior Traffic Control, LLC		\$1,950.0000 \$10,000.0000	\$1,950.00 \$10,000.00
			÷ - ,	••••
713-02.14	FLEXIBLE DELINEATOR (WHITE)	22.000 EACH		
	LU, Inc.	22.000 EAGH	\$59.6600	\$1,312.52
	Superior Traffic Control, LLC		\$60.0000	\$1,320.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		1.570 S.F.		
	LU, Inc. Superior Traffic Control, LLC		\$25.4400 \$25.0000	\$39.94
	Superior Traine Control, LLC		\$25.0000	\$39.25
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	LU, Inc.	696.000 L.F.	\$5.9000	\$4,106.40
	Superior Traffic Control, LLC		\$3.9000 \$7.5000	\$5,220.00
740 44 04	WH SECTION STEEL DOGTO			
713-11.01	"U" SECTION STEEL POSTS	1,256.500 LB.		
	LU, Inc.	1,200.000 EB.	\$5.6000	\$7,036.40
	Superior Traffic Control, LLC		\$7.0000	\$8,795.50
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		2,417.660 LB.		
	LU, Inc. Superior Traffic Control, LLC		\$6.3100 \$7.0000	\$15,255.43 \$16,923.62
			φ1.0000	\$10,020.02
713-13.02	P FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	LU, Inc.	644.800 S.F.	\$12.6400	\$8,150.27
	Superior Traffic Control, LLC		\$20.0000	\$12,896.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		758.000 S.F.		
	LU, Inc.		\$13.8200	\$10,475.56
	Superior Traffic Control, LLC		\$22.0000	\$16,676.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		1,165.800 S.F.	\$13.8200	¢16 111 26
	LU, Inc. Superior Traffic Control, LLC		\$13.8200	\$16,111.36 \$16,321.20
740 45 00	BEMOVE SIGN SUPPORT & FOOTING			
13-15.36	REMOVE SIGN, SUPPORT & FOOTING	17.000 EACH		
	LU, Inc.		\$50.0000	\$850.00
	Superior Traffic Control, LLC		\$75.0000	\$1,275.00

				CONTRACT	JNW256
			UNIT PRICE	EXTEN	ISION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)				
		306.000 L.F.			
	LU, Inc.		\$18.3600	\$5,6	18.16
	Superior Traffic Control, LLC		\$24.0000		44.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)				
		6.670 S.F.			
	LU, Inc.		\$35.7000	\$2	38.12
	Superior Traffic Control, LLC		\$50.0000		33.50
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)				
		34.510 L.M.			
	LU, Inc.		\$2,550.0000	\$88,0	00.50
	Superior Traffic Control, LLC		\$3,000.0000	\$103,5	
717-01	MOBILIZATION				
		1.000 LS			
	LU, Inc.	1000 20	\$2,950.0000	¢2 0	50.00
	Superior Traffic Control, LLC		\$2,950.0000	چے,ع \$10,0	
			\$10,000.0000	φιο,ο	00.00

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$162,094.66 \$210,674.07

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$162,094.66 \$210,674.07

CLAY COUNTY (Contract No. CNW280 Call 013)

PHSIP-52(93),14002-3258-94,PHSIP-52(94),14002-3259-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 52 FROM HILL TOP ROAD TO HARVE KNIGHT ROAD (L.M. 0.69 TO L.M. 3.08) AND FROM NEAR MEADOW LANE TO HUMMINGBIRD LANE (L.M. 14.00 TO L.M. 15.00).

PROJECT LENGTH - 3.390 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 3.50%

TOTAL CONTRACT

Superior Traffic Control, LLC

\$155,047.75

CONTRACT CNW280 UNIT PRICE **EXTENSION ROADWAY CATEGORY** 705-04.21 GUARDRAIL DELINEATION ENHANCEMENT 920.000 L.F. Superior Traffic Control, LLC \$6.0000 \$5,520.00 **TRAFFIC CONTROL** 712-01 1.000 LS Superior Traffic Control, LLC \$8,500.0000 \$8,500.00 713-02.20 ROADSIDE OBSTACLE DELINEATION 5.000 S.F. Superior Traffic Control, LLC \$25.0000 \$125.00 713-02.21 SIGN POST DELINEATION ENHANCEMENT 342.000 L.F. Superior Traffic Control, LLC \$7.5000 \$2,565.00 713-02.22 BARRIER WALL DELINEATION ENHANCEMENT 250.000 L.F. Superior Traffic Control, LLC \$8.0000 \$2.000.00 713-11.01 "U" SECTION STEEL POSTS 247.000 LB. \$6.2500 Superior Traffic Control, LLC \$1,543.75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST 1,802.000 LB. Superior Traffic Control, LLC \$6.5000 \$11,713.00 713-11.05 SQUARE TUBE SIGN SUPPORT 757.000 LB. \$7.0000 Superior Traffic Control, LLC \$5,299.00 713-11.21 P POST SLIP BASE 6.000 EACH Superior Traffic Control, LLC \$600.0000 \$3.600.00 713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK) 242.000 S.F. Superior Traffic Control, LLC \$18.0000 \$4,356.00 713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK) 503.500 S.F. Superior Traffic Control, LLC \$20.0000 \$10,070.00 713-15 **REMOVAL OF SIGNS, POSTS AND FOOTINGS** 1.000 LS Superior Traffic Control, LLC \$2,000.0000 \$2,000.00

CONTRACT C	NW280
------------	-------

			, i	CONTRACT CNW200
			UNIT PRICE	EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	Superior Traffic Control, LLC	53.000 EACH	\$50.0000	\$2,650.00
			<i>\\</i> 00.0000	φ2,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL			
	Superior Traffic Control, LLC	44.000 EACH	\$80.0000	\$3,520.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Superior Traffic Control, LLC	22.000 S.Y.	\$28.0000	\$616.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Superior Traffic Control, LLC	248.000 L.F.	\$20.0000	\$4,960.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Superior Traffic Control, LLC	12.200 L.M.	\$6,250.0000	\$76,250.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINI	Ε)		
		630.000 L.F.		
	Superior Traffic Control, LLC		\$2.0000	\$1,260.00
717- 0 1	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, LLC		\$8,500.0000	\$8,500.00

Superior Traffic Control, LLC

TOTAL CONTRACT

Superior Traffic Control, LLC

\$155,047.75

CLAY COUNTY (Contract No. CNW284 Call 014)

14NMSC-S3-003

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc. J & S Construction Company, Inc. TOTAL CONTRACT

\$52,759.65 \$78,358.00

MAINTE	NANCE CATEGORY		UNIT PRICE	CONTRACT CNW284 EXTENSION
680-02.0 1	BUILDING (40' X 40')			
	H & H Construction, Inc.	1.000 EACH	\$2,637.9800	\$2,637.98
	J & S Construction Company, Inc.		\$71,858.0000	\$71,858.00
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.		\$50,121.6700	\$50,121.67
	J & S Construction Company, Inc.		\$6,500.0000	\$6,500.00

SUB-TOTAL MAINTENANCE

H & H Construction, Inc.

J & S Construction Company, Inc.

\$52,759.65 \$78,358.00

TOTAL CONTRACT

H & H Construction, Inc.

J & S Construction Company, Inc.

\$52,759.65 \$78,358.00

COCKE COUNTY (Contract No. CNW272 Call 015)

15I040-M3-016

THE REPLACEMENT OF A ROCKFALL CATCHMENT FENCE ON I-40 EB AT MM 444.3 (L.M. 14.44).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2023

Charles Blalock & Sons, Inc.

TOTAL CONTRACT

\$669,000.00

MAINTE	NANCE CATEGORY		CO UNIT PRICE	DNTRACT CNW272 EXTENSION
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Charles Blalock & Sons, Inc.	500.000 C.Y.	\$70.0000	\$35,000.00
707-10.01	1 ROCKFALL FENCE (TYPE I)			
	Charles Blalock & Sons, Inc.	200.000 L.F.	\$2,150.0000	\$430,000.00
712-01	TRAFFIC CONTROL			
	Charles Blalock & Sons, Inc.	1.000 LS	\$125,000.0000	\$125,000.00
717-01	MOBILIZATION			
	Charles Blalock & Sons, Inc.	1.000 LS	\$79,000.0000	\$79,000.00

Charles Blalock & Sons, Inc.

TOTAL CONTRACT

Charles Blalock & Sons, Inc.

\$669,000.00

CUMBERLAND COUNTY (Contract No. CNW234 Call 016)

18003-3244-04

THE INSTALLATION OF A FLASHING BEACON AND MISCELLANEOUS SAFETY IMPROVEMENTS ON U.S. 70 (S.R. 1) AT THE INTERSECTION OF MARKET STREET (L.M. 24.84) IN CRAB ORCHARD.

PROJECT LENGTH - 0.207 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

S & W Contracting Co., Inc. Stansell Electric Company, Inc. TOTAL CONTRACT \$140,599.00 \$158,079.23

ROADWAY CATEGORY EXTENSION 209-08.02 TEMPORARY SILT FENCE (WITH BACKING) 288-08.02 TEMPORARY SILT FENCE (WITH BACKING) 288-08.02 S& W Contracting Co., Inc. S& W Contracting Co., Inc. S30000 L.F. S& W Contracting Co., Inc. S30000 S& W Contracting Co., Inc. S30000 S& W Contracting Co., Inc. S30000 S& W Contracting Co., Inc. S50000 S& W Contracting Co., Inc. S500000 S& W Contracting Co., Inc. S500000 S& W Contracting Co., Inc. S500000000 S& W Contracting Co., Inc. S50000000 S& W Contracting Co., Inc. S10000000 S& W Contracting Co., Inc. S100000000 S& W Contracting Co., Inc.				(CONTRACT CNW234
209-06.2 TEMPORARY SILT FENCE (WITH BACKING) 28.000 L.F. \$3.0000,000 \$3.040,00				UNIT PRICE	EXTENSION
128.000 LF. \$3.00000 \$3.00000 \$3.0000 \$3.0000 \$3.0000 \$3.0000 \$3.0000 \$3	ROADWAY CATEGORY				
128.000 LF. \$3.00000 \$3.00000 \$3.0000 \$3.0000 \$3.0000 \$3.0000 \$3.0000 \$3					
S & W Contracting Co., Inc. \$30,000 \$3,840.00 71-26.11 HIGH-VISIBILITY CONSTRUCTION FENCE 330,000 \$4,110.00 S & W Contracting Co., Inc. \$30,000 \$4,110.00 S & W Contracting Co., Inc. \$30,000 \$4,110.00 S & W Contracting Co., Inc. \$30,000 \$4,210.00 S & W Contracting Co., Inc. \$30,000 \$4,200.00 S & W Contracting Co., Inc. \$6,000.000 \$6,000.000 Stansell Electric Company, Inc. \$6,000.000 \$6,000.000 712-04.01 FLEXIBLE ORUMS (CHANNELIZING) \$6,000.000 \$6,000.000 S & W Contracting Co., Inc. \$57,000 \$57,000 \$8,74.31 S & W Contracting Co., Inc. \$51,000 \$57,000 \$8,74.31 S & W Contracting Co., Inc. \$51,000 \$51,000 \$54,41.88 712-06 \$6000 Contracting Co., Inc. \$15,000 \$54,420.00 S & W Contracting Co., Inc. \$15,000 \$51,71.400 \$3,420.00 S & W Contracting Co., Inc. \$2,000 DEACH \$2,000.000 \$3,420.00 S & W Contracting Co., Inc. \$2,000 DEACH \$3,0000 \$3,420.00 S & W Contracting Co., Inc. \$2,000 DEACH \$3,0000 \$3,420.00 S & W Contracting Co., Inc. \$2,000 DEACH \$3,00	209-08.02 TEMPORARY SILT FEN	ICE (WITH BACKING)			
Stansell Electric Company, Inc. \$2.4600 \$314.88 707-9.11 HIGH-VISIBILITY CONSTRUCTION FENCE 137.000 L.F. \$30.0000 \$4,110.00 Stansell Electric Company, Inc. 137.000 L.F. \$30.0000 \$2,4600 \$337.02 712-01 TRAFFIC CONTROL 1000 LS \$6,000.0000 \$6,000.000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.0000 \$12,200.000	C & W Contracting Co		128.000 L.F.	¢20.000	¢2.040.00
T07-88.11 HiGH-VISIBILITY CONSTRUCTION FENCE 137.000 LF. \$30.0000 \$33.702 Stansel Electric Company, Inc. 1.000 LS \$30.0000 \$33.702 T12-01 TRAFFIC CONTROL 1.000 LS \$6,000.0000 \$51.200.000 Stansel Electric Company, Inc. 1.000 LS \$6,000.0000 \$51.200.000 T12-04.11 FLEXIBLE DRUMS (CHANNELIZING) \$50.000.000 \$51.200.000 T12-04.01 FLEXIBLE DRUMS (CHANNELIZING) \$50.000.000 \$51.200.000 Stansel Electric Company, Inc. \$57.0000 \$50.900.000 \$57.431 T12-04.01 FLEXIBLE DRUMS (CHANNELIZING) \$50.000.000 \$57.431 \$50.000.000 \$57.431 Stansel Electric Company, Inc. \$50.000 S.F. \$50.000 S.F. \$50.000.000 \$51.414.000 \$53.420.00 \$51.414.000 \$53.420.00 \$51.414.000 \$53.420.00 \$51.200.00 \$51.414.000 \$53.420.00 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.414.000 \$50.000.000 \$51.2200.00.000 \$					
38. W Contracting Co., Inc. 137.000 LF. \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$3.0000, \$1.000 LS 712-01 TRAFFIC CONTROL 1.000 LS \$6.000.000, \$1.000,				•	
S & W Contracting Co., Inc. \$30,000 \$2,4000 \$337,02 712-01 TRAFFIC CONTROL 1.000 LS \$6,000.000 \$50,000.000 \$50,000.000 \$51,2200.000 \$51,2300 \$51,2300 \$574,331 \$51,4300 \$53,420.00 \$51,4300 \$53,420.00 \$51,2300	707-08.11 HIGH-VISIBILITY CONS	TRUCTION FENCE			
Stansell Electric Company, Inc. \$2.4000 \$337.02 712-01 TRAFFIC CONTROL 1.000 LS \$6,000.000 \$6,000.000 \$6,000.000 \$12,200.000			137.000 L.F.		
712-01 TRAFFIC CONTROL 3 & W Contracting Co., Inc. 56,000.000 \$6,000.000 712-44.01 FLEXIBLE DRUMS (CHANNELIZING) 56,000.000 \$12,200.000 712-44.01 FLEXIBLE DRUMS (CHANNELIZING) 71.000 EACH \$57.0000 \$512,200.000 712-44.01 FLEXIBLE DRUMS (CHANNELIZING) 71.000 EACH \$57.0000 \$514.300 \$574.31 712-46.01 Stansell Electric Company, Inc. 71.000 EACH \$51.4000 \$574.33 712-46.02 SIGNS (CONSTRUCTION) 72.000 EACH \$51.50000 \$51.4100 S & W Contracting Co., Inc. \$15.0000 Stansell Electric Company, Inc. \$15.0000 Stansell Electric Company, Inc. \$15.0000 Stansell Electric Company, Inc. \$10.7100 712-46.03 RROW BOARD (TYPE C) \$2.000 EACH \$2.000.0000 Stansell Electric Company, Inc. \$10.7100 712-49.03 REMOVABLE PAVEMENT MARKING (4" line) \$2.000 LF. \$5.0000 Stansell Electric Company, Inc. \$5.0000 Stansell Electric Company, Inc. \$5.000 LF. S & W Contracting Co., Inc. \$8. W Contracting Co., Inc. \$8. W Contracting Co., Inc. \$8.0000 Stansell Electric Company, Inc. \$8.0000 Stansell 713-10 W SECTION STEEL POSTS \$8. W Contractin					
1.000 LS \$\$ & W Contracting Co., Inc. \$\$ & 0,000.000 <	Stansell Electric Comp	any, Inc.		\$2.4600	\$337.02
\$ 8. W Contracting Co., Inc. \$ 8,000.000 \$ \$ 12,200.000 \$ 5 4,000.000 \$ \$ 12,200.000 712-04.01 FLEXIBLE DRUMS (CHANNELIZING) Tr.000 EACH \$ 8. W Contracting Co., Inc. \$ 57,0000 \$ \$ 14,300 \$ 58,000 \$ \$ 14,300 712-06 SIGNS (CONSTRUCTION) \$ 15,0000 \$ 10,7100 \$ 3,420.00 \$ 10,7100 712-08.03 RROW BOARD (TYPE C) \$ 15,0000 \$ 10,7100 \$ 3,420.00 \$ 10,7100 712-08.03 RROW BOARD (TYPE C) \$ 2,000 EACH \$ 22,000,0000 \$ 11,714.4000 \$ 4,428.00 \$ 3,428.80 712-09.03 REMOVABLE PAVEMENT MARKING (4" line) \$ 2,000 EACH \$ 2,000,0000 \$ \$ 3,428.80 \$ 4,428.60 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. \$ 5,0000 \$ \$ 50,0000 \$ \$ 3,2200 \$ 50000 \$ \$ 160.00 \$ \$ 16.80 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. \$ 8, W Contracting Co., Inc. \$ \$ 8, W Contracting Co., Inc. \$ 8, S W C	712-01 TRAFFIC CONTROL				
Stansell Electric Company, Inc. \$12,200.000 \$12,200.000 712-04.01 FLEXIBLE DRUMS (CHANNELIZING) 357.0000 \$969.00 S & W Contracting Co., Inc. \$57.0000 \$57.0000 \$969.00 Stansell Electric Company, Inc. \$57.0000 \$57.0000 \$969.00 712-04 SIGNS (CONSTRUCTION) \$57.0000 \$57.0000 \$57.0000 S & W Contracting Co., Inc. \$55.0000 \$51.4300 \$3,420.00 S & W Contracting Co., Inc. \$57.0000 \$51.0000 \$53,420.00 S & W Contracting Co., Inc. \$52,000.0000 \$51.4300 \$3,420.00 S & W Contracting Co., Inc. \$50.0000 \$4,000.00 \$17.74.4000 \$3,428.00 S & W Contracting Co., Inc. \$50.0000 \$50.0000 \$4,286.40 \$3,428.00 S & W Contracting Co., Inc. \$5.0000 \$50.0000 \$50.000 \$4,286.40 S & W Contracting Co., Inc. \$5.8000 \$160.00 \$150.000 \$160.00 S & W Contracting Co., Inc. \$5.8000 \$160.00 \$19.29.00 \$160.00 \$19.29.00 \$160.00			1.000 LS		
712-04.01 FLEXIBLE DRUMS (CHANNELIZING) S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$57,000 \$51,4300 \$969.00 \$51,4300 712-06 SIGN S (CONSTRUCTION) 228,000 S.F. \$57,000 \$51,5000 \$10,7100 \$3,420.00 \$2,441.88 712-08.03 ARROW BOARD (TYPE C) \$15,000 \$10,7100 \$3,420.00 \$2,441.88 712-09.03 REMOVABLE PAVEMENT MARKING (4' line) \$2,000 EACH \$2,000 000 \$1,714.4000 \$4,000.00 \$3,7200 712-09.03 REMOVABLE PAVEMENT MARKING (4' line) \$5,0000 \$35,7200 \$4,000.00 \$4,286.40 712-09.03 REMOVABLE PAVEMENT MARKING (4' line) \$5,0000 \$35,7200 \$4,000.00 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. \$5,0000 \$35,7200 \$600.00 \$18,158.80 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. \$5,0000 \$39,2900 \$160.00 \$185,80 713-10.10 'U' SECTION STEEL POSTS \$5,000 L.F. \$8,0000 \$9,2900 \$160.00 \$185,80 713-11.01 'U' SECTION STEEL POSTS \$5,000 L.F. \$8,0000 \$9,2900 \$160.00 \$185,80 713-11.02 'U' SECTION STEEL POSTS \$8,0000 \$9,2900 \$160.00 \$9,2900	S & W Contracting Co.	, Inc.		\$6,000.0000	\$6,000.00
17.000 EACH \$57.000 \$969.00 \$969.00 \$969.00 \$969.00 \$969.00 \$969.00 \$874.310 \$969.00 \$874.310 \$969.00 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.310	Stansell Electric Comp	any, Inc.		\$12,200.0000	\$12,200.00
17.000 EACH \$57.000 \$969.00 \$969.00 \$969.00 \$969.00 \$969.00 \$969.00 \$874.310 \$969.00 \$874.310 \$969.00 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.3100 \$874.310					
S & W Contracting Co., Inc. \$57.000 \$999.00 Stansell Electric Company, Inc. \$51.4300 \$874.31 712-06 SIGNS (CONSTRUCTION) \$28.000 S.F. \$15.0000 \$3.420.00 S & W Contracting Co., Inc. \$400 Electric Company, Inc. \$15.0000 \$3.420.00 \$3.420.00 712-06.03 ARROW BOARD (TYPE C) \$10.7100 \$3.420.00 \$4.000.00 \$3.420.00 S & W Contracting Co., Inc. S & W Contracting Co., Inc. \$2.000 EACH \$2.000 EACH \$2.000.0000 \$4.000.00 \$3.428.80 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) \$2.000 OL.F. \$5.0000 \$4.000.00 \$3.428.80 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5.0000 L.F. \$5.0000 L.F. \$8.0000 \$44.286.40 \$4.286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$8.0000 \$185.80 \$160.00 \$9.2900 \$185.80 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$8.0000 \$1.6. \$8.0000 \$1.6. \$8.0000 \$185.80 \$160.00 \$9.2900 \$185.80 713-10.10 "U" SECTION STEEL POSTS \$8.0000 \$8.0000 \$1.6. \$8.0000 \$1.6. \$8.0000 \$1.6. \$8.0000 \$1.6. \$8.0000 \$	TIZ-04.01 FLEXIBLE DRUMS (CH	ANNELIZING)			
Stansell Electric Company, Inc. \$51.4300 \$874.31 712-06 SIGNS (CONSTRUCTION) 228.000 S.F. \$15.0000 \$3,420.00 S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$15.0000 \$3,420.00 \$2,441.88 712-08.03 ARROW BOARD (TYPE C) 2.000 EACH \$2,000.0000 \$4,000.00 S & W Contracting Co., Inc. Stansell Electric Company, Inc. 2.000 EACH \$2,000.0000 \$4,000.00 712-08.03 REMOVABLE PAVEMENT MARKING (4" line) \$2,000.0000 \$4,000.00 \$3,428.80 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) \$5,0000 LF. \$5,0000 \$5,0000 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 LF. \$5,0000 LF. \$5,0000 LF. S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$5,0000 LF. \$8,0000 LF. \$8,0000 LF. S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8,0000 LF. \$8,0000 LF. \$8,0000 LF. S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8,0000 LF. \$8,0000 LF. \$8,0000 LF. S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8,0000 LF. \$8,0000 LF. \$8,0000 LF. S & W Contr	S & W Contracting Co	Inc	17.000 EACH	\$57,0000	\$969.00
288.00 SF. \$15.0000 \$3,420.00 Stansell Electric Company, Inc. \$15.0000 \$3,420.00 712-08.03 ARROW BOARD (TYPE C) 2000 EACH \$2,000.0000 S& W Contracting Co., Inc. \$2,000 EACH \$2,000.0000 \$4,000.000 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) \$2,000 DLF. \$5,0000 \$600.000 S& W Contracting Co., Inc. \$8, W Contracting Co., Inc. \$5,0000 \$600.000 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$600.000 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$600.000 \$165.000 \$13-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$160.000 \$185.800 \$2,8 W Contracting Co., Inc. \$8,8 W Contracting Co., Inc. \$8,0000 \$160.000 \$185.800 \$13-11.01 'U' SECTION STEEL POSTS \$8,0000 \$8,0000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 <t< th=""><th>-</th><td></td><td></td><td></td><td></td></t<>	-				
288.00 SF. \$15.0000 \$3,420.00 Stansell Electric Company, Inc. \$15.0000 \$3,420.00 712-08.03 ARROW BOARD (TYPE C) 2000 EACH \$2,000.0000 S& W Contracting Co., Inc. \$2,000 EACH \$2,000.0000 \$4,000.000 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) \$2,000 DLF. \$5,0000 \$600.000 S& W Contracting Co., Inc. \$8, W Contracting Co., Inc. \$5,0000 \$600.000 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$600.000 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$600.000 \$165.000 \$13-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,0000 \$160.000 \$185.800 \$2,8 W Contracting Co., Inc. \$8,8 W Contracting Co., Inc. \$8,0000 \$160.000 \$185.800 \$13-11.01 'U' SECTION STEEL POSTS \$8,0000 \$8,0000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 <t< th=""><th></th><td></td><td></td><td></td><td></td></t<>					
\$ & W Contracting Co., Inc. \$15.000 \$3,420.00 Stansell Electric Company, Inc. \$10.7100 \$2,441.88 712-08.03 ARROW BOARD (TYPE C) 2.000 EACH \$2,000.0000 \$4,000.00 S & W Contracting Co., Inc. \$2,000 EACH \$2,000.0000 \$4,000.00 S & W Contracting Co., Inc. \$2,000 LF. \$2,000 LF. \$3,428.80 S & W Contracting Co., Inc. \$5,0000 LF. \$5,0000 \$600.00 S & W Contracting Co., Inc. \$5,0000 LF. \$5,0000 \$600.00 \$600.00 S & W Contracting Co., Inc. \$8,0000 LF. \$8,0000 \$16.50 \$600.00 S & W Contracting Co., Inc. \$8,0000 LF. \$8,0000 \$160.00 \$185.80 S & W Contracting Co., Inc. \$8,0000 LF. \$8,0000 \$160.00 \$185.80 S & W Contracting Co., Inc. \$8,0000 \$160.00 \$185.80 \$185.80 T13-11.01 'U'' SECTION STEEL POSTS \$8,0000 \$180.00 \$180.000 \$180.000 \$180.000 \$80.000 \$600.00 \$80.2900 \$600.00 \$80.2900 \$600.00 \$80.2900 \$600.00 \$80.2900 \$600.00 \$80.2900 \$600.00 \$80.2900 \$600.00 \$80.2900 <th>712-06 SIGNS (CONSTRUCTIO</th> <td>N)</td> <td></td> <td></td> <td></td>	712-06 SIGNS (CONSTRUCTIO	N)			
Stansell Electric Company, Inc. \$10.7100 \$2,441.88 712-08.03 ARROW BOARD (TYPE C) 2.000 EACH S & W Contracting Co., Inc. \$2,000.0000 \$4,000.00 Stansell Electric Company, Inc. \$2,000 EACH \$2,000.0000 \$4,000.00 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) \$2,000 LF. \$5,0000 \$600.00 S & W Contracting Co., Inc. \$5,000 LF. \$5,0000 \$600.00 \$64,286,40 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5,000 LF. \$8,0000 \$160.00 \$185,80 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$8,0000 LF. \$8,0000 \$160.00 \$185,80 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$8,0000 LF. \$8,0000 \$185,80 \$160.00 \$185,80 713-01.21 SIGN POST DELINEATION ENHANCEMENT \$8,0000 \$185,80 \$160,000 \$185,80 713-11.01 "U" SECTION STEEL POSTS \$8,0000 \$185,80 \$600.00 \$9,2900 \$165,000 \$8,0000 \$696,75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$8,0000 \$9,2900 \$600,70 \$9,2900 \$600,70 \$9,2900 \$600,00 \$9,2900 </th <th></th> <td></td> <td>228.000 S.F.</td> <td>•</td> <td>•</td>			228.000 S.F.	•	•
T12-08.03 ARROW BOARD (TYPE C) S & W Contracting Co., Inc. \$2,000 EACH Stansell Electric Company, Inc. \$2,000.0000 T12-09.09 REMOVABLE PAVEMENT MARKING (4" line) S & W Contracting Co., Inc. \$5,0000 Stansell Electric Company, Inc. \$5,0000 S & W Contracting Co., Inc. \$5,0000 Stansell Electric Company, Inc. \$5,0000 T13-02.21 SIGN POST DELINEATION ENHANCEMENT S & W Contracting Co., Inc. \$8,0000 S & W Contracting Co., Inc. \$8,0000 L.F. S & W Contracting Co., Inc. \$8,000 L.F. S & W Contracting Co., Inc. \$8,000 L.					
2.000 EACH \$2,000.0000 \$4,000.00 S & W Contracting Co., Inc. \$2,000.000 \$1,714.4000 \$3,428.80 712-09.09 REMOVABLE PAVEMENT MARKING (4° line) 7120.000 L.F. S & W Contracting Co., Inc. \$5,0000 \$50.000 \$50.000 \$600.00 \$50.000 S & W Contracting Co., Inc. \$5.0000 L.F. \$5.0000 \$50.000 \$50.000 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5.0000 L.F. S & W Contracting Co., Inc. \$8.0000 \$185.80 \$160.000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$185.80 \$160.000 \$185.80 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$185.80 \$160.000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$185.80 \$160.000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$185.80 \$160.000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$185.80 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$19.2900 \$6606.75 S & W Contracting Co., Inc. \$8.0000 \$9.2900 \$6606.75 S & W Contracting Co., Inc. \$8.0000 \$9.2900 \$6606.75 S & W Contracting Co., Inc. \$8.0000 \$9.2900 \$6606.75 S & W Contracting Co., Inc. \$8.000 \$160		any, me.		\$10.7100	φ2,441.00
S & W Contracting Co., Inc. \$2,000.000 \$4,000.00 Stansell Electric Company, Inc. \$1,714.4000 \$3,428.80 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) 120.000 L.F. \$5.0000 S & W Contracting Co., Inc. \$5.0000 \$600.00 S tansell Electric Company, Inc. \$5.0000 \$600.00 713-02.21 SIGN POST DELINEATION ENHANCEMENT \$5.0000 \$600.00 S & W Contracting Co., Inc. \$8.0000 \$160.00 S & W Contracting Co., Inc. \$8.0000 \$185.80 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$600.00 S & W Contracting Co., Inc. \$8.0000 \$160.00 S & W Contracting Co., Inc. \$8.0000 \$185.80 S & W Contracting Co., Inc. \$8.0000 \$600.00 S & W Contracting Co., Inc. \$8.0000 \$696.75 S & W Contracting Co., Inc. \$8.0000 \$696.75 S ansell Electric Company, Inc. \$8.0000 \$696.75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$8.0000	712-08.03 ARROW BOARD (TYPE	: C)			
Stansell Electric Company, Inc. \$1,714.4000 \$3,428.80 712-09.09 REMOVABLE PAVEMENT MARKING (4" line) 120.000 L.F. \$5.0000 \$600.00 S & W Contracting Co., Inc. \$5.0000 \$55.7200 \$600.00 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. \$8.0000 \$160.00 S & W Contracting Co., Inc. S & W Contracting Co., Inc. \$8.0000 \$160.00 S & W Contracting Co., Inc. \$8.0000 \$160.00 \$185.80 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$160.00 S & W Contracting Co., Inc. \$8.0000 \$600.00 S & W Contracting Co., Inc. </th <th></th> <td></td> <td>2.000 EACH</td> <td></td> <td></td>			2.000 EACH		
712-09.09 REMOVABLE PAVEMENT MARKING (4" line) 120.000 L.F. \$\$.0000 Stansell Electric Company, Inc. \$\$ & W Contracting Co., Inc. \$\$.0000 L.F. \$\$ S & W Contracting Co., Inc. \$\$.0000 L.F. \$\$ & W Contracting Co., Inc. \$\$.000 L.F. <td< th=""><th></th><td></td><td></td><td></td><td></td></td<>					
120.000 L.F. \$5.000 \$600.00 Stansell Electric Company, Inc. \$5.000 \$600.00 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. 20.000 L.F. S & W Contracting Co., Inc. \$8.000 \$160.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 Stansell Electric Company, Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 Stansell Electric Company, Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 <th>Stansell Electric Comp</th> <td>any, Inc.</td> <td></td> <td>\$1,714.4000</td> <td>\$3,428.80</td>	Stansell Electric Comp	any, Inc.		\$1,714.4000	\$3,428.80
120.000 L.F. \$5.000 \$600.00 Stansell Electric Company, Inc. \$5.000 \$600.00 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. 20.000 L.F. S & W Contracting Co., Inc. \$8.000 \$160.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 Stansell Electric Company, Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 Stansell Electric Company, Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 \$600.00 S & W Contracting Co., Inc. \$8.000 <th>712-09.09 REMOVABLE PAVEME</th> <th>NT MARKING (4" line)</th> <th></th> <th></th> <th></th>	712-09.09 REMOVABLE PAVEME	NT MARKING (4" line)			
S & W Contracting Co., Inc. Stansell Electric Company, Inc.\$5.000 \$35.7200\$600.00 \$4,286.40713-02.21SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. Stansell Electric Company, Inc.20.000 L.F. \$8.0000\$160.00 \$185.80713-11.01"U" SECTION STEEL POSTS Stansell Electric Company, Inc.\$8.0000 \$9.2900\$160.00 \$185.80713-11.01"U" SECTION STEEL POSTS Stansell Electric Company, Inc.\$8.0000 \$9.2900\$160.00 			120.000 L.F.		
Stansell Electric Company, Inc. \$35.7200 \$4,286.40 713-02.21 SIGN POST DELINEATION ENHANCEMENT 20.000 L.F. <	S & W Contracting Co.	, Inc.		\$5.0000	\$600.00
20.000 L.F. \$8.0000 \$160.00 \$185.80 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$185.80 S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$160.00 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$160.00 S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$600.00 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$8.0000 \$600.00	Stansell Electric Comp	any, Inc.		\$35.7200	\$4,286.40
20.000 L.F. \$8.0000 \$160.00 \$185.80 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$185.80 S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$160.00 713-11.01 "U" SECTION STEEL POSTS \$8.0000 \$160.00 S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$600.00 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$8.0000 \$600.00					
S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$9.2900 \$160.00 \$185.80 713-11.01 "U" SECTION STEEL POSTS S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$8.0000 \$89.2900 \$600.00 \$696.75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$8.0000 \$9.2900 \$600.00 \$696.75	713-02.21 SIGN POST DELINEAT		20 000 L E		
Stansell Electric Company, Inc. \$9.2900 \$185.80 713-11.01 "U" SECTION STEEL POSTS	S & W Contracting Co	Inc	20.000 L.F.	\$8,0000	\$160.00
75.000 LB. \$8.0000 \$600.00 S & W Contracting Co., Inc. \$9.2900 \$696.75 S tansell Electric Company, Inc. \$9.2900 \$696.75					
75.000 LB. \$8.0000 \$600.00 S & W Contracting Co., Inc. \$9.2900 \$696.75 S tansell Electric Company, Inc. \$9.2900 \$696.75					
S & W Contracting Co., Inc. \$8.0000 \$600.00 Stansell Electric Company, Inc. \$9.2900 \$696.75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST V	713-11.01 "U" SECTION STEEL P	OSTS			
Stansell Electric Company, Inc. \$9.2900 \$696.75 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST \$ \$		le -	75.000 LB.	AC C C C C C C C C C	A AAA AA
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST					
				ψ9.2300	ψυσυ.τυ
75.000 LB.	713-11.02 PERFORATED/KNOCK	OUT SQUARE TUBE POST			
			75.000 LB.		
S & W Contracting Co., Inc. \$8.0000 \$600.00	-				
Stansell Electric Company, Inc. \$9.2900 \$696.75	Stansell Electric Comp	any, Inc.		\$9.2900	\$696.75

				CITINACT CITIZE
			UNIT PRICE	EXTENSION
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		45.000 S.F.		
	S & W Contracting Co., Inc.		\$26.0000	\$1,170.00
	Stansell Electric Company, Inc.		\$31.4300	\$1,414.35
	Stansen Liectric Company, inc.		ψ 3 1. 1 300	ψ1,+1+.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	S & W Contracting Co., Inc.		\$1,000.0000	\$1,000.00
	Stansell Electric Company, Inc.		\$714.3300	\$714.33
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	S & W Contracting Co., Inc.		\$8,625.0000	\$17,250.00
	Stansell Electric Company, Inc.		\$10,715.0000	\$21,430.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION ST	(RIPING)		
		200.000 S.Y.		
	S & W Contracting Co., Inc.		\$26.0000	\$5,200.00
	Stansell Electric Company, Inc.		\$31.4300	\$6,286.00
			<i>Q</i> () ()() ()()()()()() ()	<i>\\</i> 0,200.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		40.000 L.F.		
	S & W Contracting Co., Inc.		\$18.0000	\$720.00
	Stansell Electric Company, Inc.		\$21.4300	\$857.20
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
		2.000 EACH		
	S & W Contracting Co., Inc.		\$300.0000	\$600.00
	Stansell Electric Company, Inc.		\$357.1700	\$714.34
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
110 00.02		4.000 EACH		
	S & W Contracting Co., Inc.	4.000 EAON	\$600.0000	\$2,400.00
	Stansell Electric Company, Inc.		\$714.3300	\$2,857.32
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)	36 000 S E		
		36.000 S.F.	¢00,0000	¢700.00
	S & W Contracting Co., Inc.		\$20.0000	\$720.00
	Stansell Electric Company, Inc.		\$21.4300	\$771.48
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		1.100 L.M.		
	S & W Contracting Co., Inc.		\$1,725.0000	\$1,897.50
	Stansell Electric Company, Inc.		\$2,143.0000	\$2,357.30
716-05.04	PAINTED PAVEMENT MARKING (CHANNELIZATION S	TRIPING)		
		200.000 S.Y.		
	S & W Contracting Co., Inc.		\$15.0000	\$3,000.00
	Stansell Electric Company, Inc.		\$18.5700	\$3,714.00
	• •			-

				DNIRACI CNW234
			UNIT PRICE	EXTENSION
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		46.000 L.F.		
	S & W Contracting Co., Inc.		\$8.0000	\$368.00
	Stansell Electric Company, Inc.		\$8.5700	\$394.22
716-05.21	PAINTED PAVEMENT MARKING(4"DOTTED LINE)			
		83.000 L.F.		
	S & W Contracting Co., Inc.		\$2.0000	\$166.00
	Stansell Electric Company, Inc.		\$1.4300	\$118.69
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		5,805.000 L.F.		
	S & W Contracting Co., Inc.		\$2.0000	\$11,610.00
	Stansell Electric Company, Inc.		\$1.4300	\$8,301.15
716-08.04	REMOVAL OF PAVEMENT MARKING (CHANNELIZATI	ON STRIPING)		
		400.000 S.Y.		
	S & W Contracting Co., Inc.		\$12.0000	\$4,800.00
	Stansell Electric Company, Inc.		\$14.2900	\$5,716.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		106.000 L.F.		
	S & W Contracting Co., Inc.		\$8.0000	\$848.00
	Stansell Electric Company, Inc.		\$8.5700	\$908.42
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE AR	ROW)		
		2.000 EACH		
	S & W Contracting Co., Inc.		\$115.0000	\$230.00
	Stansell Electric Company, Inc.		\$142.8700	\$285.74
716-08.09	REMOVAL OF PAVEMENT MARKING (DOTTED LINE)			
		83.000 L.F.		
	S & W Contracting Co., Inc.		\$2.0000	\$166.00
	Stansell Electric Company, Inc.		\$1.4300	\$118.69
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (RXR)			
		4.000 EACH		
	S & W Contracting Co., Inc.		\$345.0000	\$1,380.00
	Stansell Electric Company, Inc.		\$428.6000	\$1,714.40
716-08.19	REMOVAL OF PAVEMENT MARKING (YIELD LINE)			
		36.000 S.F.		
	S & W Contracting Co., Inc.		\$8.0000	\$288.00
	Stansell Electric Company, Inc.		\$7.1400	\$257.04
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN I	LINE)		
		1.100 L.M.		
	S & W Contracting Co., Inc.		\$8,625.0000	\$9,487.50
	Stansell Electric Company, Inc.		\$10,715.0000	\$11,786.50

				0111204
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	S & W Contracting Co. Inc.		\$8,500.0000	\$8,500.00
	S & W Contracting Co., Inc.			
	Stansell Electric Company, Inc.		\$7,500.0000	\$7,500.00
730-02.01	SIGNAL HEAD ASSEMBLY (110)			
		2.000 EACH		
	S & W Contracting Co., Inc.		\$599.0000	\$1,198.00
	Stansell Electric Company, Inc.		\$447.5300	\$895.06
			<i></i>	\$000.00
730-02.21	SIGNAL HEAD ASSEMBLY (220)			
		3.000 EACH		
	S & W Contracting Co., Inc.		\$1,029.0000	\$3,087.00
	Stansell Electric Company, Inc.		\$819.5500	\$2,458.65
730-05.01	ELECTRICAL SERVICE CONNECTION			
		1.000 EACH		
	S & W Contracting Co., Inc.		\$4,500.0000	\$4,500.00
	Stansell Electric Company, Inc.		\$1,567.2900	\$1,567.29
730-08.02	SIGNAL CABLE - 5 CONDUCTOR			
		101.000 L.F.		
	S & W Contracting Co., Inc.		\$2.0000	\$202.00
	Stansell Electric Company, Inc.		\$2.7100	\$273.71
			+	+
730-09.20	SPAN WIRE ASSEMBLY			
		118.000 L.F.		
	S. R. W. Contracting Co., Inc.	110.000 E.I.	¢2,000	ФЭ Б 4, ОО
	S & W Contracting Co., Inc. Stansell Electric Company, Inc.		\$3.0000 \$9.2900	\$354.00 \$1,096.22
	Stansen Electric Company, Inc.		φ 9 .2900	φ1,090.22
730-10.01	TETHER WIRE ASSEMBLY - 1/4" DIAMETER			
		118.000 L.F.		
	S & W Contracting Co., Inc.		\$3.0000	\$354.00
	Stansell Electric Company, Inc.		\$8.5800	\$1,012.44
730-15.07	CABINET (NEMA TYPE 3R FLASHING SIGNAL CONTROLLER)			
		1.000 EACH		
	S & W Contracting Co., Inc.		\$1,860.0000	\$1,860.00
	Stansell Electric Company, Inc.		\$1,810.5000	\$1,810.50
730-16.03	CONTROLLER (FLASHING BEACON)			
		1.000 EACH		
	S & W Contracting Co., Inc.		\$1,260.0000	\$1,260.00
	Stansell Electric Company, Inc.		\$1,338.3600	\$1,338.36
			·	
730-23.01	STEEL STRAIN POLE (SIGNAL SUPPORT)			
		2.000 EACH		
	S & W Contracting Co., Inc.		\$15,842.0000	\$31,684.00
	Stansell Electric Company, Inc.		\$21,973.6200	\$43,947.24
			+= 1,01010200	÷ 10,0 17.2 1

SUB-TOTAL ROADWAY

S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$140,599.00 \$158,079.23

TOTAL CONTRACT

S & W Contracting Co., Inc. Stansell Electric Company, Inc. \$140,599.00 \$158,079.23

CUMBERLAND COUNTY (Contract No. CNW018 Call 017)

18006-4219-04

THE REPAIR OF BRIDGES ON U.S. 127 (S.R. 28) OVER BYRDS CREEK (L.M. 10.69) AND THREE MILE CREEK (L.M. 11.08).

PROJECT LENGTH - 0.050 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

	TOTAL CONTRACT
Thomson & Thomson, Inc.	\$319,244.00
Jamison Construction, LLC	\$380,393.00
Mid-State Construction Company, Inc.	\$406,974.75
Southern Constructors, Inc.	\$479,196.00
Whaley Construction, LLC	\$543,374.00
Dement Construction Company, LLC	\$571,716.25

		•••	••••••
		UNIT PRICE	EXTENSION
BRIDGE CATEGORY			
201-05.31 VEGETATION REMOVAL			
	1.000 LS		
Thomson & Thomson, Inc.		\$10,000.0000	\$10,000.00
Jamison Construction, LLC		\$22,000.0000	\$22,000.00
Mid-State Construction Company, Inc.		\$32,223.1800	\$32,223.18
Southern Constructors, Inc.		\$20,000.0000	\$20,000.00
Whaley Construction, LLC		\$25,000.0000	\$25,000.00
Dement Construction Company, LLC		\$99,600.0000	\$99,600.00
204-06.01 FLOWABLE FILL (GENERAL)			
	6.500 C.Y.		
Thomson & Thomson, Inc.		\$650.0000	\$4,225.00
Jamison Construction, LLC		\$800.0000	\$5,200.00
Mid-State Construction Company, Inc.		\$3,089.6700	\$20,082.86
Southern Constructors, Inc.		\$2,000.0000	\$13,000.00
Whaley Construction, LLC		\$900.0000	\$5,850.00
Dement Construction Company, LLC		\$2,000.0000	\$13,000.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)			
	275.000 L.F.		
Thomson & Thomson, Inc.		\$9.0000	\$2,475.00
Jamison Construction, LLC		\$7.0000	\$1,925.00
Mid-State Construction Company, Inc.		\$11.2400	\$3,091.00
Southern Constructors, Inc.		\$15.0000	\$4,125.00
Whaley Construction, LLC		\$6.0000	\$1,650.00
Dement Construction Company, LLC		\$14.0000	\$3,850.00
603-02.15 REPAINT EXISTING BEARINGS			
	1.000 LS		
Thomson & Thomson, Inc.		\$5,000.0000	\$5,000.00
Jamison Construction, LLC		\$6,200.0000	\$6,200.00
Mid-State Construction Company, Inc.		\$34,602.5000	\$34,602.50
Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
Whaley Construction, LLC		\$32,000.0000	\$32,000.00
Dement Construction Company, LLC		\$620.0000	\$620.00
604-10.05 CONCRETE			
	212.000 S.F.		
Thomson & Thomson, Inc.		\$275.0000	\$58,300.00
Jamison Construction, LLC		\$250.0000	\$53,000.00
Mid-State Construction Company, Inc.		\$365.0400	\$77,388.48
Southern Constructors, Inc.		\$225.0000	\$47,700.00
Whaley Construction, LLC		\$450.0000	\$95,400.00
Dement Construction Company, LLC		\$600.0000	\$127,200.00

EXTENSION

UNIT PRICE

604-10.54 CONCRETE REPAIRS

114.000 S.F. Thomson & Thomson, Inc. \$240.0000 \$27,360.00 Jamison Construction, LLC \$250.0000 \$28,500.00 Mid-State Construction Company, Inc. \$365.2600 \$41,639.64 Southern Constructors, Inc. \$225.0000 \$25,650.00 Whaley Construction, LLC \$450.0000 \$51,300.00 Dement Construction Company, LLC \$600.0000 \$68,400.00 604-10.58 EPOXY INJECTION (INJECTION) 23.000 GAL. Thomson & Thomson, Inc. \$250.0000 \$5,750.00 Jamison Construction, LLC \$330.0000 \$7,590.00 Mid-State Construction Company, Inc. \$426.9000 \$9,818.70 Southern Constructors, Inc. \$200.0000 \$4,600.00 Whalev Construction, LLC \$385.0000 \$8,855.00 Dement Construction Company, LLC \$193.7500 \$4,456.25 604-10.62 EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE) 439.000 L.F. Thomson & Thomson, Inc. \$170.0000 \$74,630.00 Jamison Construction, LLC \$110.0000 \$48,290.00 Mid-State Construction Company, Inc. \$68.5500 \$30,093.45 Southern Constructors, Inc. \$125.0000 \$54,875.00 Whaley Construction, LLC \$55.0000 \$24,145.00 Dement Construction Company, LLC \$94.0000 \$41,266.00 610-10.45 DECK DRAINS (SPAN 2, LEFT SIDE EXTEND DRAIN) 1.000 EACH Thomson & Thomson, Inc. \$380.0000 \$380.00 Jamison Construction, LLC \$500.0000 \$500.00 Mid-State Construction Company, Inc. \$3,657.4100 \$3,657.41 Southern Constructors, Inc. \$2,500.0000 \$2,500.00 Whaley Construction, LLC \$2,500.0000 \$2,500.00 Dement Construction Company, LLC \$100.00 \$100.0000 705-01.04 METAL BEAM GUARD FENCE 200.000 L.F. Thomson & Thomson, Inc. \$95.0000 \$19,000.00 Jamison Construction, LLC \$20,000.00 \$100.0000 Mid-State Construction Company, Inc. \$120.4500 \$24,090.00 Southern Constructors, Inc. \$110.0000 \$22,000.00 Whaley Construction, LLC \$132.0000 \$26,400.00 Dement Construction Company, LLC \$95.0000 \$19,000.00 706-01 **GUARDRAIL REMOVED** 102.000 L.F. Thomson & Thomson, Inc. \$1.0000 \$102.00 Jamison Construction, LLC \$1.5000 \$153.00 Mid-State Construction Company, Inc. \$2.4400 \$248.88 Southern Constructors, Inc. \$3.0000 \$306.00 Whaley Construction, LLC \$3.0000 \$306.00 Dement Construction Company, LLC \$1.0000 \$102.00

		UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Thomson & Thomson, Inc.	\$50,000.0000	\$50,000.00
	Jamison Construction, LLC	\$131,000.0000	\$131,000.00
	Mid-State Construction Company, Inc.	\$86,210.0600	\$86,210.06
	Southern Constructors, Inc.	\$200,000.0000	\$200,000.00
	Whaley Construction, LLC	\$125,000.0000	\$125,000.00
	Dement Construction Company, LLC	\$155,500.0000	\$155,500.00
712-04.01	I FLEXIBLE DRUMS (CHANNELIZING)		
		25.000 EACH	
	Thomson & Thomson, Inc.	\$34.0000	\$850.00
	Jamison Construction, LLC	\$36.0000	\$900.00
	Mid-State Construction Company, Inc.	\$36.5900	\$914.75
	Southern Constructors, Inc.	\$40.0000	\$1,000.00
	Whaley Construction, LLC	\$38.0000	\$950.00
	Dement Construction Company, LLC	\$34.0000	\$850.00
712-06	SIGNS (CONSTRUCTION)		
		296.000 S.F.	
	Thomson & Thomson, Inc.	\$7.0000	\$2,072.00
	Jamison Construction, LLC	\$10.0000	\$2,960.00
	Mid-State Construction Company, Inc.	\$15.2500	\$4,514.00
	Southern Constructors, Inc.	\$15.0000	\$4,440.00
	Whaley Construction, LLC	\$8.0000	\$2,368.00
	Dement Construction Company, LLC	\$7.0000	\$2,072.00
713-16.01	1 CHANGEABLE MESSAGE SIGN UNIT		
		2.000 EACH	
	Thomson & Thomson, Inc.	\$6,750.0000	\$13,500.00
	Jamison Construction, LLC	\$7,100.0000	\$14,200.00
	Mid-State Construction Company, Inc.	\$5,183.7300	\$10,367.46
	Southern Constructors, Inc.	\$8,000.0000	\$16,000.00
	Whaley Construction, LLC	\$7,425.0000	\$14,850.00
	Dement Construction Company, LLC	\$6,750.0000	\$13,500.00
717-01	MOBILIZATION		
		1.000 LS	
	Thomson & Thomson, Inc.	\$45,000.0000	\$45,000.00
	Jamison Construction, LLC	\$37,000.0000	\$37,000.00
	Mid-State Construction Company, Inc.	\$26,568.3800	\$26,568.38
	Southern Constructors, Inc.	\$50,000.0000	\$50,000.00
	Whaley Construction, LLC	\$125,000.0000	\$125,000.00
	Dement Construction Company, LLC	\$19,200.0000	\$19,200.00
740-11.02	2 TEMPORARY SEDIMENT TUBE 12IN		
		150.000 L.F.	
	Thomson & Thomson, Inc.	\$4.0000	\$600.00
	Jamison Construction, LLC	\$6.5000	\$975.00
	Mid-State Construction Company, Inc.	\$9.7600	\$1,464.00
	Southern Constructors, Inc.	\$20.0000	\$3,000.00
	Whaley Construction, LLC	\$12.0000	\$1,800.00
	Dement Construction Company, LLC	\$20.0000	\$3,000.00
			DAOF

SUB-TOTAL BRIDGE

Thomson & Thomson, Inc.	\$319,244.00
Jamison Construction, LLC	\$380,393.00
Mid-State Construction Company, Inc.	\$406,974.75
Southern Constructors, Inc.	\$479,196.00
Whaley Construction, LLC	\$543,374.00
Dement Construction Company, LLC	\$571,716.25

TOTAL CONTRACT

Thomson & Thomson, Inc.	\$319,244.00
Jamison Construction, LLC	\$380,393.00
Mid-State Construction Company, Inc.	\$406,974.75
Southern Constructors, Inc.	\$479,196.00
Whaley Construction, LLC	\$543,374.00
Dement Construction Company, LLC	\$571,716.25

CUMBERLAND COUNTY (Contract No. CNW285 Call 018)

18NMSC-S3-004

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc.

TOTAL CONTRACT

\$75,751.65

				CONTRACT CNW285
			UNIT PRICE	EXTENSION
MAINTE	NANCE CATEGORY			
680-02.0 ⁻	1 BUILDING (40' X 100')			
		1.000 EACH		
	H & H Construction, Inc.		\$3,740.0900	\$3,740.09
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.		\$72,011.5600	\$72,011.56

H & H Construction, Inc.

TOTAL CONTRACT

H & H Construction, Inc.

\$75,751.65

COUNTIES DAVIDSON, SUMNER, AND WILLIAMSON (Contract No. CNW253 Call 019)

HSIP-REG3(214),R3SVAR-F3-018

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 7.00%

MarCor Construction, Inc.

TOTAL CONTRACT

\$407,819.00

ROADWAY CATEGORY		UNIT PRICE	CONTRACT CNW253 EXTENSION
701-01.01 CONCRETE SIDEWALK (4 ")	100.000 S.F.		
MarCor Construction, Inc.		\$15.0000	\$1,500.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)	6,270.000 S.F.		
MarCor Construction, Inc.	0,210.000 0.1 .	\$40.0000	\$250,800.00
701-02.03 CONCRETE CURB RAMP	200.000 S.F.		
MarCor Construction, Inc.	200.000 S.F.	\$27.0000	\$5,400.00
701-02.06 DETECTABLE WARNING SURFACE (REHABILITATI	ION) 924.000 S.F.		
MarCor Construction, Inc.	924.000 S.F.	\$40.0000	\$36,960.00
712-01 TRAFFIC CONTROL	4 000 1 0		
MarCor Construction, Inc.	1.000 LS	\$53,900.0000	\$53,900.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
MarCor Construction, Inc.	100.000 EACH	\$30.0000	\$3,000.00
712-06 SIGNS (CONSTRUCTION)	0.040.000.0.5		
MarCor Construction, Inc.	2,240.000 S.F.	\$8.0000	\$17,920.00
712-08.03 ARROW BOARD (TYPE C)			
MarCor Construction, Inc.	10.000 EACH	\$2,100.0000	\$21,000.00
717-01 MOBILIZATION	4		
MarCor Construction, Inc.	1.000 LS	\$17,339.0000	\$17,339.00

MarCor Construction, Inc.

TOTAL CONTRACT

MarCor Construction, Inc.

\$407,819.00

DEKALB COUNTY (Contract No. CNW294 Call 020)

21NMSC-S3-002

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc. J & S Construction Company, Inc. TOTAL CONTRACT

\$68,232.78 \$96,831.00

			CONTRACT	CNW294
MAINTE	NANCE CATEGORY	UNIT P	RICE EXT	ENSION
680-02.0 1	BUILDING (40' X 60')			
		1.000 EACH		
	H & H Construction, Inc.	\$3,411.6	\$400 \$3	3,411.64
	J & S Construction Company, Inc.	\$90,331.0)000 \$90	,331.00
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.	\$64,821.2	400 \$64	,821.14
	J & S Construction Company, Inc.	\$6,500.0)000 \$6	6,500.00

SUB-TOTAL MAINTENANCE

H & H Construction, Inc.

J & S Construction Company, Inc.

\$68,232.78 \$96,831.00

TOTAL CONTRACT

H & H Construction, Inc.

J & S Construction Company, Inc.

\$68,232.78 \$96,831.00

DYER COUNTY (Contract No. CNW251 Call 021)

HSIP-2300(45),23945-3482-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$207,526.87 \$254,650.75

		CONTRACT CNW251
ROADWAY CATEGORY	UNIT PRICE	EXTENSION
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT 2,335.000 L.F.		
LU, Inc. Superior Traffic Control, LLC	\$4.1700 \$4.9500	\$9,736.95 \$11,558.25
705-04.24 GUARDRAIL END TERMINAL DELINEATION SHEETING		
4.000 S.F.	* 25 0000	\$ 400.00
LU, Inc. Superior Traffic Control, LLC	\$25.0000 \$50.0000	\$100.00 \$200.00
712-01 TRAFFIC CONTROL		
1.000 LS LU, Inc.	\$1,950.0000	\$1,950.00
Superior Traffic Control, LLC	\$8,500.0000	\$8,500.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT		
497.000 L.F.	¢c.0000	¢0.000.04
LU, Inc. Superior Traffic Control, LLC	\$6.0300 \$7.5000	\$2,996.91 \$3,727.50
713-11.01 "U" SECTION STEEL POSTS		
565.000 LB. LU, Inc.	\$5.6700	\$3,203.55
Superior Traffic Control, LLC	\$7.0000	\$3,955.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
2,421.000 LB. LU, Inc.	\$6.3800	\$15,445.98
Superior Traffic Control, LLC	\$7.0000	\$16,947.00
713-11.21 P POST SLIP BASE		
69.000 EACH		
LU, Inc. Superior Traffic Control, LLC	\$557.1700 \$600.0000	\$38,444.73 \$41,400.00
713-11.22 U POST SLIP BASE		
20.000 EACH	\$054 7000	
LU, Inc. Superior Traffic Control, LLC	\$354.7900 \$425.0000	\$7,095.80 \$8,500.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
303.000 S.F. LU, Inc.	\$14.1900	\$4,299.57
Superior Traffic Control, LLC	\$20.0000	\$6,060.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
468.000 S.F.	\$15.3700	¢7 109 16
LU, Inc. Superior Traffic Control, LLC	\$15.3700 \$22.0000	\$7,193.16 \$10,296.00

				INTRACT CNW251
			UNIT PRICE	EXTENSION
713-15.01	REMOVAL OF EXISTING SIGN POST			
		35.000 EACH		
	LU, Inc.		\$50.0000	\$1,750.00
	Superior Traffic Control, LLC		\$75.0000	\$2,625.00
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		2.000 EACH		
	LU, Inc.		\$100.0000	\$200.00
	Superior Traffic Control, LLC		\$300.0000	\$600.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		137.000 L.F.		
	LU, Inc.		\$18.3600	\$2,515.32
	Superior Traffic Control, LLC		\$24.0000	\$3,288.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		42.998 L.M.		
	LU, Inc.		\$2,550.0000	\$109,644.90
	Superior Traffic Control, LLC		\$3,000.0000	\$128,994.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$2,950.0000	\$2,950.00
	Superior Traffic Control, LLC		\$8,000.0000	\$8,000.00

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$207,526.87 \$254,650.75

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$207,526.87 \$254,650.75

GIBSON COUNTY (Contract No. CNW252 Call 022)

HSIP-2700(62),27946-3418-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 4.00%

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$287,981.37 \$344,944.57

			UNIT PRICE	CONTRACT CNW252 EXTENSION
ROADWA	AY CATEGORY			
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	1.000 EACH		
	LU, Inc. Superior Traffic Control, LLC		\$1,481.0100 \$1,400.0000	\$1,481.01 \$1,400.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
	LU, Inc. Superior Traffic Control, LLC	6,873.000 L.F.	\$3.1600 \$5.0900	\$21,718.68 \$34,983.57
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	LU, Inc. Superior Traffic Control, LLC	63.000 L.F.	\$43.5000 \$48.0000	\$2,740.50 \$3,024.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	LU, Inc. Superior Traffic Control, LLC	1.000 EACH	\$3,835.1800 \$4,350.0000	\$3,835.18 \$4,350.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	LU, Inc. Superior Traffic Control, LLC	1.000 EACH	\$2,417.1900 \$3,350.0000	\$2,417.19 \$3,350.00
706-01	GUARDRAIL REMOVED			
	LU, Inc. Superior Traffic Control, LLC	140.000 L.F.	\$0.5800 \$6.5000	\$81.20 \$910.00
712-01	TRAFFIC CONTROL			
	LU, Inc. Superior Traffic Control, LLC	1.000 LS	\$11,650.0000 \$8,000.0000	\$11,650.00 \$8,000.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
	LU, Inc. Superior Traffic Control, LLC	2.000 EACH	\$50.0000 \$50.0000	\$100.00 \$100.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	LU, Inc. Superior Traffic Control, LLC	1,239.000 L.F.	\$5.8400 \$6.2500	\$7,235.76 \$7,743.75
713-11.01	"U" SECTION STEEL POSTS			
	LU, Inc. Superior Traffic Control, LLC	1,374.000 LB.	\$4.5000 \$6.5000	\$6,183.00 \$8,931.00

				CONTRACT CNW252
			UNIT PRICE	EXTENSION
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		4,861.000 LB.		
	LU, Inc.		\$5.2000	\$25,277.20
	Superior Traffic Control, LLC		\$6.7500	\$32,811.75
713-11.21	P POST SLIP BASE			
		145.000 EACH	¢500.0700	¢76 744 45
	LU, Inc. Superior Traffic Control, LLC		\$529.2700 \$600.0000	\$76,744.15 \$87,000.00
/13-11.22	U POST SLIP BASE	45.000 EACH		
	LU, Inc.		\$350.1600	\$15,757.20
	Superior Traffic Control, LLC		\$425.0000	\$19,125.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		686.000 S.F.		
	LU, Inc. Superior Traffic Control, LLC		\$12.7400 \$18.2500	\$8,739.64 \$12,519.50
			¥10.2000	φ12,010.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	LU, Inc.	872.000 S.F.	\$13.9000	\$12,120.80
	Superior Traffic Control, LLC		\$20.7500	\$18,094.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		79.000 EACH		
	LU, Inc.		\$50.0000	\$3,950.00
	Superior Traffic Control, LLC		\$75.0000	\$5,925.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	LU, Inc.	12.000 S.F.	\$30.3000	\$363.60
	Superior Traffic Control, LLC		\$35.0000	\$420.00
746 05 04	PAINTED PAVEMENT MARKING (4" LINE)			
710-05.01	FAINTED FAVEWENT WARKING (4 LINE)	68.700 L.M.		
	LU, Inc.		\$964.5500	\$66,264.59
	Superior Traffic Control, LLC		\$995.0000	\$68,356.50
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		1,100.000 L.F.		
	LU, Inc. Superior Traffic Control, LLC		\$12.1200 \$15.0000	\$13,332.00 \$16,500.00
_				
716-05.21	PAINTED PAVEMENT MARKING(4"DOTTED LINE)	2,267.000 L.F.		
	LU, Inc.	2,201.000 L.I'.	\$1.0100	\$2,289.67
	Superior Traffic Control, LLC		\$1.5000	\$3,400.50

\$5,700.00

\$8,000.00

UNIT PRICE EXTENSION

717-01 MOBILIZATION

LU, Inc. Superior Traffic Control, LLC 1.000 LS

\$5,700.0000 \$8,000.0000

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$287,981.37 \$344,944.57

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$287,981.37 \$344,944.57

GRAINGER COUNTY (Contract No. CNW262 Call 023)

29001-3233-04

THE INSTALLATION OF SIGNALS ON U.S. 11W (S.R. 1) AT THE INTERSECTION OF S.R. 61/INDIAN RIDGE ROAD (L.M. 1.81) IN BLAINE. PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

Stansell Electric Company, Inc.

TOTAL CONTRACT

\$418,601.75

105-01 CONSTRUCTION STAKES, LINES AND GRADES 1000 LS \$1,660.8100 Stansell Electric Company, Inc. \$1,660.8100 202-01 REMOVAL OF STRUCTURES AND OBSTRUCTIONS Stansell Electric Company, Inc. 1.000 LS Stansell Electric Company, Inc. \$3,836.0300 209-05 SEDIMENT REMOVAL Stansell Electric Company, Inc. \$707.3100 209-06.00 TEMPORARY SILT FENCE (WITHOUT BACKING)
Stansell Electric Company, Inc. \$1,660.8100 \$1,660.810 202-01 REMOVAL OF STRUCTURES AND OBSTRUCTIONS 3,836.0300 \$3,836.030 Stansell Electric Company, Inc. \$3,836.0300 \$3,836.030 209-05 SEDIMENT REMOVAL \$1,000 LS Stansell Electric Company, Inc. \$3,836.0300 \$3,836.030 209-05 SEDIMENT REMOVAL \$707.3100 \$7,073.10 Stansell Electric Company, Inc. \$707.3100 \$7,073.10 209-06.00 TEMPORARY SILT FENCE (WITHOUT BACKING) \$1000 LS
1.000 LS \$3,836.0300 \$3,836.03 209-05 SEDIMENT REMOVAL \$10.000 C.Y. Stansell Electric Company, Inc. \$707.3100 \$7,073.10 209-08.00 TEMPORARY SILT FENCE (WITHOUT BACKING)
Stansell Electric Company, Inc. \$3,836.0300 \$3,836.03 209-05 SEDIMENT REMOVAL 10.000 C.Y. Stansell Electric Company, Inc. \$707.3100 \$7,073.10 209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING) \$707.3100 \$7,073.10
10.000 C.Y. Stansell Electric Company, Inc. \$707.3100 \$7,073.10 209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING) \$707.3100 \$7,073.10
Stansell Electric Company, Inc. \$707.3100 \$7,073.10 209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING) \$707.3100 \$7,073.10
Stansell Electric Company, Inc. \$2.0300 \$324.80
209-09.43 CURB INLET PROTECTION (TYPE 4) 5.000 EACH
Stansell Electric Company, Inc. \$339.0000 \$1,695.00
209-40.41 CATCH BASIN FILTER ASSEMBLY(TYPE 1) 1.000 EACH
Stansell Electric Company, Inc. \$400.6300 \$400.63
712-01 TRAFFIC CONTROL 1.000 LS
Stansell Electric Company, Inc. \$8,621.2900 \$8,621.29
712-04.01 FLEXIBLE DRUMS (CHANNELIZING) 50.000 EACH
Stansell Electric Company, Inc. \$39.4500 \$1,972.50
712-06 SIGNS (CONSTRUCTION) 178.000 S.F.
Stansell Electric Company, Inc. \$8.6300 \$1,536.14
713-14.21 STREET NAME SIGN (RIGID 0.100IN THICK 60.000 S.F.
Stansell Electric Company, Inc. \$45.6900 \$2,741.40
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS 1.000 LS
Stansell Electric Company, Inc. \$986.1700 \$986.17
713-15.07 SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK) 4.000 EACH
Stansell Electric Company, Inc. \$801.4900 \$3,205.96

			UNIT PRICE	EXTENSION
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Stansell Electric Company, Inc.	4.000 EACH	\$8,382.4300	\$33,529.72
713-16.20	SIGNS (M3-4, 24"x12")			
	Stansell Electric Company, Inc.	1.000 EACH	\$39.4500	\$39.45
713-16.21	SIGNS (M5-1R, 21"x15")			
	Stansell Electric Company, Inc.	1.000 EACH	\$43.1400	\$43.14
713-16.22	SIGNS (R3-8, 30"x30")			
	Stansell Electric Company, Inc.	2.000 EACH	\$123.2700	\$246.54
713-16.23	SIGNS (R3-17, 24"x18")			
	Stansell Electric Company, Inc.	2.000 EACH	\$369.8100	\$739.62
713-16.24	SIGNS (TN-6A, 24"x24")			
	Stansell Electric Company, Inc.	1.000 EACH	\$369.8100	\$369.81
713-16.25	SIGNS (W3-3, 30"x30")			
	Stansell Electric Company, Inc.	4.000 EACH	\$431.4500	\$1,725.80
714-04.03	CONDUIT (LIGHTING - 1" RGS)			
	Stansell Electric Company, Inc.	100.000 L.F.	\$23.5800	\$2,358.00
714-05.04	PULL BOXES (TYPE C)			
	Stansell Electric Company, Inc.	3.000 EACH	\$1,038.7600	\$3,116.28
714-08.50	REMOVE WOOD POLE & ROADWAY LUMINARE			
	Stansell Electric Company, Inc.	1.000 EACH	\$1,131.7000	\$1,131.70
714-09.03	LUMINAIRES (250 WATT)			
	Stansell Electric Company, Inc.	2.000 EACH	\$1,481.1600	\$2,962.32
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DI			
	Stansell Electric Company, Inc.	58.000 EACH	\$61.6400	\$3,575.12

			UNIT PRICE	CONTRACT CNW262 EXTENSION
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 C	OLOR)		
	Stansell Electric Company, Inc.	37.000 EACH	\$61.6400	\$2,280.68
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Stansell Electric Company, Inc.	65.000 EACH	\$12.3300	\$801.45
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Stansell Electric Company, Inc.	10.000 S.Y.	\$30.8200	\$308.20
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Stansell Electric Company, Inc.	145.000 L.F.	\$18.4900	\$2,681.05
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Stansell Electric Company, Inc.	5.000 EACH	\$369.8100	\$1,849.05
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	Stansell Electric Company, Inc.	190.000 L.F.	\$2.4700	\$469.30
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Stansell Electric Company, Inc.	305.000 L.F.	\$30.8200	\$9,400.10
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
	Stansell Electric Company, Inc.	400.000 L.F.	\$1.2300	\$492.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Stansell Electric Company, Inc.	2.000 EACH	\$308.1800	\$616.36
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	Stansell Electric Company, Inc.	2.000 EACH	\$369.8100	\$739.62
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)			
	Stansell Electric Company, Inc.	4.000 EACH	\$554.7200	\$2,218.88
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	4 005 1 11		
	Stansell Electric Company, Inc.	1.000 L.M.	\$1,849.0700	\$1,849.07

			UNIT PRICE	EXTENSION
716-05.21	PAINTED PAVEMENT MARKING(4"DOTTED LINE)			
	Stansell Electric Company, Inc.	20.000 L.F.	\$0.3700	\$7.40
716-08.03	REMOVAL OF PAVEMENT MARKING (CROSS-WALK)			
	Stansell Electric Company, Inc.	100.000 L.F.	\$7.4000	\$740.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
	Stansell Electric Company, Inc.	50.000 L.F.	\$7.4000	\$370.00
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)			
	Stansell Electric Company, Inc.	7.000 EACH	\$123.2700	\$862.89
716-08.07	REMOVAL OF PAVEMENT MARKING (STRAIGHT-TURN ARR	2.000 EACH		
	Stansell Electric Company, Inc.	2.000 EACH	\$246.5400	\$493.08
716-08.09	REMOVAL OF PAVEMENT MARKING (DOTTED LINE)	40.000 L.F.		
	Stansell Electric Company, Inc.	40.000 L.F.	\$1.2300	\$49.20
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (ONLY)	2.000 EACH		
	Stansell Electric Company, Inc.		\$154.0900	\$308.18
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)	2.000 L.M.		
	Stansell Electric Company, Inc.	2.000 L.M.	\$4,930.8400	\$9,861.68
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	2.000 L.M.		
	Stansell Electric Company, Inc.	2.000 L.m.	\$8,382.4300	\$16,764.86
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIE			
	Stansell Electric Company, Inc.	400.000 L.F.	\$3.7000	\$1,480.00
717-01	MOBILIZATION			
	Stansell Electric Company, Inc.	1.000 LS	\$2,076.0100	\$2,076.01
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	Stansell Electric Company, Inc.	4.000 EACH	\$1,098.8000	\$4,395.20

CONTRACT CNW262 UNIT PRICE **EXTENSION** 730-02.17 SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE) 4.000 EACH \$1,612.1000 Stansell Electric Company, Inc. \$6,448.40 730-03.21 INSTALL PULL BOX (TYPE B) 4.000 EACH Stansell Electric Company, Inc. \$1.131.4200 \$4.525.68 730-05.01 ELECTRICAL SERVICE CONNECTION 1.000 EACH Stansell Electric Company, Inc. \$3,868.0200 \$3,868.02 730-08.03 SIGNAL CABLE - 7 CONDUCTOR 1,365.000 L.F. Stansell Electric Company, Inc. \$2.1800 \$2,975.70 730-08.04 SIGNAL CABLE - 9 CONDUCTOR 410.000 L.F. \$4.8300 Stansell Electric Company, Inc. \$1,980.30 730-12.02 CONDUIT 2" DIAMETER (PVC) 20.000 L.F. Stansell Electric Company, Inc. \$21.0500 \$421.00 730-12.03 CONDUIT 3" DIAMETER (PVC) 100.000 L.F. \$25.4800 \$2,548.00 Stansell Electric Company, Inc. 730-12.08 CONDUIT 2" DIAMETER (RGS) 30.000 L.F. Stansell Electric Company, Inc. \$37.9200 \$1,137.60 730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE) 350.000 L.F. Stansell Electric Company, Inc. \$45.0600 \$15,771.00 730-12.14 CONDUIT 3" DIAMETER (JACK AND BORE) 350.000 L.F. Stansell Electric Company, Inc. \$45.2500 \$15,837.50 730-13.13 VEHICLE DETECTOR (RADAR) 8.000 EACH Stansell Electric Company, Inc. \$4,530.2400 \$36,241.92 730-15.32 CABINET (EIGHT PHASE BASE MOUNTED) 1.000 EACH Stansell Electric Company, Inc. \$17,456.6200 \$17,456.62

			UNIT PRICE	CONTRACT CNW262 EXTENSION
730-16.04	CONTROLLER (ATC)			
	Stansell Electric Company, Inc.	1.000 EACH	\$5,261.8700	\$5,261.87
730-23.30	PEDESTAL POLE (10' PEDESTAL POLE TYPE A)			
	Stansell Electric Company, Inc.	1.000 EACH	\$3,657.1700	\$3,657.17
730-23.36	CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
	Stansell Electric Company, Inc.	1.000 EACH	\$30,877.6500	\$30,877.65
730-23.37	CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
	Stansell Electric Company, Inc.	1.000 EACH	\$31,924.1000	\$31,924.10
730-23.38	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
	Stansell Electric Company, Inc.	1.000 EACH	\$37,490.7000	\$37,490.70
730-23.39	CANTILEVER SIGNAL SUPPORT (1 ARM @ 65')			
	Stansell Electric Company, Inc.	1.000 EACH	\$42,262.7800	\$42,262.78
730-26.11	COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN			
	Stansell Electric Company, Inc.	8.000 EACH	\$1,586.8000	\$12,694.40
803-01	SODDING (NEW SOD)			
	Stansell Electric Company, Inc.	25.000 S.Y.	\$8.6300	\$215.75

Stansell Electric Company, Inc.

TOTAL CONTRACT

Stansell Electric Company, Inc.

\$418,601.75

HOUSTON COUNTY (Contract No. CNW269 Call 024)

BR-STP-49(48),42002-3213-94

THE CONSTRUCTION OF A CONCRETE BOX BEAM BRIDGE ON S.R. 49 (EAST MAIN STREET) OVER WELLS CREEK (L.M. 5.87) IN ERIN, INCLUDING GRADING, DRAINAGE AND PAVING.

PROJECT LENGTH - 0.168 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2023

DBE GOAL 7.50%

TOTAL CONTRACT

Dement Construction Company, LLC Bell & Associates Construction, LLC \$4,838,194.57 \$5,099,370.08

				CONTRACT CNW269
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
105-01	CONSTRUCTION STARES, LINES AND GRADES	1.000 LS		
	Dement Construction Company, LLC		\$50,000.0000	\$50,000.00
	Bell & Associates Construction, LLC		\$60,934.2900	\$60,934.29
109-10.01	TRAINEE			
		1,180.000 HOUR		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$0.8000 \$0.9900	\$944.00 \$1,168.20
	Bell & Associates Construction, LLC		\$0.9900	φ1,100.20
201-01	CLEARING AND GRUBBING			
	Demont Construction Company, U.C.	1.000 LS	¢100.000.0000	¢100.000.00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$100,000.0000 \$88,313.0000	\$100,000.00 \$88,313.00
202-01.13	REMOVAL OF PIPE (18" CMP, STA. 64+52.08)			
	Dement Construction Company, LLC	42.000 L.F.	\$20.0000	\$840.00
	Bell & Associates Construction, LLC		\$81.1600	\$3,408.72
202 01 14	REMOVAL OF PIPE (18" CMP, STA. 65+48.06)			
202-01.14	REMOVAL OF FIFE (16 CMF, STA. 03+40.00)	40.000 L.F.		
	Dement Construction Company, LLC		\$20.0000	\$800.00
	Bell & Associates Construction, LLC		\$85.2200	\$3,408.80
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		514.000 C.Y.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$20.0000 \$40.9900	\$10,280.00 \$21,068.86
	Bell & Associates Construction, LLC		\$40.9900	φ21,000.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
	Demont Construction Company, U.C.	1,620.000 TON	\$ 50,0000	¢04.000.00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$50.0000 \$43.7600	\$81,000.00 \$70,891.20
203-03	BORROW EXCAVATION (UNCLASSIFIED)	536.000 C.Y.		
	Dement Construction Company, LLC	550.000 C.T.	\$20.0000	\$10,720.00
	Bell & Associates Construction, LLC		\$55.8500	\$29,935.60
203-04	PLACING AND SPREADING TOPSOIL			
		165.000 C.Y.		
	Dement Construction Company, LLC		\$15.0000	\$2,475.00
	Bell & Associates Construction, LLC		\$34.4100	\$5,677.65
203-06	WATER			
		32.000 M.G.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$10.0000 \$18.5900	\$320.00 \$594.88
	Den a Associates Construction, LLC		ψ10.0300	ψυσ4.00

			UNIT PRICE	EXTENSION
203-50	CONSTRUCTION OF HAUL ROAD			
		1.000 LS		
	Dement Construction Company, LLC		\$446,000.0000	\$446,000.00
	Bell & Associates Construction, LLC		\$392,109.4100	\$392,109.41
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.400 L.M.		
	Dement Construction Company, LLC		\$1,000.0000	\$400.00
	Bell & Associates Construction, LLC		\$6,198.2500	\$2,479.30
200.05				
209-05	SEDIMENT REMOVAL			
		27.000 C.Y.	#F0 0000	\$4.050.00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$50.0000 \$56.2100	\$1,350.00 \$1,517.67
	Beil & Associates Constituction, ELC		φ 30.2 100	\$1,517.07
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		838.000 L.F.		
	Dement Construction Company, LLC	000.000 E.I .	\$5.2500	\$4,399.50
	Bell & Associates Construction, LLC		\$6.5100	\$5,455.38
209-08.08	ENHANCED ROCK CHECK DAM			
		6.000 EACH		
	Dement Construction Company, LLC		\$1,000.0000	\$6,000.00
	Bell & Associates Construction, LLC		\$1,839.5800	\$11,037.48
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		3.000 EACH		
	Dement Construction Company, LLC		\$150.0000	\$450.00
	Bell & Associates Construction, LLC		\$185.9500	\$557.85
209-40 33	CATCH BASIN PROTECTION (TYPE D)			
200 40.00		1.000 EACH		
	Dement Construction Company, LLC	1.000 LACIT	\$250.0000	\$250.00
	Bell & Associates Construction, LLC		\$309.9200	\$309.92
			·	
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		1.000 EACH		
	Dement Construction Company, LLC		\$500.0000	\$500.00
	Bell & Associates Construction, LLC		\$1,232.7800	\$1,232.78
209-65.04	TEMPORARY IN STREAM DIVERSION			
		143.000 L.F.		
	Dement Construction Company, LLC		\$50.0000	\$7,150.00
	Bell & Associates Construction, LLC		\$258.1800	\$36,919.74
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
505-01		1,210.000 TON		
	Dement Construction Company, LLC		\$43.0000	\$52,030.00
	Bell & Associates Construction, LLC		\$34.9900	\$32,030.00 \$42,337.90
			<i>40 110000</i>	÷ 12,001.00

			CC	ONTRACT CNW26
			UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		847.000 TON		
	Dement Construction Company, LLC		\$60.0000	\$50,820.00
	Bell & Associates Construction, LLC		\$44.5000	\$37,691.50
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	G A		
		349.000 TON		
	Dement Construction Company, LLC		\$179.0000	\$62,471.00
	Bell & Associates Construction, LLC		\$221.9000	\$77,443.10
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADIN	G B-M2		
		229.000 TON		
	Dement Construction Company, LLC		\$186.0000	\$42,594.00
	Bell & Associates Construction, LLC		\$230.5700	\$52,800.53
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		2.800 TON		
	Dement Construction Company, LLC		\$950.0000	\$2,660.00
	Bell & Associates Construction, LLC		\$1,177.6700	\$3,297.48
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		10.100 TON		
	Dement Construction Company, LLC		\$60.0000	\$606.00
	Bell & Associates Construction, LLC		\$74.3800	\$751.24
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.400 TON		
	Dement Construction Company, LLC		\$950.0000	\$2,280.00
	Bell & Associates Construction, LLC		\$1,177.6600	\$2,826.38
411-02.10	ACS MIX(PG70-22) GRADING D			
		503.000 TON		
	Dement Construction Company, LLC		\$205.0000	\$103,115.00
	Bell & Associates Construction, LLC		\$254.1300	\$127,827.39
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		85.000 TON		
	Dement Construction Company, LLC		\$165.0000	\$14,025.00
	Bell & Associates Construction, LLC		\$179.7500	\$15,278.75
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)			
		266.000 L.F.		
	Dement Construction Company, LLC		\$70.0000	\$18,620.00
	Bell & Associates Construction, LLC		\$170.7100	\$45,408.86
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)			
		127.000 L.F.		
	Dement Construction Company, LLC		\$85.0000	\$10,795.00
	Bell & Associates Construction, LLC		\$336.5900	\$42,746.93

				INTRACT CNW26
			UNIT PRICE	EXTENSION
611-01.03	MANHOLES, > 8' - 12' DEPTH			
		1.000 EACH		
	Dement Construction Company, LLC		\$8,000.0000	\$8,000.00
	Bell & Associates Construction, LLC		\$9,046.5700	\$9,046.57
611-07.31	18IN ENDWALL (SIDE DRAIN)			
		1.000 EACH		
	Dement Construction Company, LLC		\$2,000.0000	\$2,000.00
	Bell & Associates Construction, LLC		\$6,722.5300	\$6,722.53
611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
		1.000 EACH		
	Dement Construction Company, LLC		\$3,000.0000	\$3,000.00
	Bell & Associates Construction, LLC		\$4,990.3200	\$4,990.32
611-38.01	CATCH BASINS, TYPE 38, 0' - 4' DEPTH			
		1.000 EACH		
	Dement Construction Company, LLC		\$4,500.0000	\$4,500.00
	Bell & Associates Construction, LLC		\$8,168.4700	\$8,168.47
620-05.10	CONCRETE PARAPET CURVED WALL (<=TO 40MPH)			
		24.000 L.F.		
	Dement Construction Company, LLC		\$650.0000	\$15,600.00
	Bell & Associates Construction, LLC		\$362.6800	\$8,704.32
621-03.02	2 18" TEMPORARY DRAINAGE PIPE			
		50.000 L.F.		
	Dement Construction Company, LLC		\$70.0000	\$3,500.00
	Bell & Associates Construction, LLC		\$103.7300	\$5,186.50
702-03	CONCRETE COMBINED CURB & GUTTER			
		43.000 C.Y.		
	Dement Construction Company, LLC	40.000 0.11	\$600.0000	\$25,800.00
	Bell & Associates Construction, LLC		\$1,115.6800	\$47,974.24
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		182.000 L.F.		
	Dement Construction Company, LLC		\$38.5000	\$7,007.00
	Bell & Associates Construction, LLC		\$47.7300	\$8,686.86
705 06 44	GR TERMINAL (IN-INLINE) MASH TL-3			
705-00.11	GR TERMINAE (IN-INEINE) MAGTITE-5	1.000 EACH		
	Dement Construction Company, LLC		\$1,010.0000	\$1,010.00
	Bell & Associates Construction, LLC		\$1,252.0400	\$1,252.04
705-06.20) TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Dement Construction Company, LLC		\$3,600.0000	\$7,200.00
	Bell & Associates Construction, LLC		\$4,462.7400	\$8,925.48

			UNIT PRICE	EXTENSION
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		3.000 EACH		
	Dement Construction Company, LLC		\$3,200.0000	\$9,600.00
	Bell & Associates Construction, LLC		\$3,966.8800	\$11,900.64
			ψ0,000.0000	φ11,000.0 1
705-08.11	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Dement Construction Company, LLC		\$9,500.0000	\$19,000.00
	Bell & Associates Construction, LLC		\$11,776.6600	\$23,553.32
706-01	GUARDRAIL REMOVED			
700-01		340.000 L.F.		
	Demant Construction Commence 11.0	340.000 L.F.	#F 0000	¢4 700 00
	Dement Construction Company, LLC		\$5.0000	\$1,700.00
	Bell & Associates Construction, LLC		\$1.3000	\$442.00
706-10.26	ROUNDED END ELEMENT			
		1.000 EACH		
	Dement Construction Company, LLC		\$450.0000	\$450.00
	Bell & Associates Construction, LLC		\$557.8400	\$557.84
	· · · · · · · · · · · · · · · · · · ·		· · · · · ·	•
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		115.000 L.F.		
	Dement Construction Company, LLC		\$2.0000	\$230.00
	Bell & Associates Construction, LLC		\$2.4800	\$285.20
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		50.000 TON	A	*
	Dement Construction Company, LLC		\$70.0000	\$3,500.00
	Bell & Associates Construction, LLC		\$58.5600	\$2,928.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		124.000 TON		
	Dement Construction Company, LLC		\$50.0000	\$6,200.00
	Bell & Associates Construction, LLC		\$58.5400	\$7,258.96
709-05.08	MACHINED RIP-RAP (CLASS B)			
		705.000 TON		
	Dement Construction Company, LLC		\$50.0000	\$35,250.00
	Bell & Associates Construction, LLC		\$58.5400	\$41,270.70
740.04				
712-01	TRAFFIC CONTROL	4 000 1 0		
	Demant Construction Commence 11.0	1.000 LS	#5 0,000,0000	
	Dement Construction Company, LLC		\$50,000.0000	\$50,000.00
	Bell & Associates Construction, LLC		\$12,231.5400	\$12,231.54
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		650.000 L.F.		
	Dement Construction Company, LLC		\$75.0000	\$48,750.00
	Bell & Associates Construction, LLC		\$36.0600	\$23,439.00
	,			

				INTRACT CINW203
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Dement Construction Company, LLC		\$38.0000	\$950.00
	Bell & Associates Construction, LLC		\$47.1100	\$1,177.75
	Dell & Associates Construction, LLC		\$47.1100	φ1,177.75
712-04.50	BARRIER RAIL DELINEATOR			
		19.000 EACH		
	Dement Construction Company, LLC		\$15.0000	\$285.00
	Bell & Associates Construction, LLC		\$18.5900	\$353.21
712-05.01	WARNING LIGHTS (TYPE A)			
		12.000 EACH		
		12.000 EACH	¢ 40,0000	¢ 400.00
	Dement Construction Company, LLC		\$40.0000	\$480.00
	Bell & Associates Construction, LLC		\$49.5900	\$595.08
712-06	SIGNS (CONSTRUCTION)			
		890.000 S.F.		
	Dement Construction Company, LLC		\$7.2500	\$6,452.50
	Bell & Associates Construction, LLC		\$8.9900	\$8,001.10
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		140.000 L.F.		
	Demont Construction Company, LLC	140.000 E.I .	¢4.4.0000	¢1.000.00
	Dement Construction Company, LLC		\$14.0000	\$1,960.00
	Bell & Associates Construction, LLC		\$17.3600	\$2,430.40
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR			
		3.000 EACH		
	Dement Construction Company, LLC		\$15.0000	\$45.00
	Bell & Associates Construction, LLC		\$18.5900	\$55.77
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		5.000 EACH		
	Dement Construction Company, LLC	S.000 EACH	\$9,000.0000	\$45,000.00
	Bell & Associates Construction, LLC		\$11,156.8300	\$55,784.15
			φ11,100.0000	φ 33 ,70 4 .13
713-16.90	RESET GROUND MOUNTED SIGN			
		14.000 EACH		
	Dement Construction Company, LLC		\$100.0000	\$1,400.00
	Bell & Associates Construction, LLC		\$123.9700	\$1,735.58
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
		37.000 EACH		
	Dement Construction Company, LLC		\$100.0000	\$3,700.00
	Bell & Associates Construction, LLC		\$123.9600	\$4,586.52
716-01-30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MAR	KER		
		37.000 EACH		
	Dement Construction Company, LLC		\$20.0000	\$740.00
	Bell & Associates Construction, LLC		\$24.7900	\$917.23
			Ψ2 1.7 000	ψυτη.20

				CONTRACT CNW269
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPI	NG)		
		15.000 S.Y.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$75.0000 \$92.9700	\$1,125.00 \$1,394.55
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		13.000 L.F.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$25.0000 \$30.9900	\$325.00 \$402.87
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDEI	र)		
		250.000 L.F.		
	Dement Construction Company, LLC		\$15.0000	\$3,750.00
	Bell & Associates Construction, LLC		\$18.5900	\$4,647.50
716-05.04	PAINTED PAVEMENT MARKING (CHANNELIZATION STRIP	ING)		
		15.000 S.Y.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$35.0000 \$43.3900	\$525.00 \$650.85
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		0.800 L.M.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$6,000.0000 \$7,437.8900	\$4,800.00 \$5,950.31
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		0.800 L.M.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$15,000.0000 \$18,594.7300	\$12,000.00 \$14,875.78
717-01	MOBILIZATION			
		1.000 LS		
	Dement Construction Company, LLC		\$200,000.0000	\$200,000.00
	Bell & Associates Construction, LLC		\$252,418.8100	\$252,418.81
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
		1,427.000 S.Y.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$5.0000 \$3.8900	\$7,135.00 \$5,551.03
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		342.000 S.Y.		
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$5.0000 \$3.5200	\$1,710.00 \$1,203.84
			ψ3.3200	ψ1,200.04
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)	4 400 000 0 14		
	Doment Construction Company, LLC	1,428.000 S.Y.	¢5 0000	¢7 140 00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$5.0000 \$2.5400	\$7,140.00 \$3,627.12

T40-11.02 TEMPORARY SEDIMENT TUBE 12IN EXTENSION Dement Construction Company, LLC 870.000 L.F. \$3,5000 \$3,045.00 Bell & Associates Construction, LLC \$3,000 UNIT \$3,000 \$3,045.00 Boll & Associates Construction, LLC \$3,000 UNIT \$3,775.80 \$3,045.00 Boll & Associates Construction, LLC \$20,000 UNIT \$300.0000 \$4,000.00 Dement Construction Company, LLC \$200.0000 \$247.9300 \$4,000.00 Bell & Associates Construction, LLC \$200.0000 \$247.9300 \$4,000.00 Bell & Associates Construction, LLC \$200.0000 \$247.9300 \$2,310.00 Bell & Associates Construction, LLC \$300.0000 \$2,310.00 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$3,600.00 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$3,600.00 \$3,871.8900 \$3,600.00 Dement Construction Company, LLC Bell & Associates Construction, LLC \$300.0000 \$3,871.8900 \$3,600.00 Boll & Associates Construction, LLC \$300.0000 \$3,1500				CONTRACT CNW269
Bernent Construction Company, LLC \$70.000 L.F. \$3.5000 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,075.80 \$3,010.00 \$3,3775.80 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,600.00 \$3,775.80 \$3,600.00 \$3,775.80 \$3,600.00 \$3,71.8900 \$3,400.00 \$3,71.8900 \$3,400.00 \$3,71.8900 \$3,400.00			UNIT PRICE	EXTENSION
Bernent Construction Company, LLC \$70.000 L.F. \$3.5000 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,045.00 \$3,3775.80 \$3,075.80 \$3,010.00 \$3,3775.80 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,400.00 \$3,775.80 \$3,600.00 \$3,775.80 \$3,600.00 \$3,775.80 \$3,600.00 \$3,71.8900 \$3,400.00 \$3,71.8900 \$3,400.00 \$3,71.8900 \$3,400.00				
Dement Construction Company, LLC Bell & Associates Construction, LLC \$3,000 \$4,3400 \$3,045.00 \$4,3400 801-01.07 TEMPORARY SEEDING (WITH MULCH) 20.000 UNIT Dement Construction Company, LLC Bell & Associates Construction, LLC \$200.0000 \$247.9300 \$4,000.00 \$247.9300 801-01.37 GRASS SEED MIX (RIPZN/FLPL) \$200.0000 \$247.9300 \$4,000.00 \$247.9300 801-02.01 GRASS SEED MIX (RIPZN/FLPL) \$300.0000 \$2371.8900 \$2,310.00 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$2,863.55 \$2,300.0000 \$3,600.000 \$371.8900 \$3,600.00 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$300.0000 \$4,462.68 \$3,600.000 \$371.8900 \$3,600.000 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$300.0000 \$371.8900 \$3,600.000 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$300.0000 \$371.8900 \$3,600.000 \$4,462.68 801-04 Bell & Associates Construction, LLC \$300.0000 \$371.8900 \$4,860.000 \$4,860.000 \$185.9500 805-12.02 EROSION CONTROL BLANKET (TYPE II) \$400.000 S.Y. \$1,2500 \$500.00 Bernet Construction Company, LLC \$1,2500 \$1,2500 \$500	740-11.02 TEMPORARY SEDIMENT TUBE 12IN			
Bell & Associates Construction, LLC \$4.3400 \$3,775.80 801-01.07 TEMPORARY SEEDING (WITH MULCH) 20.000 UNIT \$200.0000 \$40,000.00 Dement Construction Company, LLC Bell & Associates Construction, LLC \$20,000 UNIT \$20,000 UNIT Bell & Associates Construction, LLC \$20,000 UNIT \$20,000 UNIT \$20,000 \$247,9300 \$4,000.00 801-01.34 GRASS SEED MIX (RIPZN/FLPL) 7.700 UNIT \$300,0000 \$2,310.00 Bell & Associates Construction, LLC 7.700 UNIT \$300,0000 \$2,310.00 Bell & Associates Construction, LLC 7.700 UNIT \$300,0000 \$2,363.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300,0000 \$371.8900 \$2,462.68 801-03 WATER (SEEDING & SODDING) \$300.0000 \$371.8900 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$150.0000 \$480.00 \$185.9500 \$480.00 Bell & Associates Construction, LLC Bell & Associates Construction, LLC \$150.0000 \$480.00 \$185.9500 \$595.04 805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. \$1.2500 \$500.00		870.000 L.F.	Aa a a a a	
801-01.07 TEMPORARY SEEDING (WITH MULCH) Dement Construction Company, LLC \$20.000 UNIT Bell & Associates Construction, LLC \$200.0000 801-01.34 GRASS SEED MIX (RIPZN/FLPL) Dement Construction Company, LLC 7.700 UNIT Bell & Associates Construction, LLC \$300.0000 801-01.34 GRASS SEED MIX (RIPZN/FLPL) Dement Construction Company, LLC \$300.0000 Bell & Associates Construction, LLC \$300.0000 Dement Construction Company, LLC \$300.0000 Bell & Associates Construction, LLC \$300.0000 Bell & Associates Construction, LLC \$300.0000 Bell & Associates Construction, LLC \$150.0000 Bell & Associates Construction, LLC \$480.00 Bell & Associates Construction, LLC \$480.00 Bell & Associates Construction, LLC \$150.0000 Bell & Associates Construction, LLC \$185.9500 Bell & Associates Construction, LLC \$4			+	
Dement Construction Company, LLC 20.000 UNIT Bell & Associates Construction, LLC \$200.0000 \$4,000.00 801-01.34 GRASS SEED MIX (RIPZN/FLPL) 7.700 UNIT \$300.0000 \$2,310.00 Dement Construction Company, LLC Bell & Associates Construction, LLC \$300.0000 \$2,310.00 \$2,310.00 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$2,360.00 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$3,600.00 \$3,600.00 Bell & Associates Construction, LLC 12.000 UNIT \$300.0000 \$3,600.00 \$4,462.68 801-02 Dement Construction Company, LLC \$300.0000 \$3,600.00 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$300.0000 \$4,462.68 \$300.0000 \$4,462.68 801-03 Dement Construction Company, LLC \$300.0000 \$4,600.00 \$595.04 \$595.04 805-12.02 EROSION CONTROL BLANKET (TYPE II) ¥00.000 S.Y. \$1.2500 \$500.00	Beil & Associates Construction, LLC		φ 4.3400	\$ 3,775.80
Dement Construction Company, LLC \$200.000 \$4,000.00 Bell & Associates Construction, LLC \$247.9300 \$4,958.60 801-01.34 GRASS SEED MIX (RIPZN/FLPL) 7.700 UNIT 5300.0000 \$2,310.00 Dement Construction Company, LLC \$300.0000 \$2,300.000 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$150.0000 \$44.02.68 805-12.02 EROSION CONTROL BLANKET (TYPE II) \$10.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00	801-01.07 TEMPORARY SEEDING (WITH MULCH)			
Bell & Associates Construction, LLC \$247.9300 \$4,958.60 801-01.34 GRASS SEED MIX (RIPZN/FLPL) 7.700 UNIT 5300.0000 \$2,310.00 Bell & Associates Construction Company, LLC \$300.0000 \$2,310.00 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.000 \$4,462.68 801-03 WATER (SEEDING & SODDING) \$400.00 \$150.0000 \$480.00 Bell & Associates Construction, LLC \$200 M.G. \$150.0000 \$480.00 \$595.04 805-12.02 EROSION CONTROL BLANKET (TYPE II) \$400.000 S.Y. \$12.500 \$500.00		20.000 UNIT		
801-01.34 GRASS SEED MIX (RIPZN/FLPL) 7.700 UNIT Dement Construction Company, LLC \$300.0000 \$2,310.00 Bell & Associates Construction, LLC \$300.0000 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) 12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$150.0000 \$4480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.000 \$480.00 Dement Construction Company, LLC \$150.000 \$150.000	Dement Construction Company, LLC		\$200.0000	\$4,000.00
7.700 UNIT Dement Construction Company, LLC \$300.0000 \$2,310.00 Bell & Associates Construction, LLC \$371.8900 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) 12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$4,462.68 801-03 WATER (SEEDING & SODDING) 3.200 M.G. \$480.00 Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 So5-12.02 EROSION CONTROL BLANKET (TYPE II) \$12.000 S.Y. Dement Construction Company, LLC \$12.500 \$500.00	Bell & Associates Construction, LLC		\$247.9300	\$4,958.60
7.700 UNIT Dement Construction Company, LLC \$300.0000 \$2,310.00 Bell & Associates Construction, LLC \$371.8900 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) 12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$4,462.68 801-03 WATER (SEEDING & SODDING) 3.200 M.G. \$480.00 Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 So5-12.02 EROSION CONTROL BLANKET (TYPE II) \$12.000 S.Y. Dement Construction Company, LLC \$12.500 \$500.00	801-01.34 GRASS SEED MIX (RIPZN/FLPL)			
Bell & Associates Construction, LLC \$371.8900 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) 12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$4,462.68 Bol-03 WATER (SEEDING & SODDING) 3.200 M.G. 2.000 M.G. Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$155.0000 \$480.00 805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. 5595.04 Dement Construction Company, LLC \$1.2500 \$500.00		7.700 UNIT		
Bell & Associates Construction, LLC \$371.8900 \$2,863.55 801-02.01 CROWN VETCH MIXTURE (WITHOUT MULCH) 12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$4,462.68 Bol-03 WATER (SEEDING & SODDING) 3.200 M.G. 2.000 M.G. Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$155.0000 \$480.00 805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. 5595.04 Dement Construction Company, LLC \$1.2500 \$500.00	Dement Construction Company, LLC		\$300.0000	\$2,310.00
12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$300.0000 \$3,600.00 801-03 WATER (SEEDING & SODDING) 3.200 M.G. Dement Construction Company, LLC 3.200 M.G. \$44,462.68 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$595.04 Bos-12.02 EROSION CONTROL BLANKET (TYPE II) \$1.2500 \$500.00				
12.000 UNIT Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$371.8900 \$4,462.68 801-03 WATER (SEEDING & SODDING) 3.200 M.G. Dement Construction Company, LLC 3.200 M.G. \$480.00 Bell & Associates Construction, LLC \$150.0000 \$595.04 Bos-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. \$1.2500 Dement Construction Company, LLC \$1.2500 \$500.00				
Dement Construction Company, LLC \$300.0000 \$3,600.00 Bell & Associates Construction, LLC \$371.8900 \$4,462.68 801-03 WATER (SEEDING & SODDING) 3.200 M.G. Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$595.04 Bos-12.02 EROSION CONTROL BLANKET (TYPE II) \$100.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00		12 000 UNIT		
Bell & Associates Construction, LLC \$371.8900 \$4,462.68 801-03 WATER (SEEDING & SODDING) 3.200 M.G. 5.200 M.G. Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$150.0000 \$480.00 805-12.02 EROSION CONTROL BLANKET (TYPE II) \$100.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00	Dement Construction Company, LLC	12.000 0111	\$300,0000	\$3,600,00
801-03 WATER (SEEDING & SODDING) 3.200 M.G. Dement Construction Company, LLC Dement Construction, LLC \$150.0000 \$480.00 805-12.02 EROSION CONTROL BLANKET (TYPE II) \$185.9500 \$595.04 400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00				
3.200 M.G. Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$185.9500 \$595.04 805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. Dement Construction Company, LLC \$1.2500			·	. ,
Dement Construction Company, LLC \$150.0000 \$480.00 Bell & Associates Construction, LLC \$185.9500 \$595.04 400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00	801-03 WATER (SEEDING & SODDING)			
Bell & Associates Construction, LLC \$185.9500 \$595.04 805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. 400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00		3.200 M.G.		
805-12.02 EROSION CONTROL BLANKET (TYPE II) 400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00			\$150.0000	\$480.00
400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00	Bell & Associates Construction, LLC		\$185.9500	\$595.04
400.000 S.Y. Dement Construction Company, LLC \$1.2500 \$500.00	805-12.02 EROSION CONTROL BLANKET (TYPE II)			
Dement Construction Company, LLC \$1.2500 \$500.00	. ,	400.000 S.Y.		
	Dement Construction Company, LLC		\$1.2500	\$500.00
			\$1.5500	\$620.00

CONTRACT CNW269 UNIT PRICE **EXTENSION BRIDGE CATEGORY** 202-01.02 REMOVAL OF ASBESTOS 1.000 LS \$5.000.0000 \$5,000.00 Dement Construction Company, LLC Bell & Associates Construction, LLC \$8,057.7200 \$8,057.72 202-04.01 REMOVAL OF STRUCTURES (EX. BR. NO. 42-SR049-05.87) 1.000 LS Dement Construction Company, LLC \$250,000.0000 \$250,000.00 Bell & Associates Construction, LLC \$253,169.3400 \$253,169.34 204-02.01 DRY EXCAVATION (BRIDGES) 130.000 C.Y. Dement Construction Company, LLC \$30.0000 \$3,900.00 Bell & Associates Construction, LLC \$36.0400 \$4,685.20 303-01.02 GRANULAR BACKFILL (BRIDGES) 62.000 TON Dement Construction Company, LLC \$50.0000 \$3,100.00 Bell & Associates Construction, LLC \$63.9600 \$3,965.52 604-02.03 EPOXY COATED REINFORCING STEEL 21,770.000 LB. Dement Construction Company, LLC \$1.9000 \$41,363.00 Bell & Associates Construction, LLC \$2.2300 \$48,547.10 604-03.01 CLASS A CONCRETE (BRIDGES) 54.000 C.Y. Dement Construction Company, LLC \$3,000.0000 \$162,000.00 Bell & Associates Construction, LLC \$943.2400 \$50,934.96 604-03.02 STEEL BAR REINFORCEMENT (BRIDGES) 8,677.000 LB. \$1.7700 Dement Construction Company, LLC \$15,358.29 Bell & Associates Construction, LLC \$2.1500 \$18,655.55 604-03.09 CLASS D CONCRETE (BRIDGE DECK) 58.000 C.Y. Dement Construction Company, LLC \$3,000.0000 \$174,000.00 Bell & Associates Construction, LLC \$1,101.1500 \$63,866.70 604-03.74 CLASS X CONCRETE 47.000 C.Y. Dement Construction Company, LLC \$4,000.0000 \$188,000.00 Bell & Associates Construction, LLC \$2,289.8600 \$107,623.42 604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURES) 1,172.000 S.Y. Dement Construction Company, LLC \$11.9900 \$14,052.28

Bell & Associates Construction, LLC

\$11.0900

EXTENSION

UNIT PRICE

604-04 41	THREE STAR STATE EMBLEM	
004-04.41		

604-04.41	THREE STAR STATE EMBLEM			
		4.000 EACH		
	Dement Construction Company, LLC		\$1,500.0000	\$6,000.00
	Bell & Associates Construction, LLC		\$4,173.4800	\$16,693.92
604-10.39	PRECAST REINFORCED CONCRETE UNITS	/		
	Demonst Operational Second and LLO	1,230.000 S.F.	¢400.0000	¢ 400,000,00
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$400.0000 \$194.3900	\$492,000.00 \$239,099.70
			φ104.0000	φ200,000.70
606-02.03	STEEL PILES (10 INCH)			
		540.000 L.F.		
	Dement Construction Company, LLC		\$100.0000	\$54,000.00
	Bell & Associates Construction, LLC		\$95.4400	\$51,537.60
606-02.06	PILE TIPS (STEEL PILES, 10 INCH)			
		16.000 EACH	A 400 0000	* • •••
	Dement Construction Company, LLC Bell & Associates Construction, LLC		\$400.0000 \$248.7200	\$6,400.00 \$3,979.52
	Dell & Associates Construction, LLC		φ240.7200	\$3,979.52
606-20.03	STEEL PIPE PILES (18-INCH)			
		564.000 L.F.		
	Dement Construction Company, LLC		\$150.0000	\$84,600.00
	Bell & Associates Construction, LLC		\$362.0000	\$204,168.00
606-20.06	PILE TIPS (STEEL PIPE PILES, 18-INCH)			
		14.000 EACH		
	Dement Construction Company, LLC		\$1,000.0000	\$14,000.00
	Bell & Associates Construction, LLC		\$2,419.1900	\$33,868.66
615-02 37	PRESTRESSED CONCRETE BOX BEAM (30" X 36")			
010 02.07		1,028.000 L.F.		
	Dement Construction Company, LLC	1,020.000 2.11	\$400.0000	\$411,200.00
	Bell & Associates Construction, LLC		\$637.0100	\$654,846.28
615-04.03	PRECAST DECK PANEL (5,000 PSI)			
		201.000 C.Y.		
	Dement Construction Company, LLC		\$2,500.0000	\$502,500.00
	Bell & Associates Construction, LLC		\$4,221.4100	\$848,503.41
615-04 10	NON-SHRINK GROUT			
015-04.10	NON-SHRINK GROUT	134.000 C.F.		
	Dement Construction Company, LLC	134.000 C.F.	\$215.0000	\$28,810.00
	Bell & Associates Construction, LLC		\$271.6800	\$36,405.12
615-04.11	EPOXY GROUT			
		8.000 C.F.		
	Dement Construction Company, LLC		\$850.0000	\$6,800.00
	Bell & Associates Construction, LLC		\$892.4800	\$7,139.84

				NIRACI CNW209
			UNIT PRICE	EXTENSION
615-04.30	PRECAST BRIDGE ABUTMENT WALL			
		32.000 C.Y.		
	Dement Construction Company, LLC		\$8,000.0000	\$256,000.00
	Bell & Associates Construction, LLC		\$3,098.4200	\$99,149.44
615-04.40	PRECAST BRIDGE CAP BEAM			
		36.000 C.Y.		
	Dement Construction Company, LLC		\$8,000.0000	\$288,000.00
	Bell & Associates Construction, LLC		\$8,534.0000	\$307,224.00
617-01	BRIDGE DECK SEALANT			
		1,184.000 S.Y.		
	Dement Construction Company, LLC		\$50.0000	\$59,200.00
	Bell & Associates Construction, LLC		\$69.2800	\$82,027.52
620-06	CONCRETE RAILING			
		471.000 L.F.		
	Dement Construction Company, LLC		\$200.0000	\$94,200.00
	Bell & Associates Construction, LLC		\$230.2100	\$108,428.91
625-02.40	DRILLED SHAFT (SH-SCC) CONCRETE			
		33.000 C.Y.		
	Dement Construction Company, LLC		\$650.0000	\$21,450.00
	Bell & Associates Construction, LLC		\$692.7500	\$22,860.75
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM			
		126.000 L.F.		
	Dement Construction Company, LLC		\$50.0000	\$6,300.00
	Bell & Associates Construction, LLC		\$62.0600	\$7,819.56
710-09.02	6" PIPE UNDERDRAIN			
		26.000 L.F.		
	Dement Construction Company, LLC		\$12.0000	\$312.00
	Bell & Associates Construction, LLC		\$20.1700	\$524.42

SUB-TOTAL ROADWAY

Dement Construction Company, LLC	\$1,649,649.00
Bell & Associates Construction, LLC	\$1,802,590.44
SUB-TOTAL BRIDGE	
Dement Construction Company, LLC	\$3,188,545.57
Bell & Associates Construction, LLC	\$3,296,779.64

TOTAL CONTRACT

Dement Construction Company, LLC	\$4,838,194.57
Bell & Associates Construction, LLC	\$5,099,370.08

JACKSON COUNTY (Contract No. CNW287 Call 025)

44NMSC-S3-003

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc. J & S Construction Company, Inc. TOTAL CONTRACT

\$52,709.65 \$69,527.00

				CONTRACT CNW287
			UNIT PRICE	EXTENSION
MAINTE	NANCE CATEGORY			
COO 02 04				
680-02.01	BUILDING (40' X 40')			
		1.000 EACH		
	H & H Construction, Inc.		\$2,635.4800	\$2,635.48
	J & S Construction Company, Inc.		\$63,027.0000	\$63,027.00
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.		\$50,074.1700	\$50,074.17
	J & S Construction Company, Inc.		\$6,500.0000	\$6,500.00

SUB-TOTAL MAINTENANCE

H & H Construction, Inc.

J & S Construction Company, Inc.

\$52,709.65 \$69,527.00

TOTAL CONTRACT

H & H Construction, Inc.

J & S Construction Company, Inc.

\$52,709.65 \$69,527.00

COUNTIES JEFFERSON, SEVIER, SULLIVAN, AND WASHINGTON (Contract No. CNW295 Call 026)

HSIP-REG1(211),R1SVAR-F3-014

THE ADA CURB RAMP UPGRADES ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 7.00%

Whaley Construction, LLC Southern Constructors, Inc.

TOTAL CONTRACT

\$565,296.00 \$987,945.00

			CONTRACT CNW295
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
701-01.02 CONCRETE SIDEWALK (6 ")	155.000 S.F.		
Whaley Construction, LLC	155.000 S.F.	\$25.0000	\$3,875.00
Southern Constructors, Inc.		\$35.0000	\$5,425.00
701-02.01 CONCRETE CURB RAMP (RET	9,421.000 S.F.		
Whaley Construction, LLC	9,421.000 3 .F.	\$38.0000	\$357,998.00
Southern Constructors, Inc.		\$50.0000	\$471,050.00
701-02.03 CONCRETE CURB RAMP	/		
Whaley Construction, LLC	1,075.000 S.F.	\$35.0000	\$37,625.00
Southern Constructors, Inc.		\$45.0000	\$37,625.00 \$48,375.00
702-01 CONCRETE CURB			
	1.000 C.Y.	#0 =00 0000	\$ 0,500,00
Whaley Construction, LLC Southern Constructors, Inc.		\$2,500.0000 \$5,000.0000	\$2,500.00 \$5,000.00
,		+ - ,	+-,
702-03 CONCRETE COMBINED CURB	& GUTTER		
	1.000 C.Y.		
Whaley Construction, LLC Southern Constructors, Inc.		\$2,850.0000 \$5,500.0000	\$2,850.00 \$5,500.00
		φ0,000.0000	\$0,000.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Whaley Construction, LLC Southern Constructors, Inc.		\$59,118.0000 \$300,000.0000	\$59,118.00 \$300,000.00
Southern Constructors, Inc.		\$300,000.0000	\$500,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELI	ZING)		
	100.000 EACH		
Whaley Construction, LLC		\$38.0000	\$3,800.00
Southern Constructors, Inc.		\$40.0000	\$4,000.00
712-05.01 WARNING LIGHTS (TYPE A)			
	50.000 EACH		
Whaley Construction, LLC		\$35.0000	\$1,750.00
Southern Constructors, Inc.		\$30.0000	\$1,500.00
712-06 SIGNS (CONSTRUCTION)			
. , , ,	873.000 S.F.		
Whaley Construction, LLC		\$18.0000	\$15,714.00
Southern Constructors, Inc.		\$15.0000	\$13,095.00
713-15.40 SIGN INSTALLATION (DESCRI	ΡΤΙΟΝ)		
	1.000 LS		
Whaley Construction, LLC		\$2,552.0000	\$2,552.00
Southern Constructors, Inc.		\$4,000.0000	\$4,000.00

			C	ONTRACT CNW295
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
/1/-01	MOBILIZATION	4 000 1 0		
		1.000 LS		
	Whaley Construction, LLC		\$59,000.0000	\$59,000.00
	Southern Constructors, Inc.		\$100,000.0000	\$100,000.00
730-26.07	/ FLASHING WARNING BEACON (DESCRIPTION)			
		2.000 EACH		
	Whaley Construction, LLC		\$9,257.0000	\$18,514.00
	Southern Constructors, Inc.		\$15,000.0000	\$30,000.00

SUB-TOTAL ROADWAY

Whaley Construction, LLC Southern Constructors, Inc.

\$565,296.00 \$987,945.00

TOTAL CONTRACT

Whaley Construction, LLC Southern Constructors, Inc.

\$565,296.00 \$987,945.00

KNOX COUNTY (Contract No. CNW267 Call 027)

47I040-M3-003

THE REPAIR OF THE BRIDGES ON I-40 OVER 17TH STREET (L.M. 18.30).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

	TOTAL CONTRACT
Southern Constructors, Inc.	\$1,118,162.00
Olympus Painting Contractors, Inc.	\$1,311,259.00
Mid-State Construction Company, Inc.	\$1,395,494.11
Whaley Construction, LLC	\$1,505,328.00

UNIT PRICE EXTENSION

ROADWAY CATEGORY

705-08.44	WIDE QUADGUARD ATTENUATOR W/ BACKWALL	MOD.		
		1.000 EACH		
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
	Olympus Painting Contractors, Inc.		\$45,340.0000	\$45,340.00
	Mid-State Construction Company, Inc.		\$50,639.5600	\$50,639.56
	Whaley Construction, LLC		\$53,918.0000	\$53,918.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Southern Constructors, Inc.		\$110,000.0000	\$110,000.00
	Olympus Painting Contractors, Inc.		\$100,000.0000	\$100,000.00
	Mid-State Construction Company, Inc.		\$153,598.3500	\$153,598.35
	Whaley Construction, LLC		\$250,000.0000	\$250,000.00
712-02.12	PORTABLE BARRIER RAIL, REDUCED DEFLECTIO	N (MASH TL-3)		
		770.000 L.F.		
	Southern Constructors, Inc.		\$125.0000	\$96,250.00
	Olympus Painting Contractors, Inc.		\$75.0000	\$57,750.00
	Mid-State Construction Company, Inc.		\$117.4900	\$90,467.30
	Whaley Construction, LLC		\$95.0000	\$73,150.00
			400.0000	<i>\\\\\\\\\\\\\</i>
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MAS	SH TL-3)		
		2.000 EACH		
	Southern Constructors, Inc.		\$10,000.0000	\$20,000.00
	Olympus Painting Contractors, Inc.		\$10,200.0000	\$20,400.00
	Mid-State Construction Company, Inc.		\$10,967.5500	\$21,935.10
	Whaley Construction, LLC		\$9,400.0000	\$18,800.00
			ψ3,400.0000	\$10,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		190.000 EACH		
	Southern Constructors, Inc.		\$45.0000	\$8,550.00
	Olympus Painting Contractors, Inc.		\$33.6000	\$6,384.00
	Mid-State Construction Company, Inc.		\$36.1300	\$6,864.70
	Whaley Construction, LLC		\$31.0000	\$5,890.00
			401.0000	ψ0,000.00
712-04.50	BARRIER RAIL DELINEATOR			
		40.000 EACH		
	Southern Constructors, Inc.		\$20.0000	\$800.00
	Olympus Painting Contractors, Inc.		\$15.6000	\$624.00
	Mid-State Construction Company, Inc.		\$16.7700	\$670.80
	Whaley Construction, LLC		\$15.0000	\$600.00
			φ10.0000	4000.00
712-06	SIGNS (CONSTRUCTION)			
		990.000 S.F.		
	Southern Constructors, Inc.		\$15.0000	\$14,850.00
	Olympus Painting Contractors, Inc.		\$8.2200	\$8,137.80
	Mid-State Construction Company, Inc.		\$8.8400	\$8,751.60
	Whaley Construction, LLC		\$8.0000	\$7,920.00
			-	

EXTENSION

UNIT PRICE

712-07 03	TEMPORARY	BARRICADES	
112-01.03	IEWFURARI	DARRICADES	

712-07.03	TEMPORARY BARRICADES (TYPE III)			
		26.000 L.F.		
	Southern Constructors, Inc.		\$25.0000	\$650.00
	Olympus Painting Contractors, Inc.		\$16.2000	\$421.20
	Mid-State Construction Company, Inc.		\$17.4200	\$452.92
	Whaley Construction, LLC		\$15.0000	\$390.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		1,062.000 HOUR		
	Southern Constructors, Inc.		\$120.0000	\$127,440.00
	Olympus Painting Contractors, Inc.		\$126.0000	\$133,812.00
	Mid-State Construction Company, Inc.		\$105.0000	\$111,510.00
	Whaley Construction, LLC		\$116.0000	\$123,192.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		41,740.000 L.F.		
	Southern Constructors, Inc.		\$4.0000	\$166,960.00
	Olympus Painting Contractors, Inc.		\$4.5000	\$187,830.00
	Mid-State Construction Company, Inc.		\$3.7500	\$156,525.00
	Whaley Construction, LLC		\$4.1500	\$173,221.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		23,440.000 L.F.		
	Southern Constructors, Inc.		\$3.7500	\$87,900.00
	Olympus Painting Contractors, Inc.		\$4.2000	\$98,448.00
	Mid-State Construction Company, Inc.		\$3.5000	\$82,040.00
	Whaley Construction, LLC		\$4.0000	\$93,760.00
712-09.31	REMOVABLE BLACK-OUT TAPE (8IN)			
		2,300.000 L.F.		
	Southern Constructors, Inc.		\$4.0000	\$9,200.00
	Olympus Painting Contractors, Inc.		\$5.4000	\$12,420.00
	Mid-State Construction Company, Inc.		\$4.5000	\$10,350.00
	Whaley Construction, LLC		\$5.0000	\$11,500.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		3.000 EACH		
	Southern Constructors, Inc.		\$7,000.0000	\$21,000.00
	Olympus Painting Contractors, Inc.		\$4,819.0000	\$14,457.00
	Mid-State Construction Company, Inc.		\$8,064.3800	\$24,193.14
	Whaley Construction, LLC		\$6,875.0000	\$20,625.00
717-01	MOBILIZATION			
		1.000 LS		
	Southern Constructors, Inc.		\$55,000.0000	\$55,000.00
	Olympus Painting Contractors, Inc.		\$50,000.0000	\$50,000.00
	Mid-State Construction Company, Inc.		\$66,220.4700	\$66,220.47
	Whaley Construction, LLC		\$185,000.0000	\$185,000.00

		CONTRACT CNW267
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
603-02.01 REPAINTING EXISTING STEEL STRUCTURES (BRIDGE NO. 47-140-18.30 R&L)		
1.000 LS		
Southern Constructors, Inc.	\$40,000.0000	\$40,000.00
Olympus Painting Contractors, Inc.	\$72,000.0000	\$72,000.00
Mid-State Construction Company, Inc.	\$67,418.7000	\$67,418.70
Whaley Construction, LLC	\$32,000.0000	\$32,000.00
603-05.20 CONTAINMENT & DISPOSAL OF WASTE(BR. NO. 47-I40-18.30 R & L)		
1.000 LS		
Southern Constructors, Inc.	\$10,000.0000	\$10,000.00
Olympus Painting Contractors, Inc.	\$48,000.0000	\$48,000.00
Mid-State Construction Company, Inc.	\$21,626.1900	\$21,626.19
Whaley Construction, LLC	\$75,000.0000	\$75,000.00
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)		
50.000 LB.		
Southern Constructors, Inc.	\$18.0000	\$900.00
Olympus Painting Contractors, Inc.	\$120.0000	\$6,000.00
Mid-State Construction Company, Inc.	\$34.2700	\$1,713.50
Whaley Construction, LLC	\$6.0000	\$300.00
604-04.02 APPLIED TEXTURE FINISH (EXISTING STRUCTURES)		
2,951.000 S.Y.		
Southern Constructors, Inc.	\$12.0000	\$35,412.00
Olympus Painting Contractors, Inc.	\$45.0000	\$132,795.00
Mid-State Construction Company, Inc.	\$12.9000	\$38,067.90
Whaley Construction, LLC	\$12.0000	\$35,412.00
604-10.05 CONCRETE		
172.000 S.F.		
Southern Constructors, Inc.	\$150.0000	\$25,800.00
Olympus Painting Contractors, Inc.	\$270.0000	\$46,440.00
Mid-State Construction Company, Inc.	\$370.3600	\$63,701.92
Whaley Construction, LLC	\$500.0000	\$86,000.00
604-10.22 CONCRETE PARAPET REPAIR		
92.000 L.F.		
Southern Constructors, Inc.	\$350.0000	\$32,200.00
Olympus Painting Contractors, Inc.	\$900.0000	\$82,800.00
Mid-State Construction Company, Inc.	\$865.5600	\$79,631.52
Whaley Construction, LLC	\$250.0000	\$23,000.00
604-10.29 CONCRETE SLOPE PAVING REPAIRS		
15.000 S.Y.		
Southern Constructors, Inc.	\$700.0000	\$10,500.00
Olympus Painting Contractors, Inc.	\$1,400.0000	\$21,000.00
Mid-State Construction Company, Inc.	\$1,076.6000	\$16,149.00
Whaley Construction, LLC	\$532.0000	\$7,980.00

EXTENSION

UNIT PRICE

604-10.54	CONCRETE REPAIRS			
		157.000 S.F.		
	Southern Constructors, Inc.		\$150.0000	\$23,550.00
	Olympus Painting Contractors, Inc.		\$300.0000	\$47,100.00
	Mid-State Construction Company, Inc.		\$370.3700	\$58,148.09
	Whaley Construction, LLC		\$500.0000	\$78,500.00
604-10 55	CONCRETE (FOUNDATION REPAIRS)			
004-10.00		6.000 C.Y.		
	Southern Constructors, Inc.	0.000 0.11	\$1,900.0000	\$11,400.00
	Olympus Painting Contractors, Inc.		\$2,000.0000	\$12,000.00
	Mid-State Construction Company, Inc.		\$4,527.5200	\$27,165.12
	Whaley Construction, LLC		\$4,500.0000	\$27,000.00
604-10.58	EPOXY INJECTION (INJECTION)			
		1.000 GAL.		
	Southern Constructors, Inc.		\$250.0000	\$250.00
	Olympus Painting Contractors, Inc.		\$300.0000	\$300.00
	Mid-State Construction Company, Inc.		\$451.6100	\$451.61
	Whaley Construction, LLC		\$500.0000	\$500.00
604 40 62				
004-10.02	EPOXY INJECTION REPAIR (COMPLETE AND IN PLAC	-		
		45.000 L.F.	¢200,0000	¢0,000,00
	Southern Constructors, Inc.		\$200.0000	\$9,000.00
	Olympus Painting Contractors, Inc. Mid-State Construction Company, Inc.		\$180.0000 \$290.3200	\$8,100.00 \$13,064.40
	Whaley Construction, LLC		\$250.0000	\$13,064.40 \$11,250.00
			φ200.0000	ψ11,200.00
604-10.83	COMPOSITE FIBER ENCASEMENT			
		1,318.000 S.F.		
	Southern Constructors, Inc.		\$100.0000	\$131,800.00
	Olympus Painting Contractors, Inc.		\$50.0000	\$65,900.00
	Mid-State Construction Company, Inc.		\$95.1600	\$125,420.88
	Whaley Construction, LLC		\$65.0000	\$85,670.00
604-10.89	MISCELLANEOUS BRIDGE ITEMS (JET FILTER SYSTE			
		1.000 LS	* (0 0 0 0 0 0 0	* (* * * * *
	Southern Constructors, Inc.		\$12,000.0000	\$12,000.00
	Olympus Painting Contractors, Inc.		\$20,800.0000	\$20,800.00
	Mid-State Construction Company, Inc.		\$81,169.9400	\$81,169.94
	Whaley Construction, LLC		\$15,000.0000	\$15,000.00
620-09	REMOVAL & REPLACEMENT OF EXISTING BRIDGE R	AIL		
-		15.000 L.F.		
	Southern Constructors, Inc.		\$450.0000	\$6,750.00
	Olympus Painting Contractors, Inc.		\$800.0000	\$12,000.00
	Mid-State Construction Company, Inc.		\$1,169.7600	\$17,546.40
	Whaley Construction, LLC		\$650.0000	\$9,750.00

SUB-TOTAL ROADWAY

Southern Constructors, Inc.	\$768,600.00
Olympus Painting Contractors, Inc.	\$736,024.00
Mid-State Construction Company, Inc.	\$784,218.94
Whaley Construction, LLC	\$1,017,966.00

SUB-TOTAL BRIDGE

Southern Constructors, Inc.	\$349,562.00
Olympus Painting Contractors, Inc.	\$575,235.00
Mid-State Construction Company, Inc.	\$611,275.17
Whaley Construction, LLC	\$487,362.00

TOTAL CONTRACT

Southern Constructors, Inc.	\$1,118,162.00
Olympus Painting Contractors, Inc.	\$1,311,259.00
Mid-State Construction Company, Inc.	\$1,395,494.11
Whaley Construction, LLC	\$1,505,328.00

LAUDERDALE COUNTY (Contract No. CNW273 Call 028)

HSIP-4900(70),49946-3411-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$210,354.85 \$268,160.00

			CONTRACT CNW273
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT	985.000 L.F.		
LU, Inc. Superior Traffic Control, LLC		\$3.4800 \$5.5000	\$3,427.80 \$5,417.50
705-04.24 GUARDRAIL END TERMINAL DELINEATION SHEETING		••••••	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	32.000 S.F.		
LU, Inc. Superior Traffic Control, LLC		\$25.0000 \$50.0000	\$800.00 \$1,600.00
712-01 TRAFFIC CONTROL			
LU, Inc.	1.000 LS	\$2,650.0000	\$2,650.00
Superior Traffic Control, LLC		\$10,000.0000	\$10,000.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
LU, Inc.	3.000 EACH	\$59.7000	\$179.10
Superior Traffic Control, LLC		\$60.0000	\$180.00
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
LU, Inc.	637.000 L.F.	\$5.9400	\$3,783.78
Superior Traffic Control, LLC		\$7.5000	\$4,777.50
713-11.01 "U" SECTION STEEL POSTS			
LU, Inc.	615.000 LB.	\$4.6100	\$2,835.15
Superior Traffic Control, LLC		\$7.0000	\$4,305.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
LU, Inc.	2,482.000 LB.	\$5.3100	\$13,179.42
Superior Traffic Control, LLC		\$7.0000	\$17,374.00
713-11.21 P POST SLIP BASE			
	75.000 EACH	¢555 0700	¢44.000.05
LU, Inc. Superior Traffic Control, LLC		\$555.0700 \$650.0000	\$41,630.25 \$48,750.00
713-11.22 U POST SLIP BASE			
	23.000 EACH	C CC 4 7000	* 0.450.40
LU, Inc. Superior Traffic Control, LLC		\$354.7000 \$450.0000	\$8,158.10 \$10,350.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	326.000 S.F.	¢10,7000	¢4 466 00
LU, Inc. Superior Traffic Control, LLC		\$12.7800 \$20.0000	\$4,166.28 \$6,520.00

CONTRACT	CNW273

				DNIRACI CNW2/3
			UNIT PRICE	EXTENSION
713-13.0	3 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		489.000 S.F.		
	LU, Inc.		\$13.9600	\$6,826.44
	Superior Traffic Control, LLC		\$22.0000	\$10,758.00
713-15.0	1 REMOVAL OF EXISTING SIGN POST			
		56.000 EACH		
	LU, Inc.		\$50.0000	\$2,800.00
	Superior Traffic Control, LLC		\$75.0000	\$4,200.00
713-15.0	2 REMOVAL & RELOCATION OF SIGN & SUPPORT			
		3.000 EACH		
	LU, Inc.		\$100.0000	\$300.00
	Superior Traffic Control, LLC		\$150.0000	\$450.00
716-02.0	5 PLASTIC PAVEMENT MARKING (STOP LINE)			
		312.000 L.F.		
	LU, Inc.		\$20.4000	\$6,364.80
	Superior Traffic Control, LLC		\$24.0000	\$7,488.00
716-13.0	1 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		40.340 L.M.		
	LU, Inc.		\$2,652.0000	\$106,981.68
	Superior Traffic Control, LLC		\$3,000.0000	\$121,020.00
716-13.0 ⁴	4 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		1,485.000 L.F.		
	LU, Inc.		\$1.5300	\$2,272.05
	Superior Traffic Control, LLC		\$2.0000	\$2,970.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$4,000.0000	\$4,000.00
	Superior Traffic Control, LLC		\$12,000.0000	\$12,000.00

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$210,354.85 \$268,160.00

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$210,354.85 \$268,160.00

MADISON COUNTY (Contract No. CNW275 Call 029)

HSIP-I-40-1(365),57201-3161-44,NH-SIP-I-40-1(363),57201-3160-44

THE RAMP IMPROVEMENT ON I-40 (EXIT 93) AT THE S.R. 152 (LAW ROAD) INTERCHANGE (L.M. 25.85 - L.M. 26.86) AND MISCELLANEOUS SAFETY IMPROVEMENTS ON I-40 FROM L.M. 22.35 - L.M. 27.95.

PROJECT LENGTH - 6.509 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2023

DBE GOAL 7.00%

TOTAL CONTRACT

Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC \$4,833,329.35 \$5,033,488.10 \$5,444,332.80

			CC	ONTRACT CNW27
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Ford Construction Company		\$80,000.0000	\$80,000.00
	Jones Bros. Contractors, LLC		\$195,000.0000	\$195,000.00
	Delta Contracting Company, LLC		\$190,000.0000	\$190,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Ford Construction Company		\$25,000.0000	\$25,000.00
	Jones Bros. Contractors, LLC		\$1.0000	\$1.00
	Delta Contracting Company, LLC		\$118,420.0000	\$118,420.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Ford Construction Company		\$110,000.0000	\$110,000.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
	Delta Contracting Company, LLC		\$21,000.0000	\$21,000.00
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		4,970.000 S.Y.		
	Ford Construction Company		\$13.0000	\$64,610.00
	Jones Bros. Contractors, LLC		\$12.0000	\$59,640.00
	Delta Contracting Company, LLC		\$7.0000	\$34,790.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		16,349.000 C.Y.		
	Ford Construction Company		\$11.4000	\$186,378.60
	Jones Bros. Contractors, LLC		\$20.0000	\$326,980.00
	Delta Contracting Company, LLC		\$20.0000	\$326,980.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		243.000 C.Y.		
	Ford Construction Company		\$20.0000	\$4,860.00
	Jones Bros. Contractors, LLC		\$20.0000	\$4,860.00
	Delta Contracting Company, LLC		\$35.0000	\$8,505.00
203-04	PLACING AND SPREADING TOPSOIL			
		3,514.000 C.Y.		
	Ford Construction Company		\$5.5000	\$19,327.00
	Jones Bros. Contractors, LLC		\$3.0000	\$10,542.00
	Delta Contracting Company, LLC		\$7.0000	\$24,598.00
203-06	WATER			
		232.000 M.G.		
	Ford Construction Company		\$32.0000	\$7,424.00
	Jones Bros. Contractors, LLC		\$10.0000	\$2,320.00
	Delta Contracting Company, LLC		\$25.0000	\$5,800.00

			cc	ONTRACT CNW275
			UNIT PRICE	EXTENSION
203-07	FURNISHING & SPREADING TOPSOIL			
		3,176.000 C.Y.	A2 2 2 2	
	Ford Construction Company		\$8.0000	\$25,408.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$3.0000 \$1.0000	\$9,528.00 \$3,176.00
	Dena Contracting Company, LLC		φ1.0000	φ 3 ,170.00
204-08	FOUNDATION FILL MATERIAL			
		7.000 C.Y.		
	Ford Construction Company		\$64.0000	\$448.00
	Jones Bros. Contractors, LLC		\$220.0000	\$1,540.00
	Delta Contracting Company, LLC		\$250.0000	\$1,750.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		23.000 C.Y.		
	Ford Construction Company		\$350.0000	\$8,050.00
	Jones Bros. Contractors, LLC		\$350.0000	\$8,050.00
	Delta Contracting Company, LLC		\$350.0000	\$8,050.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		2.000 L.M.		
	Ford Construction Company		\$630.0000	\$1,260.00
	Jones Bros. Contractors, LLC		\$2,600.0000	\$5,200.00
	Delta Contracting Company, LLC		\$1,200.0000	\$2,400.00
209-03.23	FILTER SOCK (24 INCH)			
		1,080.000 L.F.		
	Ford Construction Company	-,	\$11.0000	\$11,880.00
	Jones Bros. Contractors, LLC		\$12.0000	\$12,960.00
	Delta Contracting Company, LLC		\$6.0000	\$6,480.00
209-05	SEDIMENT REMOVAL			
200 00		413.000 C.Y.		
	Ford Construction Company		\$11.0000	\$4,543.00
	Jones Bros. Contractors, LLC		\$10.0000	\$4,130.00
	Delta Contracting Company, LLC		\$12.0000	\$4,956.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		1,320.000 L.F.		
	Ford Construction Company	1,0201000 Ell 1	\$5.0000	\$6,600.00
	Jones Bros. Contractors, LLC		\$5.0000	\$6,600.00
	Delta Contracting Company, LLC		\$5.0000	\$6,600.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		825.000 L.F.		
	Ford Construction Company		\$1.7500	\$1,443.75
	Jones Bros. Contractors, LLC		\$2.0000	\$1,650.00
	Delta Contracting Company, LLC		\$2.0000	\$1,650.00

			, i i i i i i i i i i i i i i i i i i i	CONTRACT CNW275
			UNIT PRICE	EXTENSION
209-08.07	ROCK CHECK DAM			
		7.000 EACH		
	Ford Construction Company		\$900.0000	\$6,300.00
	Jones Bros. Contractors, LLC		\$850.0000	\$5,950.00
	Delta Contracting Company, LLC		\$800.0000	\$5,600.00
209-08.08	ENHANCED ROCK CHECK DAM			
		7.000 EACH		
	Ford Construction Company		\$950.0000	\$6,650.00
	Jones Bros. Contractors, LLC		\$975.0000	\$6,825.00
	Delta Contracting Company, LLC		\$1,200.0000	\$8,400.00
209-09.01	SANDBAGS			
		300.000 BAG		
	Ford Construction Company		\$6.0000	\$1,800.00
	Jones Bros. Contractors, LLC		\$10.0000	\$3,000.00
	Delta Contracting Company, LLC		\$30.0000	\$9,000.00
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
		1.000 EACH		
	Ford Construction Company		\$600.0000	\$600.00
	Jones Bros. Contractors, LLC		\$600.0000	\$600.00
	Delta Contracting Company, LLC		\$750.0000	\$750.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
		10.000 S.Y.		
	Ford Construction Company		\$2.0000	\$20.00
	Jones Bros. Contractors, LLC		\$10.0000	\$100.00
	Delta Contracting Company, LLC		\$30.0000	\$300.00
209-20.04	POLYETHYLENE SHEETING (10 MIL.)			
		10.000 S.Y.		
	Ford Construction Company		\$3.0000	\$30.00
	Jones Bros. Contractors, LLC		\$20.0000	\$200.00
	Delta Contracting Company, LLC		\$30.0000	\$300.00
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		591.000 TON	•	
	Ford Construction Company		\$41.0000	\$24,231.00
	Jones Bros. Contractors, LLC		\$40.0000	\$23,640.00
	Delta Contracting Company, LLC		\$47.0000	\$27,777.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (SEE PLANS)			
		9,450.000 TON	*	
	Ford Construction Company		\$35.0000	\$330,750.00 \$350,100,00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$38.0000 \$45.0000	\$359,100.00 \$425,250.00
	Dena Contracting Company, LLC		φ 4 0.0000	ψ 1 20,200.00

CONTRACT CNW275 EXTENSION

UNIT PRICE

303-10.01	MINERAL AGGREGATE (SIZE 57)			
		110.000 TON		
	Ford Construction Company		\$47.0000	\$5,170.00
	Jones Bros. Contractors, LLC		\$60.0000	\$6,600.00
	Delta Contracting Company, LLC		\$56.0000	\$6,160.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	G A		
		67.000 TON		
	Ford Construction Company		\$230.0000	\$15,410.00
	Jones Bros. Contractors, LLC		\$225.0000	\$15,075.00
	Delta Contracting Company, LLC		\$145.0000	\$9,715.00
307-01.22	ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S			
		458.000 TON		
	Ford Construction Company		\$130.0000	\$59,540.00
	Jones Bros. Contractors, LLC		\$130.0000	\$59,540.00
	Delta Contracting Company, LLC		\$145.0000	\$66,410.00
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADIN	G A		
		1,362.000 TON		
	Ford Construction Company		\$140.0000	\$190,680.00
	Jones Bros. Contractors, LLC		\$115.0000	\$156,630.00
	Delta Contracting Company, LLC		\$145.0000	\$197,490.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADIN	G B-M2		
307-03.08		G B-M2 907.000 TON		
307-03.08	Ford Construction Company		\$150.0000	\$136,050.00
307-03.08	Ford Construction Company Jones Bros. Contractors, LLC		\$130.0000	\$117,910.00
307-03.08	Ford Construction Company			
	Ford Construction Company Jones Bros. Contractors, LLC		\$130.0000	\$117,910.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS		\$130.0000 \$155.0000	\$117,910.00 \$140,585.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company	907.000 TON	\$130.0000 \$155.0000 \$210.0000	\$117,910.00 \$140,585.00 \$35,910.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC	907.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company	907.000 TON	\$130.0000 \$155.0000 \$210.0000	\$117,910.00 \$140,585.00 \$35,910.00
307-03.10	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00
307-03.10	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC)	907.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00
307-03.10	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00
307-03.10	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company Jones Bros. Contractors, LLC	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000 \$38.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00 \$98,116.00
307-03.10	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00
307-03.10 309-01.01	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company Jones Bros. Contractors, LLC	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000 \$38.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00 \$98,116.00
307-03.10 309-01.01	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC PORTLAND CEMENT (A-CBC)	907.000 TON 171.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000 \$38.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00 \$98,116.00 \$129,100.00
307-03.10 309-01.01	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC PORTLAND CEMENT (A-CBC) Ford Construction Company	907.000 TON 171.000 TON 2,582.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$34.0000 \$38.0000 \$50.0000 \$395.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00 \$98,116.00 \$129,100.00 \$49,770.00
307-03.10 309-01.01	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC MINERAL AGGREGATE (A-CBC) Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC PORTLAND CEMENT (A-CBC)	907.000 TON 171.000 TON 2,582.000 TON	\$130.0000 \$155.0000 \$210.0000 \$240.0000 \$185.0000 \$38.0000 \$38.0000 \$50.0000	\$117,910.00 \$140,585.00 \$35,910.00 \$41,040.00 \$31,635.00 \$87,788.00 \$98,116.00 \$129,100.00

			L L	JUNIKACI CNW2/5
			UNIT PRICE	EXTENSION
309-02	BITUMINOUS MATERIAL (A-CBC)			
		8.000 TON		
	Ford Construction Company		\$1,200.0000	\$9,600.00
	Jones Bros. Contractors, LLC		\$900.0000	\$7,200.00
	Delta Contracting Company, LLC		\$2,000.0000	\$16,000.00
313-03	TREATED PERMEABLE BASE			
		5,623.000 S.Y.		
	Ford Construction Company		\$23.8000	\$133,827.40
	Jones Bros. Contractors, LLC		\$25.0000	\$140,575.00
	Delta Contracting Company, LLC		\$44.0000	\$247,412.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		9.000 TON	•	•
	Ford Construction Company		\$100.0000	\$900.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$900.0000 \$900.0000	\$8,100.00 \$8,100.00
	Deita Contracting Company, LLC		\$900.0000	\$8,100.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		26.000 TON	A	A / A A A
	Ford Construction Company		\$5.0000	\$130.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$100.0000 \$30.0000	\$2,600.00 \$780.00
	Dona Contracting Company, LLC		<i>Q</i> OOOOOOOOOOOOO	¢100.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		8.000 TON	4 005 0500	* =
	Ford Construction Company		\$985.2500	\$7,882.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$800.0000 \$900.0000	\$6,400.00 \$7,200.00
	Della Contracting Company, LLC		\$900.0000	φ <i>1</i> ,200.00
407-20.0	5 SAW CUTTING ASPHALT PAVEMENT			
	Ford Construction Company	2,750.000 L.F.	¢5,0000	¢12 750 00
	Ford Construction Company Jones Bros. Contractors, LLC		\$5.0000 \$5.0000	\$13,750.00 \$13,750.00
	Delta Contracting Company, LLC		\$6.0000	\$16,500.00
411-01.0	7 ACS MIX (PG64-22) GRADING E SHOULDER			
	· · · ·	30.000 TON		
	Ford Construction Company		\$373.5000	\$11,205.00
	Jones Bros. Contractors, LLC		\$350.0000	\$10,500.00
	Delta Contracting Company, LLC		\$230.0000	\$6,900.00
411-03.1	0 ACS MIX(PG76-22) GRADING D			
		305.000 TON		
	Ford Construction Company		\$190.0000	\$57,950.00
	Jones Bros. Contractors, LLC		\$215.0000	\$65,575.00
	Delta Contracting Company, LLC		\$190.0000	\$57,950.00

CONTRACT CNW275 EXTENSION

UNIT PRICE

411-03.23	ACS MIX (PG76-22) OGFC			
		326.000 TON		
	Ford Construction Company		\$260.0000	\$84,760.00
	Jones Bros. Contractors, LLC		\$210.0000	\$68,460.00
	Delta Contracting Company, LLC		\$205.0000	\$66,830.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		1.100 L.M.		
	Ford Construction Company		\$4,600.0000	\$5,060.00
	Jones Bros. Contractors, LLC		\$1,850.0000	\$2,035.00
	Delta Contracting Company, LLC		\$4,600.0000	\$5,060.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		166.000 TON		
	Ford Construction Company		\$110.0000	\$18,260.00
	Jones Bros. Contractors, LLC		\$95.0000	\$15,770.00
	Delta Contracting Company, LLC		\$68.0000	\$11,288.00
501-01.06	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 13"			
		5,623.000 S.Y.		
	Ford Construction Company		\$190.0000	\$1,068,370.00
	Jones Bros. Contractors, LLC		\$165.0000	\$927,795.00
	Delta Contracting Company, LLC		\$210.0000	\$1,180,830.00
502-03.13	CONCRETE PAVEMENT REMOVAL			
		2,550.000 S.Y.		
	Ford Construction Company		\$30.0000	\$76,500.00
	Jones Bros. Contractors, LLC		\$10.0000	\$25,500.00
	Delta Contracting Company, LLC		\$17.0000	\$43,350.00
502-04.01	SAWING CONCRETE PAVEMENT (FULL DEPTH)			
		2,780.000 L.F.		
	Ford Construction Company		\$12.0000	\$33,360.00
	Jones Bros. Contractors, LLC		\$10.0000	\$27,800.00
	Delta Contracting Company, LLC		\$10.0000	\$27,800.00
604-01.01	CLASS A CONCRETE (ROADWAY)			
		45.000 C.Y.		
	Ford Construction Company		\$1,600.0000	\$72,000.00
	Jones Bros. Contractors, LLC		\$1,400.0000	\$63,000.00
	Delta Contracting Company, LLC		\$1,500.0000	\$67,500.00
604-01.02	STEEL BAR REINFORCEMENT (ROADWAY)			
		7,872.000 LB.		
	Ford Construction Company		\$2.5000	\$19,680.00
	Jones Bros. Contractors, LLC		\$2.0000	\$15,744.00
	Delta Contracting Company, LLC		\$2.4000	\$18,892.80

				NIRACI CINVZI
			UNIT PRICE	EXTENSION
607-07.02	36" CONCRETE PIPE CULVERT (CLASS III)			
		160.000 L.F.		
	Ford Construction Company		\$225.0000	\$36,000.00
	Jones Bros. Contractors, LLC		\$170.0000	\$27,200.00
	Delta Contracting Company, LLC		\$105.0000	\$16,800.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
		60.000 L.F.		
	Ford Construction Company		\$104.0000	\$6,240.00
	Jones Bros. Contractors, LLC		\$110.0000	\$6,600.00
	Delta Contracting Company, LLC		\$45.0000	\$2,700.00
611-02.11	JUNCTION BOX, TYPE 2			
		1.000 EACH		
	Ford Construction Company		\$8,550.0000	\$8,550.00
	Jones Bros. Contractors, LLC		\$11,000.0000	\$11,000.00
	Delta Contracting Company, LLC		\$8,000.0000	\$8,000.00
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
		4.000 C.Y.		
	Ford Construction Company		\$1,400.0000	\$5,600.00
	Jones Bros. Contractors, LLC		\$3,400.0000	\$13,600.00
	Delta Contracting Company, LLC		\$2,000.0000	\$8,000.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		147.000 LB.		
	Ford Construction Company		\$4.0000	\$588.00
	Jones Bros. Contractors, LLC		\$2.0000	\$294.00
	Delta Contracting Company, LLC		\$4.0000	\$588.00
611-07.64	36IN ENDWALL (CROSS DRAIN) 4:1			
		1.000 EACH		
	Ford Construction Company		\$6,100.0000	\$6,100.00
	Jones Bros. Contractors, LLC		\$12,000.0000	\$12,000.00
	Delta Contracting Company, LLC		\$6,400.0000	\$6,400.00
611-07.73	18IN ENDWALL (MEDIAN DRAIN)			
		2.000 EACH		
	Ford Construction Company		\$6,900.0000	\$13,800.00
	Jones Bros. Contractors, LLC		\$8,000.0000	\$16,000.00
	Delta Contracting Company, LLC		\$7,800.0000	\$15,600.00
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		80.000 L.F.		
	Ford Construction Company		\$85.0000	\$6,800.00
	Jones Bros. Contractors, LLC		\$22.0000	\$1,760.00
	Delta Contracting Company, LLC		\$41.0000	\$3,280.00

EXTENSION

UNIT PRICE

621-03.0	5 36" TEMPORARY DRAINAGE PIPE			
		84.000 L.F.		
	Ford Construction Company		\$160.0000	\$13,440.00
	Jones Bros. Contractors, LLC		\$60.0000	\$5,040.00
	Delta Contracting Company, LLC		\$250.0000	\$21,000.00
705-04.2 [,]	GUARDRAIL DELINEATION ENHANCEMENT			
		5,600.000 L.F.		
	Ford Construction Company		\$7.2500	\$40,600.00
	Jones Bros. Contractors, LLC		\$7.2500	\$40,600.00
	Delta Contracting Company, LLC		\$7.2500	\$40,600.00
705-06.0 ²	W BEAM GR (TYPE 2) MASH TL-3			
		350.000 L.F.		
	Ford Construction Company		\$38.0000	\$13,300.00
	Jones Bros. Contractors, LLC		\$38.0000	\$13,300.00
	Delta Contracting Company, LLC		\$38.0000	\$13,300.00
705-06.10) GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
		1.000 EACH		
	Ford Construction Company		\$1,400.0000	\$1,400.00
	Jones Bros. Contractors, LLC		\$1,400.0000	\$1,400.00
	Delta Contracting Company, LLC		\$1,400.0000	\$1,400.00
705-06.20) TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		
	Ford Construction Company		\$3,700.0000	\$3,700.00
	Jones Bros. Contractors, LLC		\$3,700.0000	\$3,700.00
	Delta Contracting Company, LLC		\$3,700.0000	\$3,700.00
705-80.0 ²	LONGITUDINAL CABLE BARRIER			
		3,368.000 L.F.		
	Ford Construction Company		\$46.0000	\$154,928.00
	Jones Bros. Contractors, LLC		\$46.0000	\$154,928.00
	Delta Contracting Company, LLC		\$46.0000	\$154,928.00
705-80.03	3 LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-	3		
705-80.03	B LONGITUDINAL CABLE BARRIER (END TERMINAL) TL-	-3 4.000 EACH		
705-80.03	B LONGITUDINAL CABLE BARRIER (END TERMINAL) TL		\$6,300.0000	\$25,200.00
705-80.03	Ford Construction Company Jones Bros. Contractors, LLC		\$6,300.0000	\$25,200.00 \$25,200.00
705-80.03	Ford Construction Company			
705-80.03	Ford Construction Company Jones Bros. Contractors, LLC		\$6,300.0000	\$25,200.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$6,300.0000	\$25,200.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC	4.000 EACH	\$6,300.0000	\$25,200.00
	Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC GUARDRAIL REMOVED	4.000 EACH	\$6,300.0000 \$6,300.0000	\$25,200.00 \$25,200.00

			Co	ONTRACT CNW275
			UNIT PRICE	EXTENSION
707-03.01 ST	OCK FENCE			
		350.000 L.F.		
Fo	rd Construction Company		\$14.6000	\$5,110.00
	nes Bros. Contractors, LLC		\$14.4000	\$5,040.00
De	Ita Contracting Company, LLC		\$40.0000	\$14,000.00
707-03.02 EN	ID, BRACED LINE, CORNER POST ASSEMBLY(STO	OCK FENCE)		
		6.000 EACH		
	rd Construction Company		\$295.0000	\$1,770.00
	nes Bros. Contractors, LLC		\$295.0000	\$1,770.00
De	Ita Contracting Company, LLC		\$400.0000	\$2,400.00
707-06.01 RE	MOVAL OF FENCE (STOCK R.O.W. FENCE)			
		350.000 L.F.		
Fo	rd Construction Company		\$4.0000	\$1,400.00
	nes Bros. Contractors, LLC		\$5.0000	\$1,750.00
De	Ita Contracting Company, LLC		\$8.0000	\$2,800.00
707-08.11 HIG	GH-VISIBILITY CONSTRUCTION FENCE			
		970.000 L.F.		
Fo	rd Construction Company		\$2.0000	\$1,940.00
Joi	nes Bros. Contractors, LLC		\$2.0000	\$1,940.00
De	Ita Contracting Company, LLC		\$2.0000	\$1,940.00
709-05.05 MA	ACHINED RIP-RAP (CLASS A-3)			
		420.000 TON		
Fo	rd Construction Company		\$45.0000	\$18,900.00
	nes Bros. Contractors, LLC		\$67.0000	\$28,140.00
De	Ita Contracting Company, LLC		\$48.0000	\$20,160.00
709-05.06 MA	ACHINED RIP-RAP (CLASS A-1)			
		195.000 TON		
Fo	rd Construction Company		\$45.0000	\$8,775.00
Joi	nes Bros. Contractors, LLC		\$67.0000	\$13,065.00
De	Ita Contracting Company, LLC		\$48.0000	\$9,360.00
709-05.08 MA	ACHINED RIP-RAP (CLASS B)			
		34.000 TON		
Fo	rd Construction Company		\$45.0000	\$1,530.00
	nes Bros. Contractors, LLC		\$85.0000	\$2,890.00
	Ita Contracting Company, LLC		\$48.0000	\$1,632.00
709-05.09 MA	ACHINED RIP-RAP (CLASS C)			
	· · ·	480.000 TON		
г.	rd Construction Component		¢ 40,0000	¢00.040.00

Ford Construction Company	\$48.0000	\$23,040.00
Jones Bros. Contractors, LLC	\$68.0000	\$32,640.00
Delta Contracting Company, LLC	\$48.0000	\$23,040.00

				CONTRACT	CNW275
			UNIT PRICE	EXT	FENSION
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)				
		5,530.000 L.F.			
	Ford Construction Company	·	\$10.5000	\$5	8,065.00
	Jones Bros. Contractors, LLC		\$10.5000	\$5	8,065.00
	Delta Contracting Company, LLC		\$10.5000	\$5	8,065.00
710-05	LATERAL UNDERDRAIN				
		392.000 L.F.			
	Ford Construction Company		\$8.5000		3,332.00
	Jones Bros. Contractors, LLC		\$8.5000		3,332.00
	Delta Contracting Company, LLC		\$8.5000	\$	3,332.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)				
		28.000 EACH			
	Ford Construction Company		\$1,000.0000		8,000.00
	Jones Bros. Contractors, LLC		\$1,000.0000		8,000.00
	Delta Contracting Company, LLC		\$1,000.0000	\$2	8,000.00
712-01	TRAFFIC CONTROL				
		1.000 LS			
	Ford Construction Company		\$170,000.0000		0,000.00
	Jones Bros. Contractors, LLC		\$325,000.0000		5,000.00
	Delta Contracting Company, LLC		\$58,000.0000	\$5	8,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL				
		5,950.000 L.F.			
	Ford Construction Company		\$31.0000		4,450.00
	Jones Bros. Contractors, LLC		\$33.0000		6,350.00
	Delta Contracting Company, LLC		\$46.0000	\$27	3,700.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)				
		4.000 EACH		A -	
	Ford Construction Company		\$8,510.0000		4,040.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$12,000.0000 \$8,300.0000		8,000.00 3,200.00
	Dela Contracting Company, LLC		40,000.0000	ψU	0,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
	Ford Construction Company	223.000 EACH	\$32.0000	¢.	7,136.00
	Jones Bros. Contractors, LLC		\$32.0000		7,130.00 8,474.00
	Delta Contracting Company, LLC		\$32.0000		7,136.00
712-04.50	BARRIER RAIL DELINEATOR				
		300.000 EACH			
	Ford Construction Company		\$10.0000	\$	3,000.00
	Jones Bros. Contractors, LLC		\$14.0000		4,200.00
	Delta Contracting Company, LLC		\$10.0000	\$	3,000.00

EXTENSION

UNIT PRICE

712-05.01	WARNING LIGHTS (TYPE A)			
		70.000 EACH		
	Ford Construction Company		\$25.0000	\$1,750.00
	Jones Bros. Contractors, LLC		\$50.0000	\$3,500.00
	Delta Contracting Company, LLC		\$25.0000	\$1,750.00
712-06	SIGNS (CONSTRUCTION)			
		850.000 S.F.		
	Ford Construction Company		\$7.2500	\$6,162.50
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$7.7500 \$7.2500	\$6,587.50 \$6,162.50
	Dena Contracting Company, LLC		φ1.2300	ψ0,102.30
712-08.03	ARROW BOARD (TYPE C)			
	Ford Construction Company	2.000 EACH	¢805 0000	¢1 700 00
	Jones Bros. Contractors, LLC		\$895.0000 \$1,150.0000	\$1,790.00 \$2,300.00
	Delta Contracting Company, LLC		\$895.0000	\$1,790.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		200.000 HOUR	*•••••••••••••	
	Ford Construction Company Jones Bros. Contractors, LLC		\$85.0000 \$105.0000	\$17,000.00 \$21,000.00
	Delta Contracting Company, LLC		\$140.0000	\$28,000.00
			·	. ,
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		37,762.000 L.F.	\$ 0,0000	
	Ford Construction Company Jones Bros. Contractors, LLC		\$2.0000 \$6.5000	\$75,524.00 \$245,453.00
	Delta Contracting Company, LLC		\$5.7500	\$217,131.50
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS			
	Ford Construction Company	1.000 C.Y.	\$650.0000	\$650.00
	Jones Bros. Contractors, LLC		\$1,800.0000	\$1,800.00
	Delta Contracting Company, LLC		\$650.0000	\$650.00
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SI	JPPORTS)		
		121.000 LB.		
	Ford Construction Company		\$4.0000	\$484.00
	Jones Bros. Contractors, LLC		\$6.2500	\$756.25
	Delta Contracting Company, LLC		\$4.0000	\$484.00
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		370.000 EACH		
	Ford Construction Company		\$46.5000	\$17,205.00
	Jones Bros. Contractors, LLC Delta Contracting Company, LLC		\$42.0000 \$46.5000	\$15,540.00 \$17,205,00
	Dena Contracting Company, LLC		Φ40.5000	\$17,205.00

			CO	NTRACT CNW27
			UNIT PRICE	EXTENSION
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS			
		1,451.000 LB.		
	Ford Construction Company		\$6.2500	\$9,068.75
	Jones Bros. Contractors, LLC		\$7.0000	\$10,157.00
	Delta Contracting Company, LLC		\$6.2500	\$9,068.75
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPOR	т		
		150.000 LB.		
	Ford Construction Company		\$6.2500	\$937.50
	Jones Bros. Contractors, LLC		\$7.0000	\$1,050.00
	Delta Contracting Company, LLC		\$6.2500	\$937.50
713-11.01	"U" SECTION STEEL POSTS			
		224.000 LB.		
	Ford Construction Company		\$5.0000	\$1,120.00
	Jones Bros. Contractors, LLC		\$6.5000	\$1,456.00
	Delta Contracting Company, LLC		\$5.0000	\$1,120.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		44.000 LB.		
	Ford Construction Company		\$6.2500	\$275.00
	Jones Bros. Contractors, LLC		\$6.7500	\$297.00
	Delta Contracting Company, LLC		\$6.2500	\$275.00
713-11.22	U POST SLIP BASE			
		4.000 EACH		
	Ford Construction Company		\$485.0000	\$1,940.00
	Jones Bros. Contractors, LLC		\$450.0000	\$1,800.00
	Delta Contracting Company, LLC		\$485.0000	\$1,940.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		51.000 S.F.		
	Ford Construction Company		\$20.5000	\$1,045.50
	Jones Bros. Contractors, LLC		\$21.5000	\$1,096.50
	Delta Contracting Company, LLC		\$20.5000	\$1,045.50
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		338.000 S.F.		
	Ford Construction Company		\$35.0000	\$11,830.00
	Jones Bros. Contractors, LLC		\$32.0000	\$10,816.00
	Delta Contracting Company, LLC		\$35.0000	\$11,830.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Ford Construction Company		\$1,900.0000	\$1,900.00
	Jones Bros. Contractors, LLC		\$6,500.0000	\$6,500.00
	Delta Contracting Company, LLC		\$1,900.0000	\$1,900.00

UNIT PRICE **EXTENSION** 713-15.02 REMOVAL & RELOCATION OF SIGN & SUPPORT 3.000 EACH \$1,275.00 Ford Construction Company \$425.0000 Jones Bros. Contractors, LLC \$4,500.0000 \$13,500.00 Delta Contracting Company, LLC \$425.0000 \$1,275.00 713-16.01 CHANGEABLE MESSAGE SIGN UNIT 2.000 EACH Ford Construction Company \$5,500,0000 \$11,000.00 Jones Bros. Contractors, LLC \$10,500.0000 \$21,000.00 Delta Contracting Company, LLC \$5,500.0000 \$11,000.00 716-01.11 RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COLOR LENS) 247.000 EACH Ford Construction Company \$23.0000 \$5,681.00 Jones Bros. Contractors, LLC \$23.0000 \$5,681.00 Delta Contracting Company, LLC \$20.0000 \$4,940.00 716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR) 67.000 EACH Ford Construction Company \$55.0000 \$3,685.00 Jones Bros. Contractors, LLC \$55.0000 \$3.685.00 Delta Contracting Company, LLC \$75.0000 \$5,025.00 716-01.40 REMOVE AND REPLACE LENS ON SNOWPLOWABLE REFLECTIVE MARKER 297.000 EACH \$25.0000 \$7,425.00 Ford Construction Company Jones Bros. Contractors, LLC \$25.0000 \$7,425.00 \$20.0000 Delta Contracting Company, LLC \$5,940.00 716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE) 350.000 L.F. Ford Construction Company \$25.0000 \$8,750.00 \$25.0000 \$8,750.00 Jones Bros. Contractors, LLC Delta Contracting Company, LLC \$25.0000 \$8,750.00 716-08.30 HYDROBLAST REMOVAL OF PAVEMENT MARKING (LINE) 7.500 L.M. Ford Construction Company \$5,250.0000 \$39,375.00 Jones Bros. Contractors, LLC \$5,250.0000 \$39,375.00 Delta Contracting Company, LLC \$7,500.0000 \$56,250.00 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) 6.400 L.M. Ford Construction Company \$8,800.0000 \$56,320.00 Jones Bros, Contractors, LLC \$8.800.0000 \$56,320.00

Delta Contracting Company, LLC

\$68,800.00

\$10,750.0000

				CONTRACT CNW275
			UNIT PRICE	EXTENSION
716-12.03	B ENHANCED FLATLINE THERMO PVMT MRKNG (8	BIN BARRIER LINE)		
		1,978.000 L.F.		
	Ford Construction Company		\$3.2000	\$6,329.60
	Jones Bros. Contractors, LLC		\$3.2000	\$6,329.60
	Delta Contracting Company, LLC		\$4.5000	\$8,901.00
717-01	MOBILIZATION			
		1.000 LS		
	Ford Construction Company		\$350,000.0000	\$350,000.00
	Jones Bros. Contractors, LLC		\$250,000.0000	\$250,000.00
	Delta Contracting Company, LLC		\$270,027.0000	\$270,027.00
740-10.03	3 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		1,367.000 S.Y.		
	Ford Construction Company		\$2.7500	\$3,759.25
	Jones Bros. Contractors, LLC		\$4.0000	\$5,468.00
	Delta Contracting Company, LLC		\$4.0000	\$5,468.00
740-11.05	5 TEMPORARY SEDIMENT TUBE 24IN			
		10,760.000 L.F.		
	Ford Construction Company		\$5.0000	\$53,800.00
	Jones Bros. Contractors, LLC		\$5.5000	\$59,180.00
	Delta Contracting Company, LLC		\$1.0000	\$10,760.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		400.000 UNIT		
	Ford Construction Company		\$25.0000	\$10,000.00
	Jones Bros. Contractors, LLC		\$20.0000	\$8,000.00
	Delta Contracting Company, LLC		\$20.0000	\$8,000.00
801-03	WATER (SEEDING & SODDING)			
	, , ,	408.000 M.G.		
	Ford Construction Company		\$5.0000	\$2,040.00
	Jones Bros. Contractors, LLC		\$1.0000	\$408.00
	Delta Contracting Company, LLC		\$1.0000	\$408.00
803-01	SODDING (NEW SOD)			
		46,563.000 S.Y.		
	Ford Construction Company	-	\$2.5000	\$116,407.50
	Jones Bros. Contractors, LLC		\$2.7500	\$128,048.25
	Delta Contracting Company, LLC		\$2.7500	\$128,048.25

SUB-TOTAL ROADWAY

Ford Construction Company Jones Bros. Contractors, LLC Delta Contracting Company, LLC

TOTAL CONTRACT

Ford Construction Company	\$4,833,329.35
Jones Bros. Contractors, LLC	\$5,033,488.10
Delta Contracting Company, LLC	\$5,444,332.80

\$4,833,329.35 \$5,033,488.10 \$5,444,332.80

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

MARION COUNTY (Contract No. CNW250 Call 030)

HSIP-5800(47),58946-3406-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$159,462.01 \$234,666.20

			со	NTRACT CNW250
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
712-01	TRAFFIC CONTROL			
		1.000 LS		
	LU, Inc. Superior Traffic Control, LLC		\$1,000.0000 \$8,500.0000	\$1,000.00 \$8,500.00
712 02 14	FLEXIBLE DELINEATOR (WHITE)			
713-02.14	PLEXIBLE DELINEATOR (WHITE)	9.000 EACH		
	LU, Inc.		\$59.5700	\$536.13
	Superior Traffic Control, LLC		\$50.0000	\$450.00
713-02.20	ROADSIDE OBSTACLE DELINEATION			
		215.000 S.F.	¢25.2500	¢E 450.05
	LU, Inc. Superior Traffic Control, LLC		\$25.3500 \$16.0000	\$5,450.25 \$3,440.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		528.000 L.F.		
	LU, Inc.		\$5.8100	\$3,067.68
	Superior Traffic Control, LLC		\$6.1500	\$3,247.20
713-11.01	"U" SECTION STEEL POSTS			
		1,612.000 LB.	#5 4000	# 0.004.00
	LU, Inc. Superior Traffic Control, LLC		\$5.1000 \$6.2500	\$8,221.20 \$10,075.00
713-11 02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
713-11.02		2,532.000 LB.		
	LU, Inc.		\$5.8100	\$14,710.92
	Superior Traffic Control, LLC		\$6.5000	\$16,458.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		266.250 S.F.	¢40,0000	¢0,700,00
	LU, Inc. Superior Traffic Control, LLC		\$13.9200 \$20.0000	\$3,706.20 \$5,325.00
712-12 03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
715-15.05		709.500 S.F.		
	LU, Inc.		\$15.1000	\$10,713.45
	Superior Traffic Control, LLC		\$22.0000	\$15,609.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		87.000 EACH	#5 0,0000	# 4 0 5 0 00
	LU, Inc. Superior Traffic Control, LLC		\$50.0000 \$150.0000	\$4,350.00 \$13,050.00
716-01 22	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
110-01.23		537.000 EACH		
	LU, Inc.		\$51.0000	\$27,387.00
	Superior Traffic Control, LLC		\$52.0000	\$27,924.00

				DNTRACT CNW250
			UNIT PRICE	EXTENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		257.000 L.F.		
	LU, Inc.		\$12.2400	\$3,145.68
	Superior Traffic Control, LLC		\$14.0000	\$3,598.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		3.000 EACH		
	LU, Inc.		\$331.5000	\$994.50
	Superior Traffic Control, LLC		\$600.0000	\$1,800.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		32.600 L.M.		
	LU, Inc.		\$2,295.0000	\$74,817.00
	Superior Traffic Control, LLC		\$3,650.0000	\$118,990.00
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		600.000 L.F.		
	LU, Inc.		\$1.0200	\$612.00
	Superior Traffic Control, LLC		\$2.0000	\$1,200.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$750.0000	\$750.00
	Superior Traffic Control, LLC		\$5,000.0000	\$5,000.00

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$159,462.01 \$234,666.20

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$159,462.01 \$234,666.20

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

MCMINN COUNTY (Contract No. CNW282 Call 032)

54023-4225-04

THE REPAIR OF THE BRIDGE ON S.R. 163 OVER CHESTUEE CREEK (L.M. 11.74).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

	TOTAL CONTRACT	
Jamison Construction, LLC	\$979,574.50	
Wright Brothers Construction Company, Inc.	\$1,055,930.80	
Southern Constructors, Inc.	\$1,126,663.00	
Whaley Construction, LLC	\$1,190,230.75	

			C	ONTRACT CNW282
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Jamison Construction, LLC		\$10,000.0000	\$10,000.00
	Wright Brothers Construction Company, Inc.		\$8,700.0000	\$8,700.00
	Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
	Whaley Construction, LLC		\$31,711.0000	\$31,711.00
204 07 04				
201-07.01	REMOVAL AND DISPOSAL OF BRUSH & TREES	4 000 1 0		
	laminon Construction, LLC	1.000 LS	¢1 000 0000	¢1 000 00
	Jamison Construction, LLC Wright Brothers Construction Company, Inc.		\$1,000.0000 \$24,400.0000	\$1,000.00 \$24,400.00
	Southern Constructors, Inc.		\$25,000.0000	\$25,000.00
	Whaley Construction, LLC		\$20,000.0000	\$20,000.00
	•			
209-05	SEDIMENT REMOVAL			
		1.000 C.Y.		
	Jamison Construction, LLC		\$10.0000	\$10.00
	Wright Brothers Construction Company, Inc.		\$225.0000	\$225.00
	Southern Constructors, Inc.		\$50.0000	\$50.00
	Whaley Construction, LLC		\$150.0000	\$150.00
200-08 02	2 TEMPORARY SILT FENCE (WITH BACKING)			
200 00.02		730.000 L.F.		
	Jamison Construction, LLC	730.000 E.I .	\$7.0000	\$5,110.00
	Wright Brothers Construction Company, Inc.		\$4.6500	\$3,394.50
	Southern Constructors, Inc.		\$6.0000	\$4,380.00
	Whaley Construction, LLC		\$6.0000	\$4,380.00
307-01.08	3 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	NG B-M2		
		91.000 TON		
	Jamison Construction, LLC		\$375.0000	\$34,125.00
	Wright Brothers Construction Company, Inc.		\$520.0000	\$47,320.00
	Southern Constructors, Inc. Whaley Construction, LLC		\$400.0000 \$376.0000	\$36,400.00 \$34,216.00
			\$570.0000	ψ04,210.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.000 TON		
	Jamison Construction, LLC		\$2,200.0000	\$2,200.00
	Wright Brothers Construction Company, Inc.		\$1,000.0000	\$1,000.00
	Southern Constructors, Inc.		\$2,200.0000	\$2,200.00
	Whaley Construction, LLC		\$2,200.0000	\$2,200.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		190.000 TON		
	Jamison Construction, LLC		\$400.0000	\$76,000.00
	Wright Brothers Construction Company, Inc.		\$230.0000 \$400.0000	\$43,700.00 \$76,000,00
	Southern Constructors, Inc. Whaley Construction, LLC		\$400.0000 \$400.0000	\$76,000.00 \$76,000.00
	Whatey Constitution, EEC		ψ τ υυ.υυυυ	ψ 0,000.00

			cc	ONTRACT CNW282
			UNIT PRICE	EXTENSION
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (41	N WIDTH)		
		0.300 L.M.		
	Jamison Construction, LLC		\$14,000.0000	\$4,200.00
	Wright Brothers Construction Company, Inc.		\$1,960.0000	\$588.00
	Southern Constructors, Inc.		\$20,000.0000	\$6,000.00
	Whaley Construction, LLC		\$12,925.0000	\$3,877.50
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		152.000 TON		
	Jamison Construction, LLC		\$110.0000	\$16,720.00
	Wright Brothers Construction Company, Inc.		\$100.0000	\$15,200.00
	Southern Constructors, Inc.		\$150.0000	\$22,800.00
	Whaley Construction, LLC		\$107.0000	\$16,264.00
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		18.000 EACH		
	Jamison Construction, LLC		\$16.0000	\$288.00
	Wright Brothers Construction Company, Inc.		\$15.4500	\$278.10
	Southern Constructors, Inc.		\$20.0000	\$360.00
	Whaley Construction, LLC		\$16.0000	\$288.00
706-02.01	GUARDRAIL REMOVED AND RESET			
		60.000 L.F.		
	Jamison Construction, LLC		\$70.0000	\$4,200.00
	Wright Brothers Construction Company, Inc.		\$54.7500	\$3,285.00
	Southern Constructors, Inc.		\$60.0000	\$3,600.00
	Whaley Construction, LLC		\$55.0000	\$3,300.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		160.000 L.F.		
	Jamison Construction, LLC		\$4.0000	\$640.00
	Wright Brothers Construction Company, Inc.		\$3.0000	\$480.00
	Southern Constructors, Inc.		\$10.0000	\$1,600.00
	Whaley Construction, LLC		\$7.0000	\$1,120.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Jamison Construction, LLC		\$38,000.0000	\$38,000.00
	Wright Brothers Construction Company, Inc.		\$32,600.0000	\$32,600.00
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
	Whaley Construction, LLC		\$57,600.0000	\$57,600.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		200.000 L.F.		
	Jamison Construction, LLC		\$65.0000	\$13,000.00
	Wright Brothers Construction Company, Inc.		\$40.8000	\$8,160.00
	Southern Constructors, Inc.		\$40.0000	\$8,000.00
	Whaley Construction, LLC		\$65.0000	\$13,000.00

				CONTRACT CNW282
			UNIT PRICE	EXTENSION
712-02.47	BRIDGE MOUNTED INTERCONNECTED PORTABLE BARR			
		380.000 L.F.		
	Jamison Construction, LLC		\$65.0000	\$24,700.00
	Wright Brothers Construction Company, Inc.		\$74.5000	\$28,310.00
	Southern Constructors, Inc.		\$120.0000	\$45,600.00
	Whaley Construction, LLC		\$98.0000	\$37,240.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)		
		2.000 EACH		
	Jamison Construction, LLC		\$6,000.0000	\$12,000.00
	Wright Brothers Construction Company, Inc.		\$10,500.0000	\$21,000.00
	Southern Constructors, Inc.		\$8,000.0000	\$16,000.00
	Whaley Construction, LLC		\$8,300.0000	\$16,600.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		22.000 EACH		
	Jamison Construction, LLC		\$32.0000	\$704.00
	Wright Brothers Construction Company, Inc.		\$39.8000	\$875.60
	Southern Constructors, Inc.		\$40.0000	\$880.00
	Whaley Construction, LLC		\$29.0000	\$638.00
712-06	SIGNS (CONSTRUCTION)			
		1,362.000 S.F.		
	Jamison Construction, LLC		\$10.0000	\$13,620.00
	Wright Brothers Construction Company, Inc.		\$7.7500	\$10,555.50
	Southern Constructors, Inc.		\$15.0000	\$20,430.00
	Whaley Construction, LLC		\$8.0000	\$10,896.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		1,800.000 L.F.		
	Jamison Construction, LLC		\$5.0000	\$9,000.00
	Wright Brothers Construction Company, Inc.		\$4.6500	\$8,370.00
	Southern Constructors, Inc.		\$4.0000	\$7,200.00
	Whaley Construction, LLC		\$5.0000	\$9,000.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Jamison Construction, LLC		\$20.0000	\$960.00
	Wright Brothers Construction Company, Inc.		\$27.3000	\$1,310.40
	Southern Constructors, Inc.		\$25.0000	\$1,200.00
	Whaley Construction, LLC		\$28.0000	\$1,344.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		7.000 EACH		
	Jamison Construction, LLC		\$7,100.0000	\$49,700.00
	Wright Brothers Construction Company, Inc.		\$6,910.0000	\$48,370.00
	Southern Constructors, Inc.		\$8,000.0000	\$56,000.00
	Whaley Construction, LLC		\$6,600.0000	\$46,200.00

			CON	FRACT CNW282
		ι	JNIT PRICE	EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLO			
		9.000 EACH		
	Jamison Construction, LLC		\$275.0000	\$2,475.00
	Wright Brothers Construction Company, Inc.		\$109.0000	\$981.00
	Southern Constructors, Inc.		\$120.0000	\$1,080.00
	Whaley Construction, LLC		\$110.0000	\$990.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		9.000 EACH		
	Jamison Construction, LLC		\$175.0000	\$1,575.00
	Wright Brothers Construction Company, Inc.		\$21.9000	\$197.10
	Southern Constructors, Inc.		\$50.0000	\$450.00
	Whaley Construction, LLC		\$22.0000	\$198.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		0.550 L.M.		
	Jamison Construction, LLC	\$1	7,000.0000	\$9,350.00
	Wright Brothers Construction Company, Inc.		0,400.0000	\$5,720.00
	Southern Constructors, Inc.		2,000.0000	\$6,600.00
	Whaley Construction, LLC		0,450.0000	\$5,747.50
717-01	MOBILIZATION			
		1.000 LS		
	Jamison Construction, LLC		1,000.0000	\$81,000.00
	Wright Brothers Construction Company, Inc.		2,750.0000	\$52,750.00
	Southern Constructors, Inc.		5,000.0000	\$55,000.00
	Whaley Construction, LLC		6,000.0000	\$66,000.00
	Whaley Construction, LEC	ΦΟ	5,000.0000	\$66,000.00
730-40.02	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 LS		
	Jamison Construction, LLC	\$6	0,000.0000	\$60,000.00
	Wright Brothers Construction Company, Inc.	\$5	2,100.0000	\$52,100.00
	Southern Constructors, Inc.	\$5	5,000.0000	\$55,000.00
	Whaley Construction, LLC	\$10	0,000.0000	\$100,000.00

BRIDGE CATEGORY	UNIT PRICE	EXTENSION
202-01.02 REMOVAL OF ASBESTOS		
1.000 LS	¢10,000,0000	¢10,000,00
Jamison Construction, LLC Wright Brothers Construction Company, Inc.	\$10,000.0000 \$9,490.0000	\$10,000.00 \$9,490.00
Southern Constructors, Inc.	\$17,000.0000	\$17,000.00
Whaley Construction, LLC	\$10,000.0000	\$10,000.00
202-04.01 REMOVAL OF STRUCTURES (BRIDGE NO. 54-SR163-11.74)		
1.000 LS		
Jamison Construction, LLC	\$30,000.0000	\$30,000.00
Wright Brothers Construction Company, Inc.	\$50,500.0000	\$50,500.00
Southern Constructors, Inc.	\$65,000.0000	\$65,000.00
Whaley Construction, LLC	\$100,000.0000	\$100,000.00
602-10.01 STRUCTURAL STEEL REPAIRS		
1.000 LS		
Jamison Construction, LLC	\$3,800.0000	\$3,800.00
Wright Brothers Construction Company, Inc.	\$14,400.0000	\$14,400.00
Southern Constructors, Inc.	\$20,000.0000	\$20,000.00
Whaley Construction, LLC	\$1,210.0000	\$1,210.00
603-02.01 REPAINTING EXISTING STEEL STRUCTURES (BRIDGE NO. 54-SR163-11.74)		
1.000 LS		
Jamison Construction, LLC	\$70,000.0000	\$70,000.00
Wright Brothers Construction Company, Inc.	\$68,100.0000	\$68,100.00
Southern Constructors, Inc.	\$80,000.0000	\$80,000.00
Whaley Construction, LLC	\$67,100.0000	\$67,100.00
603-02.15 REPAINT EXISTING BEARINGS		
1.000 LS		
Jamison Construction, LLC	\$6,500.0000	\$6,500.00
Wright Brothers Construction Company, Inc.	\$2,680.0000	\$2,680.00
Southern Constructors, Inc.	\$30,000.0000	\$30,000.00
Whaley Construction, LLC	\$39,600.0000	\$39,600.00
603-05.20 CONTAINMENT & DISPOSAL OF WASTE(BRIDGE NO. 54-SR163.1174)		
1.000 LS		
Jamison Construction, LLC	\$32,000.0000	\$32,000.00
Wright Brothers Construction Company, Inc.	\$30,100.0000	\$30,100.00
Southern Constructors, Inc.	\$35,000.0000	\$35,000.00
Whaley Construction, LLC	\$29,700.0000	\$29,700.00
604-02.03 EPOXY COATED REINFORCING STEEL		
8,663.000 LB.		
Jamison Construction, LLC	\$2.5000	\$21,657.50
Wright Brothers Construction Company Inc	\$2,9500	\$25 555 85

Jamison Construction, LLC	\$2.5000	\$21,657.50
Wright Brothers Construction Company, Inc.	\$2.9500	\$25,555.85
Southern Constructors, Inc.	\$3.0000	\$25,989.00
Whaley Construction, LLC	\$2.2500	\$19,491.75

EXTENSION

UNIT PRICE

604-03.01	CLASS A C	ONCRETE	(BRIDGES)	
-----------	-----------	---------	-----------	--

604-03.01	CLASS A CONCRETE (BRIDGES)			
		7.000 C.Y.		
	Jamison Construction, LLC		\$1,600.0000	\$11,200.00
	Wright Brothers Construction Company, Inc.		\$6,140.0000	\$42,980.00
	Southern Constructors, Inc.		\$1,300.0000	\$9,100.00
	Whaley Construction, LLC		\$1,930.0000	\$13,510.00
604-03.09	CLASS D CONCRETE (BRIDGE DECK)			
		31.000 C.Y.		
	Jamison Construction, LLC		\$1,600.0000	\$49,600.00
	Wright Brothers Construction Company, Inc.		\$3,250.0000	\$100,750.00
	Southern Constructors, Inc.		\$1,900.0000	\$58,900.00
	Whaley Construction, LLC		\$1,122.0000	\$34,782.00
604-10.05	CONCRETE			
		77.000 S.F.		
	Jamison Construction, LLC		\$180.0000	\$13,860.00
	Wright Brothers Construction Company, Inc.		\$246.0000	\$18,942.00
	Southern Constructors, Inc.		\$140.0000	\$10,780.00
	Whaley Construction, LLC		\$450.0000	\$34,650.00
604-10.14	REMOVE EXISTING WEARING SURFACE			
		1.000 LS		
	Jamison Construction, LLC		\$30,000.0000	\$30,000.00
	Wright Brothers Construction Company, Inc.		\$30,000.0000	\$30,000.00
	Southern Constructors, Inc.		\$35,000.0000	\$35,000.00
	Whaley Construction, LLC		\$30,250.0000	\$30,250.00
604-10.18	REINFORCING STEEL (REPAIRS)			
		139.000 LB.		
	Jamison Construction, LLC		\$3.0000	\$417.00
	Wright Brothers Construction Company, Inc.		\$16.0500	\$2,230.95
	Southern Constructors, Inc.		\$6.0000	\$834.00
	Whaley Construction, LLC		\$15.0000	\$2,085.00
604-10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)			
		21.000 S.Y.		
	Jamison Construction, LLC		\$480.0000	\$10,080.00
	Wright Brothers Construction Company, Inc.		\$1,130.0000	\$23,730.00
	Southern Constructors, Inc.		\$600.0000	\$12,600.00
	Whaley Construction, LLC		\$656.0000	\$13,776.00
604-10.44	EXPANSION JOINT REPAIRS			
		324.000 L.F.		
	Jamison Construction, LLC		\$120.0000	\$38,880.00
	Wright Brothers Construction Company, Inc.		\$28.6000	\$9,266.40
	Southern Constructors, Inc.		\$50.0000	\$16,200.00
	Whaley Construction, LLC		\$110.0000	\$35,640.00

			(CONTRACT CNW282
			UNIT PRICE	EXTENSION
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
		21.000 S.Y.		
	Jamison Construction, LLC		\$330.0000	\$6,930.00
	Wright Brothers Construction Company, Inc.		\$590.0000	\$12,390.00
	Southern Constructors, Inc.		\$300.0000	\$6,300.00
	Whaley Construction, LLC		\$656.0000	\$13,776.00
604-10.54	CONCRETE REPAIRS			
		76.000 S.F.		
	Jamison Construction, LLC		\$180.0000	\$13,680.00
	Wright Brothers Construction Company, Inc.		\$242.0000	\$18,392.00
	Southern Constructors, Inc.		\$140.0000	\$10,640.00
	Whaley Construction, LLC		\$120.0000	\$9,120.00
604-10.58	EPOXY INJECTION (INJECTION)			
		1.000 GAL.		
	Jamison Construction, LLC		\$335.0000	\$335.00
	Wright Brothers Construction Company, Inc.		\$103.0000	\$103.00
	Southern Constructors, Inc.		\$200.0000	\$200.00
	Whaley Construction, LLC		\$385.0000	\$385.00
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
		2.000 L.F.		
	Jamison Construction, LLC		\$300.0000	\$600.00
	Wright Brothers Construction Company, Inc.		\$358.0000	\$716.00
	Southern Constructors, Inc.		\$1,000.0000	\$2,000.00
	Whaley Construction, LLC		\$1,650.0000	\$3,300.00
604-10.90	MISCELLANEOUS BRIDGE ITEMS			
		1.000 LS		
	Jamison Construction, LLC		\$10,000.0000	\$10,000.00
	Wright Brothers Construction Company, Inc.		\$26,100.0000	\$26,100.00
	Southern Constructors, Inc.		\$40,000.0000	\$40,000.00
	Whaley Construction, LLC		\$30,000.0000	\$30,000.00
610-10.40	BRIDGE DECK DRAINS			
		1.000 LS		
	Jamison Construction, LLC		\$1,800.0000	\$1,800.00
	Wright Brothers Construction Company, Inc.		\$1,700.0000	\$1,700.00
	Southern Constructors, Inc.		\$800.0000	\$800.00
	Whaley Construction, LLC		\$3,500.0000	\$3,500.00
615-02.52	PRESTRESSED CONCRETE BOX BEAM (16" X 48")			
		114.000 L.F.		
	Jamison Construction, LLC		\$1,042.0000	\$118,788.00
	Wright Brothers Construction Company, Inc.		\$1,020.0000	\$116,280.00
	Southern Constructors, Inc.		\$1,000.0000	\$114,000.00
	Whaley Construction, LLC		\$892.0000	\$101,688.00

			UNIT PRICE	EXTENSION
617-01	BRIDGE DECK SEALANT			
		932.000 S.Y.		
	Jamison Construction, LLC		\$30.0000	\$27,960.00
	Wright Brothers Construction Company, Inc.		\$24.2000	\$22,554.40
	Southern Constructors, Inc.		\$25.0000	\$23,300.00
	Whaley Construction, LLC		\$40.0000	\$37,280.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		7.000 TON		
	Jamison Construction, LLC		\$130.0000	\$910.00
	Wright Brothers Construction Company, Inc.		\$1,300.0000	\$9,100.00
	Southern Constructors, Inc.		\$170.0000	\$1,190.00
	Whaley Construction, LLC		\$61.0000	\$427.00

SUB-TOTAL ROADWAY

Jamison Construction, LLC	\$470,577.00
Wright Brothers Construction Company, Inc.	\$419,870.20
Southern Constructors, Inc.	\$511,830.00
Whaley Construction, LLC	\$558,960.00

SUB-TOTAL BRIDGE

Jamison Construction, LLC	\$508,997.50
Wright Brothers Construction Company, Inc.	\$636,060.60
Southern Constructors, Inc.	\$614,833.00
Whaley Construction, LLC	\$631,270.75

TOTAL CONTRACT

Jamison Construction, LLC	\$979,574.50
Wright Brothers Construction Company, Inc.	\$1,055,930.80
Southern Constructors, Inc.	\$1,126,663.00
Whaley Construction, LLC	\$1,190,230.75

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

OBION COUNTY (Contract No. CNW276 Call 033)

R-NH-SIP-3(142),66001-3284-94

THE GRADING, DRAINAGE AND PAVING ON U.S. 51 (S.R. 3) AT THE INTERSECTION OF WYNRIDGE STREET/GATES DRIVE (L.M. 11.42).

PROJECT LENGTH - 0.157 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

DBE GOAL 3.00%

Ford Construction Company

TOTAL CONTRACT

\$730,645.26

105-01 CONSTRUCTION STAKES, LINES AND GRADES 1000 LS 524,700.000 202-030 REMOVAL OF ASPHALT PAVEMENT 203-04 REMOVAL OF ASPHALT PAVEMENT 203-05 Ford Construction Company 203-06 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) 203-07 Ford Construction Company 203-08 BORROW EXCAVATION (UNCLASSIFIED) 203-09 Ford Construction Company 203-09 Ford Construction Company 203-09 BORROW EXCAVATION (UNCLASSIFIED) 203-09 Ford Construction Company 203-09
Ford Construction Company \$24,700.000 \$24,700.000 202-03.01 REMOVAL OF ASPHALT PAVEMENT 219.000 S.Y. \$33.0000 \$7,227.00 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) \$30.000 C.Y. \$327.000 \$13,500.00 203-02 BORROW EXCAVATION (UNCLASSIFIED) \$27.000 \$13,500.00 \$13,500.00 203-03 BORROW EXCAVATION (UNCLASSIFIED) \$27.000 \$13,500.00 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL \$33.5000 C.Y. \$33.5000 C.Y. \$22,411.50
219.000 S.Y. \$33.000 \$7,227.00 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) \$00.000 C.Y. \$13,500.00 203-03 BORROW EXCAVATION (UNCLASSIFIED) \$27.000 \$13,500.00 203-04 BORROW EXCAVATION (UNCLASSIFIED) \$33.5000 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL 78.000 C.Y. \$33.5000 \$22,411.50
Ford Construction Company \$33.000 \$7,227.00 203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED) 500.000 C.Y. Ford Construction Company \$27.000 \$13,500.00 203-03 BORROW EXCAVATION (UNCLASSIFIED) \$27.000 \$13,500.00 203-04 PLACING AND SPREADING TOPSOIL \$33.5000 C.Y. \$22,411.50
500.000 C.Y. \$27.0000 \$13,500.00 203-03 BORROW EXCAVATION (UNCLASSIFIED) 669.000 C.Y. \$33.5000 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL 78.000 C.Y. \$33.5000 \$22,411.50
Ford Construction Company \$27.0000 \$13,500.00 203-03 BORROW EXCAVATION (UNCLASSIFIED) 669.000 C.Y. \$33.5000 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL 78.000 C.Y. \$30.00 C.Y. \$22,411.50
669.000 C.Y. Ford Construction Company \$33.5000 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL 78.000 C.Y.
Ford Construction Company \$33.5000 \$22,411.50 203-04 PLACING AND SPREADING TOPSOIL 78.000 C.Y. 78.000 C.Y.
78.000 C.Y.
203-06 WATER 17.000 M.G.
Ford Construction Company \$21.0000 \$357.00
204-08.01 BACKFILL MATERIAL (FLOWABLE FILL) 2.000 C.Y.
Ford Construction Company \$700.0000 \$1,400.00
209-05 SEDIMENT REMOVAL 20.000 C.Y.
Ford Construction Company \$33.0000 \$660.00
209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING) 100.000 L.F.
Ford Construction Company \$8.5000 \$850.00
209-09.01 SANDBAGS 25.000 BAG
Ford Construction Company \$6.0000 \$150.00
209-20.04 POLYETHYLENE SHEETING (10 MIL.) 50.000 S.Y.
Ford Construction Company \$4.0000 \$200.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D 1,005.000 TON
Ford Construction Company \$51,255.00

CONTRACT CNW276 UNIT PRICE **EXTENSION** 303-02 MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D) 25.000 TON \$1,275.00 Ford Construction Company \$51.0000 303-10.01 MINERAL AGGREGATE (SIZE 57) 25.000 TON Ford Construction Company \$63.0000 \$1.575.00 307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A 453.000 TON Ford Construction Company \$195.0000 \$88,335.00 307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2 167.000 TON Ford Construction Company \$195.0000 \$32,565.00 402-01 **BITUMINOUS MATERIAL FOR PRIME COAT (PC)** 2.000 TON Ford Construction Company \$100.0000 \$200.00 402-02 AGGREGATE FOR COVER MATERIAL (PC) 7.000 TON \$5.0000 \$35.00 Ford Construction Company 403-01 **BITUMINOUS MATERIAL FOR TACK COAT (TC)** 1.000 TON \$100.0000 Ford Construction Company \$100.00 407-20.05 SAW CUTTING ASPHALT PAVEMENT 1,000.000 L.F. Ford Construction Company \$6.0000 \$6,000.00 411-02.10 ACS MIX(PG70-22) GRADING D 97.000 TON Ford Construction Company \$240.0000 \$23,280.00 411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH) 0.240 L.M. \$19,260.0000 \$4,622.40 Ford Construction Company 415-01.02 COLD PLANING BITUMINOUS PAVEMENT 152.000 S.Y. Ford Construction Company \$112.0000 \$17,024.00 621-03.02 18" TEMPORARY DRAINAGE PIPE 18.000 L.F. Ford Construction Company \$97.0000 \$1,746.00

			UNIT PRICE	EXTENSION
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
	Ford Construction Company	87.000 C.Y.	\$1,500.0000	\$130,500.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Ford Construction Company	50.000 L.F.	\$5.0000	\$250.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)	50.000 TON		
	Ford Construction Company	50.000 101	\$50.0000	\$2,500.00
712 -0 1	TRAFFIC CONTROL	1.000 LS		
	Ford Construction Company	1.000 LS	\$28,000.0000	\$28,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL	2.060.000 5		
	Ford Construction Company	2,060.000 L.F.	\$39.0000	\$80,340.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3)	2.000 EACH		
	Ford Construction Company	2.000 LAGH	\$9,100.0000	\$18,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	54.000 EACH		
	Ford Construction Company		\$32.0000	\$1,728.00
712-04.50	BARRIER RAIL DELINEATOR	103.000 EACH		
	Ford Construction Company		\$11.0000	\$1,133.00
712-05.01	WARNING LIGHTS (TYPE A)	40.000 EACH		
	Ford Construction Company		\$21.5000	\$860.00
712-05.03	WARNING LIGHTS (TYPE C)	40.000 EACH		
	Ford Construction Company		\$21.5000	\$860.00
712 -0 6	SIGNS (CONSTRUCTION)	330.000 S.F.		
	Ford Construction Company		\$8.0000	\$2,640.00
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Ford Construction Company	2.000 EACH	\$960.0000	\$1,920.00

			UNIT PRICE	CONTRACT CNW276 EXTENSION
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
	Ford Construction Company	4,260.000 L.F.	\$7.0000	\$29,820.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Ford Construction Company	75.000 L.F.	\$6.0000	\$450.00
713-11.01	"U" SECTION STEEL POSTS			
	Ford Construction Company	325.000 LB.	\$4.3000	\$1,397.50
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Ford Construction Company	185.000 LB.	\$5.3000	\$980.50
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	Ford Construction Company	131.000 S.F.	\$15.0000	\$1,965.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	Ford Construction Company	109.000 S.F.	\$16.0000	\$1,744.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Ford Construction Company	1.000 LS	\$268.0000	\$268.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Ford Construction Company	2.000 EACH	\$5,900.0000	\$11,800.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 C	-		
	Ford Construction Company	32.000 EACH	\$63.0000	\$2,016.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Ford Construction Company	17.000 S.Y.	\$43.0000	\$731.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Ford Construction Company	62.000 L.F.	\$32.0000	\$1,984.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Ford Construction Company	4.000 EACH	\$270.0000	\$1,080.00

			CONTRACT CNW	
			UNIT PRICE	EXTENSION
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Ford Construction Company	15.000 S.F.	\$30.0000	\$450.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Ford Construction Company	0.300 L.M.	\$21,400.0000	\$6,420.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6	IN LINE)		
	Ford Construction Company	0.300 L.M.	\$21,400.0000	\$6,420.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8	IN BARRIER LINE)		
	Ford Construction Company	632.000 L.F.	\$4.2800	\$2,704.96
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6			
	Ford Construction Company	110.000 L.F.	\$4.2800	\$470.80
717-01	MOBILIZATION			
	Ford Construction Company	1.000 LS	\$79,000.0000	\$79,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Ford Construction Company	86.000 S.Y.	\$6.3000	\$541.80
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
	Ford Construction Company	540.000 L.F.	\$9.0000	\$4,860.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Ford Construction Company	24.000 UNIT	\$53.5000	\$1,284.00
801-03	WATER (SEEDING & SODDING)			
	Ford Construction Company	7.000 M.G.	\$21.4000	\$149.80
803-01	SODDING (NEW SOD)			
	Ford Construction Company	470.000 S.Y.	\$7.5000	\$3,525.00

Ford Construction Company

TOTAL CONTRACT

Ford Construction Company

\$730,645.26

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

PERRY COUNTY (Contract No. CNW257 Call 034)

PHSIP-13(88),68001-3258-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 13 FROM 4-H LANE (L.M. 2.39)TO BAPTIST CAMP ROAD (L.M. 5.61).

PROJECT LENGTH - 3.220 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 6.00%

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$277,166.33 \$312,398.50

			c	ONTRACT CNW257
			UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY			
705-04 09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
100 04.00		8.000 EACH		
	LU, Inc.		\$1,740.5000	\$13,924.00
	Superior Traffic Control, LLC		\$1,500.0000	\$12,000.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		4,140.000 L.F.		
	LU, Inc. Superior Traffic Control, LLC		\$2.9400 \$5.2500	\$12,171.60 \$21,735.00
	Superior Traine Control, ELC		\$5.2500	φ21,733.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		4,140.000 L.F.		
	LU, Inc. Superior Traffic Control, LLC		\$31.1400 \$38.0000	\$128,919.60 \$157,320.00
			<i>Q</i>	<i> </i>
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	LU, Inc.	8.000 EACH	¢2 228 5100	¢25,009,09
	Superior Traffic Control, LLC		\$3,238.5100 \$3,825.0000	\$25,908.08 \$30,600.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	LU, Inc.	1.000 LS	\$16,750.0000	\$16,750.00
	Superior Traffic Control, LLC		\$10,000.0000	\$10,000.00
713-02 21	SIGN POST DELINEATION ENHANCEMENT			
713-02.21	SIGN FOST DELINEATION ENHANCEMENT	816.000 L.F.		
	LU, Inc.		\$8.4000	\$6,854.40
	Superior Traffic Control, LLC		\$7.5000	\$6,120.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		427.000 LB.		
	LU, Inc.		\$17.5600	\$7,498.12
	Superior Traffic Control, LLC		\$7.0000	\$2,989.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		267.000 S.F.		
	LU, Inc. Superior Traffic Control, LLC		\$16.8700 \$20.0000	\$4,504.29 \$5,340.00
			ψ20.0000	ψ0,040.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		94.750 S.F.	¢40.0500	¢4, 740, 04
	LU, Inc. Superior Traffic Control, LLC		\$18.0500 \$22.0000	\$1,710.24 \$2,084.50
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-			
	LU, Inc.	280.000 EACH	\$66.3000	\$18,564.00
	Superior Traffic Control, LLC		\$40.0000	\$11,200.00

PAGE 2

CONTRACT	CNW257

			00	difficación cittizor
			UNIT PRICE	EXTENSION
716-02.05	5 PLASTIC PAVEMENT MARKING (STOP LINE)			
		105.000 L.F.		
	LU, Inc.		\$25.5000	\$2,677.50
	Superior Traffic Control, LLC		\$22.0000	\$2,310.00
716-13.07	7 SPRAY THERMO PVMT MRKNG (40 mil) (6IN LINE)			
		12.900 L.M.		
	LU, Inc.		\$2,805.0000	\$36,184.50
	Superior Traffic Control, LLC		\$3,000.0000	\$38,700.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$1,500.0000	\$1,500.00
	Superior Traffic Control, LLC		\$12,000.0000	\$12,000.00
			, ,	÷ ,

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$277,166.33 \$312,398.50

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$277,166.33 \$312,398.50

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

PUTNAM COUNTY (Contract No. CNW288 Call 035)

71NMSC-S3-002

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc. J & S Construction Company, Inc. TOTAL CONTRACT

\$92,376.19 \$138,552.00

				CONTRACT CNW288
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
680-02.0 1	I BUILDING (40' X 100')			
		1.000 EACH		
	H & H Construction, Inc.		\$4,618.8600	\$4,618.86
	J & S Construction Company, Inc.		\$132,052.0000	\$132,052.00
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.		\$87,757.3300	\$87,757.33
	J & S Construction Company, Inc.		\$6,500.0000	\$6,500.00

SUB-TOTAL MAINTENANCE

H & H Construction, Inc.

J & S Construction Company, Inc.

\$92,376.19 \$138,552.00

TOTAL CONTRACT

H & H Construction, Inc.

J & S Construction Company, Inc.

\$92,376.19 \$138,552.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

RUTHERFORD COUNTY (Contract No. CNW258 Call 036)

HSIP-I-840(16),75840-3135-94,STP-M-I-840(19),75840-3138-54

THE INSTALLATION OF SIGNALS AND LIGHTING AT THE I-840/VETERAN'S PARKWAY INTERCHANGE AND WIDENING OF THE I-840 WB RAMP TO VETERAN'S PARKWAY (L.M. 5.04 - L.M. 5.83).

PROJECT LENGTH - 1.417 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2023

DBE GOAL 4.00%

TOTAL CONTRACT

Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC \$3,205,861.87 \$3,271,430.85 \$3,361,482.63

			CC	ONTRACT CNW258
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Stansell Electric Company, Inc.		\$61,342.0000	\$61,342.00
	Vulcan Construction Materials, LLC		\$80,000.0000	\$80,000.00
	Adams Contracting, LLC		\$40,000.0000	\$40,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		1,017.000 C.Y.		
	Stansell Electric Company, Inc.		\$42.5000	\$43,222.50
	Vulcan Construction Materials, LLC		\$75.0000	\$76,275.00
	Adams Contracting, LLC		\$90.0000	\$91,530.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		743.000 C.Y.		
	Stansell Electric Company, Inc.		\$79.6000	\$59,142.80
	Vulcan Construction Materials, LLC		\$75.0000	\$55,725.00
	Adams Contracting, LLC		\$150.0000	\$111,450.00
203-04	PLACING AND SPREADING TOPSOIL			
		258.000 C.Y.		
	Stansell Electric Company, Inc.		\$42.5000	\$10,965.00
	Vulcan Construction Materials, LLC		\$75.0000	\$19,350.00
	Adams Contracting, LLC		\$45.0000	\$11,610.00
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		3.800 C.Y.		
	Stansell Electric Company, Inc.		\$1,062.0000	\$4,035.60
	Vulcan Construction Materials, LLC		\$600.0000	\$2,280.00
	Adams Contracting, LLC		\$600.0000	\$2,280.00
209-02.03	8" TEMPORARY SLOPE DRAIN			
		800.000 L.F.		
	Stansell Electric Company, Inc.		\$42.5000	\$34,000.00
	Vulcan Construction Materials, LLC		\$15.0000	\$12,000.00
	Adams Contracting, LLC		\$25.0000	\$20,000.00
209-03.22	FILTER SOCK (18 INCH)			
		493.140 L.F.		
	Stansell Electric Company, Inc.		\$10.6000	\$5,227.28
	Vulcan Construction Materials, LLC		\$10.2500	\$5,054.69
	Adams Contracting, LLC		\$6.8500	\$3,378.01
209-05	SEDIMENT REMOVAL			
		9.404 C.Y.		
	Stansell Electric Company, Inc.		\$212.0000	\$1,993.65
	Vulcan Construction Materials, LLC		\$10.0000	\$94.04
	Adams Contracting, LLC		\$100.0000	\$940.40

			С	ONTRACT CNW258
			UNIT PRICE	EXTENSION
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		650.000 L.F.		
	Stansell Electric Company, Inc.		\$5.6000	\$3,640.00
	Vulcan Construction Materials, LLC		\$8.0000	\$5,200.00
	Adams Contracting, LLC		\$4.2000	\$2,730.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		1,009.224 L.F.		
	Stansell Electric Company, Inc.		\$2.1000	\$2,119.37
	Vulcan Construction Materials, LLC		\$5.0000	\$5,046.12
	Adams Contracting, LLC		\$2.0000	\$2,018.45
209-08.07	ROCK CHECK DAM			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$319.0000	\$638.00
	Vulcan Construction Materials, LLC		\$600.0000	\$1,200.00
	Adams Contracting, LLC		\$497.1300	\$994.26
209-09.01	SANDBAGS			
		120.000 BAG		
	Stansell Electric Company, Inc.		\$4.3000	\$516.00
	Vulcan Construction Materials, LLC		\$8.0000	\$960.00
	Adams Contracting, LLC		\$20.5000	\$2,460.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
		500.000 S.Y.		
	Stansell Electric Company, Inc.		\$10.6000	\$5,300.00
	Vulcan Construction Materials, LLC		\$4.0000	\$2,000.00
	Adams Contracting, LLC		\$2.5000	\$1,250.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		122.015 TON		
	Stansell Electric Company, Inc.		\$106.0000	\$12,933.59
	Vulcan Construction Materials, LLC		\$95.0000	\$11,591.43
	Adams Contracting, LLC		\$50.0000	\$6,100.75
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		39.556 TON		
	Stansell Electric Company, Inc.		\$212.0000	\$8,385.87
	Vulcan Construction Materials, LLC		\$125.0000	\$4,944.50
	Adams Contracting, LLC		\$60.0000	\$2,373.36
313-03	TREATED PERMEABLE BASE			
		386.812 S.Y.		
	Stansell Electric Company, Inc.		\$265.0000	\$102,505.18
	Vulcan Construction Materials, LLC		\$50.0000	\$19,340.60
	Adams Contracting, LLC		\$53.3000	\$20,617.08

			UNIT PRICE	EXTENSION
501-01.03	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"			
		342.790 S.Y.		
	Stansell Electric Company, Inc.		\$265.0000	\$90,839.35
	Vulcan Construction Materials, LLC		\$375.0000	\$128,546.25
	Adams Contracting, LLC		\$325.0000	\$111,406.75
	, i.a		<i>40-010000</i>	\$,
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		50.000 L.F.		
	Stansell Electric Company, Inc.		\$106.0000	\$5,300.00
	Vulcan Construction Materials, LLC		\$5.0000	\$250.00
	Adams Contracting, LLC		\$60.0000	\$3,000.00
705-06-01	W BEAM GR (TYPE 2) MASH TL-3			
		350.000 L.F.		
	Stansell Electric Company, Inc.		\$36.7000	\$12,845.00
	Vulcan Construction Materials, LLC		\$40.0000	\$14,000.00
	Adams Contracting, LLC		\$41.0000	\$14,350.00
	ridanio opiniadang, 220		ф н	φ1 1,000.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		760.000 L.F.		
	Stansell Electric Company, Inc.		\$2.1000	\$1,596.00
	Vulcan Construction Materials, LLC		\$5.0000	\$3,800.00
	Adams Contracting, LLC		\$1.8500	\$1,406.00
709-05 05	MACHINED RIP-RAP (CLASS A-3)			
709-05.05	MACHINED RIF-RAF (CLASS A-3)	500.000 TON		
	Stancoll Electric Company Inc.	300.000 1014	\$85.6000	\$42,800.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$95.0000	\$47,500.00
	·			
	Adams Contracting, LLC		\$60.0000	\$30,000.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		731.808 TON		
	Stansell Electric Company, Inc.		\$85.6000	\$62,642.76
	Vulcan Construction Materials, LLC		\$95.0000	\$69,521.76
	Adams Contracting, LLC		\$60.0000	\$43,908.48
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		375.000 L.F.		
	Stansell Electric Company, Inc.		\$36.3000	\$13,612.50
	Vulcan Construction Materials, LLC		\$30.0000	\$11,250.00
	Adams Contracting, LLC		\$15.0000	\$5,625.00
			••••••	+-,
710-05	LATERAL UNDERDRAIN			
		63.000 L.F.		
	Stansell Electric Company, Inc.		\$47.7000	\$3,005.10
	Vulcan Construction Materials, LLC		\$30.0000	\$1,890.00
	Adams Contracting, LLC		\$35.0000	\$2,205.00

				INTRACT CNW250
			UNIT PRICE	EXTENSION
710-06.11	LATERAL UNDERDRAIN ENDWALL (2:1)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$2,993.0000	\$5,986.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$3,000.00
	Adams Contracting, LLC		\$2,500.0000	\$5,000.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Stansell Electric Company, Inc.		\$98,324.0000	\$98,324.00
	Vulcan Construction Materials, LLC		\$200,000.0000	\$200,000.00
	Adams Contracting, LLC		\$400,000.0000	\$400,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		505.769 L.F.		
	Stansell Electric Company, Inc.		\$79.6000	\$40,259.21
	Vulcan Construction Materials, LLC		\$105.0000	\$53,105.75
	Adams Contracting, LLC		\$67.0600	\$33,916.87
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-	3)		
		2.000 EACH		
	Stansell Electric Company, Inc.		\$7,964.0000	\$15,928.00
	Vulcan Construction Materials, LLC		\$22,500.0000	\$45,000.00
	Adams Contracting, LLC		\$12,812.5000	\$25,625.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		10.000 EACH		
	Stansell Electric Company, Inc.		\$47.9000	\$479.00
	Vulcan Construction Materials, LLC		\$60.0000	\$600.00
	Adams Contracting, LLC		\$46.1300	\$461.30
712-04.50	BARRIER RAIL DELINEATOR			
		10.115 EACH		
	Stansell Electric Company, Inc.		\$21.2000	\$214.44
	Vulcan Construction Materials, LLC		\$20.0000	\$202.30
	Adams Contracting, LLC		\$20.5000	\$207.36
712-05.01	WARNING LIGHTS (TYPE A)			
		10.000 EACH		
	Stansell Electric Company, Inc.		\$26.7000	\$267.00
	Vulcan Construction Materials, LLC		\$30.0000	\$300.00
	Adams Contracting, LLC		\$25.6300	\$256.30
712-06	SIGNS (CONSTRUCTION)			
		886.000 S.F.		•
	Stansell Electric Company, Inc.		\$10.6000	\$9,391.60
	Vulcan Construction Materials, LLC Adams Contracting, LLC		\$25.0000 \$10.2500	\$22,150.00 \$9,081.50
	Adams Contracting, LLC		φ10.2000	φ9,001.00

EXTENSION

712-08.12	QUEUE PROTECTION TRUCK			
		5.000 DAY		
	Stansell Electric Company, Inc.		\$1,635.0000	\$8,175.00
	Vulcan Construction Materials, LLC Adams Contracting, LLC		\$2,500.0000 \$2,500.0000	\$12,500.00 \$12,500.00
	Adams Contracting, LEC		ψ2,300.0000	φ12,300.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		682.000 L.F.		
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$6.1000 \$4.0000	\$4,160.20 \$2,728.00
	Adams Contracting, LLC		\$4.1000	\$2,728.00 \$2,796.20
713-14.21	STREET NAME SIGN (RIGID 0.100IN THICK			
	Stongoll Flootrig Company, Inc.	32.000 S.F.	¢70,000	¢0 504 40
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$79.2000 \$23.5000	\$2,534.40 \$752.00
	Adams Contracting, LLC		\$34.8500	\$1,115.20
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	4 000 1 0		
	Stansell Electric Company, Inc.	1.000 LS	\$792.0000	\$792.00
	Vulcan Construction Materials, LLC		\$1,100.0000	\$1,100.00
	Adams Contracting, LLC		\$3,587.5000	\$3,587.50
713-15.07	SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK)			
715-15.07		3.000 EACH		
	Stansell Electric Company, Inc.		\$434.0000	\$1,302.00
	Vulcan Construction Materials, LLC		\$300.0000	\$900.00
	Adams Contracting, LLC		\$169.1300	\$507.39
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$8,294.0000	\$33,176.00
	Vulcan Construction Materials, LLC Adams Contracting, LLC		\$15,000.0000 \$7,995.0000	\$60,000.00 \$31,980.00
	Adams Contracting, LEC		φ7,993.0000	\$31,980.00
713-16.20	SIGNS (W3-3, 48"X48")			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$392.0000	\$1,568.00
	Vulcan Construction Materials, LLC Adams Contracting, LLC		\$500.0000 \$538.1300	\$2,000.00 \$2,152.52
	0 , 1			, , , , , , , , , ,
713-16.50	REMOVE AND REPLACE SIGN (R5-1A, 42"X30")			
		4.000 EACH	# 0000 0000	* ~ + ~ ~ ~ ~
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$228.0000 \$370.0000	\$912.00 \$1,480.00
	Adams Contracting, LLC		\$169.1300	\$676.52

				JNIKACI CINV230
			UNIT PRICE	EXTENSION
713-16.51	REMOVE AND REPLACE SIGN (R5-1, 48"X48")			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$328.0000	\$1,312.00
	Vulcan Construction Materials, LLC		\$370.0000	\$1,480.00
	Adams Contracting, LLC		\$292.1300	\$1,168.52
713-16.52	REMOVE AND REPLACE SIGN (R6-1R, 54"X18")			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$206.0000	\$824.00
	Vulcan Construction Materials, LLC		\$250.0000	\$1,000.00
	Adams Contracting, LLC		\$128.1300	\$512.52
713-16.53	REMOVE AND REPLACE SIGN (R6-1L, 54"X18")			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$206.0000	\$824.00
	Vulcan Construction Materials, LLC		\$250.0000	\$1,000.00
	Adams Contracting, LLC		\$128.1300	\$512.52
713-16.54	REMOVE AND REPLACE SIGN (E5-1A, 96"X60")			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$3,532.0000	\$3,532.00
	Vulcan Construction Materials, LLC		\$3,300.0000	\$3,300.00
	Adams Contracting, LLC		\$5,125.0000	\$5,125.00
714-03	JACKED OR BORED CONDUIT			
		1,275.000 L.F.		
	Stansell Electric Company, Inc.		\$53.3000	\$67,957.50
	Vulcan Construction Materials, LLC		\$50.0000	\$63,750.00
	Adams Contracting, LLC		\$50.7500	\$64,706.25
714-03.01	DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)			
		11,810.000 L.F.		
	Stansell Electric Company, Inc.		\$10.7000	\$126,367.00
	Vulcan Construction Materials, LLC		\$12.0000	\$141,720.00
	Adams Contracting, LLC		\$12.1800	\$143,845.80
714-03.02	DIRECT BURIAL CONDUIT (3" PVC, SCHEDULE 40)			
		840.000 L.F.		
	Stansell Electric Company, Inc.		\$15.5000	\$13,020.00
	Vulcan Construction Materials, LLC		\$16.0000	\$13,440.00
	Adams Contracting, LLC		\$16.2400	\$13,641.60
714-04.01	CONDUIT (STRUCTURES - 1" RGS)			
		240.000 L.F.		
	Stansell Electric Company, Inc.		\$8.9000	\$2,136.00
	Vulcan Construction Materials, LLC		\$18.0000	\$4,320.00
	Adams Contracting, LLC		\$18.2700	\$4,384.80

			UNIT PRICE	EXTENSION
714-05.04	PULL BOXES (TYPE C)			
		32.000 EACH		
	Stansell Electric Company, Inc.		\$969.0000	\$31,008.00
	Vulcan Construction Materials, LLC		\$1,200.0000	\$38,400.00
	Adams Contracting, LLC		\$1,218.0000	\$38,976.00
714-05 05	PULL BOXES (JUNCTION BOX 6"X6")			
714-03.03		2.000 EACH		
	Stansell Electric Company, Inc.		\$473.0000	\$946.00
	Vulcan Construction Materials, LLC		\$820.0000	\$1,640.00
	Adams Contracting, LLC		\$832.3000	\$1,664.60
714-05 06	PULL BOXES (SECONDARY PULL BOX (LARGE))			
114 00.00		12.000 EACH		
	Stansell Electric Company, Inc.		\$2,295.0000	\$27,540.00
	Vulcan Construction Materials, LLC		\$2,260.0000	\$27,120.00
	Adams Contracting, LLC		\$2,293.9000	\$27,526.80
714-06.05	CABLE (1/C # 6 AWG)			
		6,420.000 L.F.		
	Stansell Electric Company, Inc.	-,	\$2.3000	\$14,766.00
	Vulcan Construction Materials, LLC		\$2.6900	\$17,269.80
	Adams Contracting, LLC		\$2.7500	\$17,655.00
714-06 06	CABLE (1/C # 4 AWG)			
/14-00.00		9,045.000 L.F.		
	Stansell Electric Company, Inc.	-,	\$3.1000	\$28,039.50
	Vulcan Construction Materials, LLC		\$3.7100	\$33,556.95
	Adams Contracting, LLC		\$3.7700	\$34,099.65
714-06 07	CABLE (1/C # 2 AWG)			
14-00.07		27,785.000 L.F.		
	Stansell Electric Company, Inc.		\$6.2000	\$172,267.00
	Vulcan Construction Materials, LLC		\$4.9600	\$137,813.60
	Adams Contracting, LLC		\$5.0300	\$139,758.55
714-06.08	CABLE (#6 AWG SOLID COPPER SOFT DRAWN)			
		13,915.000 L.F.		
	Stansell Electric Company, Inc.		\$2.6000	\$36,179.00
	Vulcan Construction Materials, LLC		\$2.6900	\$37,431.35
	Adams Contracting, LLC		\$2.7300	\$37,987.95
714-06.09	CABLE (#6 SOLID COPPER SOFT DRAWN) (GROUND)			
		1,670.000 L.F.		
	Stansell Electric Company, Inc.		\$2.9000	\$4,843.00
	Vulcan Construction Materials, LLC		\$2.6900	\$4,492.30
	Adams Contracting, LLC		\$2.7300	\$4,559.10

EXTENSION

714-08.09) LIGH	T STAN	DARDS (45	5' M.H.)	
	0				

714-08.09	LIGHT STANDARDS (45' M.H.)			
		19.000 EACH		
	Stansell Electric Company, Inc.		\$3,822.0000	\$72,618.00
	Vulcan Construction Materials, LLC		\$2,770.0000	\$52,630.00
	Adams Contracting, LLC		\$2,811.5500	\$53,419.45
	3 , 1		+)	÷;
714-08-10	LIGHT STANDARDS (130'HIGH MAST)			
714 00.10				
		4.000 EACH		\$ \$\$\$\$\$\$\$\$\$
	Stansell Electric Company, Inc.		\$51,716.0000	\$206,864.00
	Vulcan Construction Materials, LLC		\$44,410.0000	\$177,640.00
	Adams Contracting, LLC		\$45,076.1500	\$180,304.60
744 00 44				
/14-08.11	LIGHT STANDARDS (120' HIGH MAST)			
		4.000 EACH		
	Stansell Electric Company, Inc.		\$44,930.0000	\$179,720.00
	Vulcan Construction Materials, LLC		\$43,623.0000	\$174,492.00
	Adams Contracting, LLC		\$44,277.3500	\$177,109.40
714-08.23	FOUNDATION (ONLY) FOR LIGHT STANDARDS			
		19.000 EACH		
	Stansell Electric Company, Inc.		\$2,190.0000	\$41,610.00
	Vulcan Construction Materials, LLC		\$2,500.0000	\$47,500.00
	Adams Contracting, LLC		\$2,537.5000	\$48,212.50
714-08.46	FOUNDATION (ONLY) FOR HIGH MAST LIGHT STANDARD			
714-08.46	FOUNDATION (ONLY) FOR HIGH MAST LIGHT STANDARD	8.000 EACH		
714-08.46	FOUNDATION (ONLY) FOR HIGH MAST LIGHT STANDARD Stansell Electric Company, Inc.	8.000 EACH	\$33,719.0000	\$269,752.00
714-08.46		8.000 EACH	\$33,719.0000 \$21,640.0000	\$269,752.00 \$173,120.00
714-08.46	Stansell Electric Company, Inc.	8.000 EACH		
714-08.46	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC	8.000 EACH	\$21,640.0000	\$173,120.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC	8.000 EACH	\$21,640.0000	\$173,120.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC	8.000 EACH 19.000 EACH	\$21,640.0000	\$173,120.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC		\$21,640.0000	\$173,120.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED)		\$21,640.0000 \$21,964.6000	\$173,120.00 \$175,716.80
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc.		\$21,640.0000 \$21,964.6000 \$1,109.0000	\$173,120.00 \$175,716.80 \$21,071.00
	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC		\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC		\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST)	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc.	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91
714-09.09	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00
714-09.09 714-09.10	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00
714-09.09 714-09.10	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC	19.000 EACH 44.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00
714-09.09 714-09.10	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (81 WATT-LED UNDERPASS)	19.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000 \$3,333.2600	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00 \$146,663.44
714-09.09 714-09.10	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (81 WATT-LED UNDERPASS) Stansell Electric Company, Inc.	19.000 EACH 44.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000 \$3,284.0000 \$3,333.2600 \$1,133.0000	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00 \$144,663.44 \$4,532.00
714-09.09 714-09.10	Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (255 WATT-LED) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (295 WATT-LED HIGH MAST) Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC LUMINAIRES (81 WATT-LED UNDERPASS)	19.000 EACH 44.000 EACH	\$21,640.0000 \$21,964.6000 \$1,109.0000 \$1,126.0000 \$1,142.8900 \$1,739.0000 \$3,284.0000 \$3,333.2600	\$173,120.00 \$175,716.80 \$21,071.00 \$21,394.00 \$21,714.91 \$76,516.00 \$144,496.00 \$146,663.44

				MIRACI CIW230
			UNIT PRICE	EXTENSION
714-12.01	CONTROL CENTER (NO. 1)			
		1.000 LS		
	Stansell Electric Company, Inc.		\$9,873.0000	\$9,873.00
	Vulcan Construction Materials, LLC		\$12,600.0000	\$12,600.00
	Adams Contracting, LLC		\$12,789.0000	\$12,789.00
714-12.02	CONTROL CENTER (NO. 2)			
		1.000 LS		
	Stansell Electric Company, Inc.		\$9,873.0000	\$9,873.00
	Vulcan Construction Materials, LLC		\$12,600.0000	\$12,600.00
	Adams Contracting, LLC		\$12,789.0000	\$12,789.00
714-25.01	ELECTRICAL CONNECTION (CONTROL CENTER NO	D.1)		
		1.000 LS		
	Stansell Electric Company, Inc.		\$6,856.0000	\$6,856.00
	Vulcan Construction Materials, LLC		\$3,600.0000	\$3,600.00
	Adams Contracting, LLC		\$3,654.0000	\$3,654.00
714-25.02	ELECTRICAL CONNECTION (CONTROL CENTER NO	0.2)		
		1.000 LS		
	Stansell Electric Company, Inc.		\$6,856.0000	\$6,856.00
	Vulcan Construction Materials, LLC		\$8,640.0000	\$8,640.00
	Adams Contracting, LLC		\$8,769.6000	\$8,769.60
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION	STRIPING)		
		97.900 S.Y.		
	Stansell Electric Company, Inc.		\$38.4000	\$3,759.36
	Vulcan Construction Materials, LLC		\$20.0000	\$1,958.00
	Adams Contracting, LLC		\$20.5000	\$2,006.95
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		245.000 L.F.		
	Stansell Electric Company, Inc.		\$27.4000	\$6,713.00
	Vulcan Construction Materials, LLC		\$20.0000	\$4,900.00
	Adams Contracting, LLC		\$20.5000	\$5,022.50
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARRO			
		6.000 EACH		
	Stansell Electric Company, Inc.		\$291.0000	\$1,746.00
	Vulcan Construction Materials, LLC		\$200.0000	\$1,200.00
	Adams Contracting, LLC		\$205.0000	\$1,230.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		379.830 L.F.		
	Stansell Electric Company, Inc.		\$4.7000	\$1,785.20
	Vulcan Construction Materials, LLC		\$5.0000	\$1,899.15
	Adams Contracting, LLC		\$5.1300	\$1,948.53

			C C	UNITACI CNW238
			UNIT PRICE	EXTENSION
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.165 L.M.		
	Stansell Electric Company, Inc.		\$27,412.0000	\$4,522.98
	Vulcan Construction Materials, LLC		\$18,500.0000	\$3,052.50
	Adams Contracting, LLC		\$18,962.5000	\$3,128.81
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
		441.000 L.F.		
	Stansell Electric Company, Inc.		\$2.2000	\$970.20
	Vulcan Construction Materials, LLC		\$2.0000	\$882.00
	Adams Contracting, LLC		\$2.0500	\$904.05
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		140.000 L.F.		
	Stansell Electric Company, Inc.		\$8.3000	\$1,162.00
	Vulcan Construction Materials, LLC		\$10.0000	\$1,400.00
	Adams Contracting, LLC		\$10.2500	\$1,435.00
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)			
		6.000 EACH		
	Stansell Electric Company, Inc.		\$273.0000	\$1,638.00
	Vulcan Construction Materials, LLC		\$75.0000	\$450.00
	Adams Contracting, LLC		\$76.8800	\$461.28
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
		3.442 L.M.		
	Stansell Electric Company, Inc.		\$10,398.0000	\$35,789.92
	Vulcan Construction Materials, LLC		\$5,280.0000	\$18,173.76
	Adams Contracting, LLC		\$5,412.0000	\$18,628.10
716-09.86	CONTRAST PAVEMENT MARKING 6"			
		2.079 L.M.		
	Stansell Electric Company, Inc.		\$18,092.0000	\$37,613.27
	Vulcan Construction Materials, LLC		\$25,000.0000	\$51,975.00
	Adams Contracting, LLC		\$25,625.0000	\$53,274.38
716-09.87	CONTRAST PAVEMENT MARKINGS WORDS AND SYMBOLS			
		12.000 EACH		
	Stansell Electric Company, Inc.		\$658.0000	\$7,896.00
	Vulcan Construction Materials, LLC		\$650.0000	\$7,800.00
	Adams Contracting, LLC		\$666.2500	\$7,995.00
716-09.88	CONTRAST PAVEMENT MARKING 8"			
		0.165 L.M.		
	Stansell Electric Company, Inc.		\$21,930.0000	\$3,618.45
	Vulcan Construction Materials, LLC		\$50,000.0000	\$8,250.00
	Adams Contracting, LLC		\$51,250.0000	\$8,456.25

			•••	
			UNIT PRICE	EXTENSION
740 40 00				
/16-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	1.001 L.M.		
		1:001 E.W.		<i>.</i>
	Stansell Electric Company, Inc.		\$4,386.0000	\$4,390.39
	Vulcan Construction Materials, LLC		\$7,500.0000	\$7,507.50
	Adams Contracting, LLC		\$7,687.5000	\$7,695.19
716-13 03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER L	INF)		
		441.000 L.F.		
	Stansell Electric Company, Inc.		\$2.2000	\$970.20
	Vulcan Construction Materials, LLC		\$3.5000	\$1,543.50
	Adams Contracting, LLC		\$3.5900	\$1,583.19
717-01	MOBILIZATION			
		1.000 LS		
	Stansell Electric Company, Inc.		\$153,240.0000	\$153,240.00
	Vulcan Construction Materials, LLC		\$225,000.0000	\$225,000.00
	Adams Contracting, LLC		\$225,000.0000	\$225,000.00
	Adams Contracting, LEC		\$223,000.0000	ψ223,000.00
725-02.16	CONDUIT (STRUCTURES)			
		550.000 L.F.		
	Stansell Electric Company, Inc.		\$50.4000	\$27,720.00
	Vulcan Construction Materials, LLC		\$18.0000	\$9,900.00
	Adams Contracting, LLC		\$18.2700	\$10,048.50
	Adams Contracting, LLC		\$18.2700	\$10,046.50
725-03.80	CCTV CAMERA SYSTEM			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$3,696.0000	\$7,392.00
	Vulcan Construction Materials, LLC		\$6,820.0000	\$13,640.00
	Adams Contracting, LLC		\$6,922.3000	\$13,844.60
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		9.000 EACH		
	Stansell Electric Company, Inc.		\$1,055.0000	\$9,495.00
	Vulcan Construction Materials, LLC		\$1,013.0000	\$9,117.00
	Adams Contracting, LLC		\$1,028.2000	\$9,253.80
	Adams Contracting, LEC		ψ1,020.2000	ψ9,200.00
730-02.30	SIGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$1,101.0000	\$1,101.00
	Vulcan Construction Materials, LLC		\$1,013.0000	\$1,013.00
	Adams Contracting, LLC		\$1,028.2000	\$1,028.20
730-02.31	SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
		3.000 EACH	A (A - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	AA AAA
	Stansell Electric Company, Inc.		\$1,094.0000	\$3,282.00
	Vulcan Construction Materials, LLC		\$1,013.0000	\$3,039.00
	Adams Contracting, LLC		\$1,028.2000	\$3,084.60

EXTENSION

730-03.21 INSTALL PULL BOX (TYPE B)			
	7.000 EACH		
Stansell Electric Company, Inc.		\$973.0000	\$6,811.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$1,200.0000 \$1,218.0000	\$8,400.00 \$8,526.00
Adams Contracting, LLC		φ1,210.0000	φ0,520.00
730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A)			
	3.000 EACH		
Stansell Electric Company, Inc.		\$2,595.0000	\$7,785.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$2,960.0000 \$3,004.4000	\$8,880.00 \$9,013.20
Adding Contracting, LEC		ψ0,004.4000	ψ0,010.20
730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B)			
	3.000 EACH		
Stansell Electric Company, Inc.		\$3,270.0000	\$9,810.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$3,820.0000 \$3,877.3000	\$11,460.00 \$11,631.90
Adding Contracting, LEC		<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	φ11,001.00
730-03.33 FIBER OPTIC SPLICE FUSION			
	2.000 EACH		
Stansell Electric Company, Inc.		\$305.0000	\$610.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$2,880.0000 \$2,923.2000	\$5,760.00 \$5,846.40
Adams Contracting, LEC		ψ2,923.2000	ψ0,040.40
730-03.35 FIBER OPTIC TERMINATION SPLICE UNIT			
	2.000 EACH		
Stansell Electric Company, Inc.		\$667.0000	\$1,334.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$1,680.0000 \$1,705.2000	\$3,360.00 \$3,410.40
Adding Contracting, 220		¢1,700.2000	φο, πο. το
730-03.36 FIBER SPLICE ENCLOSURE (48F)			
	3.000 EACH		
Stansell Electric Company, Inc.		\$1,200.0000	\$3,600.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$2,860.0000 \$2,902.9000	\$8,580.00 \$8,708.70
		<i><i><i></i></i></i>	<i>v</i> 0,1 0011 0
730-03.40 NETWORK SWITCH (CISCO 3200 SERIES)			
	2.000 EACH		
Stansell Electric Company, Inc.		\$13,354.0000	\$26,708.00
Vulcan Construction Materials, LLC Adams Contracting, LLC		\$8,425.0000 \$8,551.3800	\$16,850.00 \$17,102.76
		<i>40,00</i> 10000	<i><i><i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i>,<i>i</i></i></i>
730-03.50 FIBER OPTIC CABLE (48F)			
	2,090.000 L.F.		
Stansell Electric Company, Inc.		\$7.4000	\$15,466.00
Vulcan Construction Materials, LLC		\$3.1000	\$6,479.00
Adams Contracting, LLC		\$3.1500	\$6,583.50

			UNIT PRICE	EXTENSION
730-03.55	FIBER OPTIC DROP CABLE (6F)			
		100.000 L.F.		
	Stansell Electric Company, Inc.		\$11.1000	\$1,110.00
	Vulcan Construction Materials, LLC		\$2.8000	\$280.00
	Adams Contracting, LLC		\$2.8400	\$284.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$1,588.0000	\$3,176.00
	Vulcan Construction Materials, LLC		\$3,500.0000	\$7,000.00
	Adams Contracting, LLC		\$3,552.5000	\$7,105.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
		2,325.000 L.F.		
	Stansell Electric Company, Inc.		\$1.7000	\$3,952.50
	Vulcan Construction Materials, LLC		\$1.8000	\$4,185.00
	Adams Contracting, LLC		\$1.8300	\$4,254.75
730-12.02	CONDUIT 2" DIAMETER (PVC)			
		1,900.000 L.F.		
	Stansell Electric Company, Inc.		\$29.6000	\$56,240.00
	Vulcan Construction Materials, LLC		\$12.0000	\$22,800.00
	Adams Contracting, LLC		\$12.1800	\$23,142.00
730-12.03	CONDUIT 3" DIAMETER (PVC)			
		575.000 L.F.		
	Stansell Electric Company, Inc.		\$37.0000	\$21,275.00
	Vulcan Construction Materials, LLC		\$16.0000	\$9,200.00
	Adams Contracting, LLC		\$16.2400	\$9,338.00
730-12.13	CONDUIT 2" DIAMETER (JACK AND BORE)			
		90.000 L.F.		
	Stansell Electric Company, Inc.		\$61.9000	\$5,571.00
	Vulcan Construction Materials, LLC		\$40.0000	\$3,600.00
	Adams Contracting, LLC		\$40.6000	\$3,654.00
730-12.14	CONDUIT 3" DIAMETER (JACK AND BORE)			
		610.000 L.F.		
	Stansell Electric Company, Inc.		\$68.3000	\$41,663.00
	Vulcan Construction Materials, LLC		\$50.0000	\$30,500.00
	Adams Contracting, LLC		\$50.7500	\$30,957.50
730-13.08	VEHICLE DETECTOR (RADAR DETECTION - STOP LINE)			
		6.000 EACH		
	Stansell Electric Company, Inc.		\$9,520.0000	\$57,120.00
	Vulcan Construction Materials, LLC		\$9,601.0000	\$57,606.00
	Adams Contracting, LLC		\$9,745.0200	\$58,470.12

			· · · · ·	CONTRACT CNW230
			UNIT PRICE	EXTENSION
730-13.09	VEHICLE DETECTOR (RADAR DETECTION - ADVANCE)			
		6.000 EACH		
	Stansell Electric Company, Inc.		\$9,985.0000	\$59,910.00
	Vulcan Construction Materials, LLC		\$9,601.0000	\$57,606.00
	Adams Contracting, LLC		\$9,745.0200	\$58,470.12
730-15.07	CABINET (EIGHT PHASE BASE MOUNTED)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$27,183.0000	\$54,366.00
	Vulcan Construction Materials, LLC		\$18,002.0000	\$36,004.00
	Adams Contracting, LLC		\$18,272.0300	\$36,544.06
730-16.04	CONTROLLER (ATC)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$5,582.0000	\$11,164.00
	Vulcan Construction Materials, LLC		\$5,194.0000	\$10,388.00
	Adams Contracting, LLC		\$5,271.9100	\$10,543.82
730-24.41	CANTILEVER SIGNAL SUPPORT (1 ARM @ 70' AND 40' CCTV ARM)			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$52,905.0000	\$52,905.00
	Vulcan Construction Materials, LLC		\$46,826.0000	\$46,826.00
	Adams Contracting, LLC		\$47,528.3900	\$47,528.39
730-24.42	CANTILEVER SIGNAL SUPPORT (2 @ 55' & 65' AND 40' CCTV ARM)			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$62,383.0000	\$62,383.00
	Vulcan Construction Materials, LLC		\$46,003.0000	\$46,003.00
	Adams Contracting, LLC		\$46,693.0500	\$46,693.05
730-24.89	CANTILEVER SIGNAL SUPPORT (2 @ 40' & 70')			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$46,004.0000	\$46,004.00
	Vulcan Construction Materials, LLC		\$57,418.0000	\$57,418.00
	Adams Contracting, LLC		\$58,279.2700	\$58,279.27
730-25.17	CANTILEVER SIGNAL SUPPORT (1 ARM @ 85')			
		1.000 EACH		
	Stansell Electric Company, Inc.		\$57,413.0000	\$57,413.00
	Vulcan Construction Materials, LLC		\$39,809.0000	\$39,809.00
	Adams Contracting, LLC		\$40,406.1400	\$40,406.14
730-35.50	ROAD SIDE UNIT (RSU)			
		2.000 EACH		
	Stansell Electric Company, Inc.		\$10,815.0000	\$21,630.00
	Vulcan Construction Materials, LLC		\$9,946.0000	\$19,892.00
	Adams Contracting, LLC		\$10,095.1900	\$20,190.38

				CONTRACT CNW258
			UNIT PRICE	EXTENSION
740 40 00				
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	1,861.000 S.Y.		
	Stansell Electric Company, Inc.	1,001.000 3.1.	\$1.8000	\$3,349.80
	Vulcan Construction Materials, LLC		\$6.0000	\$11,166.00
	Adams Contracting, LLC		\$3.4900	\$6,494.89
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		600.000 L.F.		
	Stansell Electric Company, Inc.		\$3.0000	\$1,800.00
	Vulcan Construction Materials, LLC		\$6.0000	\$3,600.00
	Adams Contracting, LLC		\$4.0200	\$2,412.00
801-01	SEEDING (WITH MULCH)			
		30.000 UNIT		
	Stansell Electric Company, Inc.		\$43.9000	\$1,317.00
	Vulcan Construction Materials, LLC		\$100.0000	\$3,000.00
	Adams Contracting, LLC		\$35.8800	\$1,076.40
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		57.000 UNIT		
	Stansell Electric Company, Inc.		\$43.9000	\$2,502.30
	Vulcan Construction Materials, LLC		\$100.0000	\$5,700.00
	Adams Contracting, LLC		\$31.7800	\$1,811.46
801-02	SEEDING (WITHOUT MULCH)			
		27.000 UNIT		
	Stansell Electric Company, Inc.		\$23.7000	\$639.90
	Vulcan Construction Materials, LLC		\$95.0000	\$2,565.00
	Adams Contracting, LLC		\$29.7300	\$802.71
801-03	WATER (SEEDING & SODDING)			
		6.000 M.G.		
	Stansell Electric Company, Inc.		\$236.0000	\$1,416.00
	Vulcan Construction Materials, LLC		\$200.0000	\$1,200.00
	Adams Contracting, LLC		\$62.5300	\$375.18
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
		1,498.000 S.Y.		
	Stansell Electric Company, Inc.		\$1.5000	\$2,247.00
	Vulcan Construction Materials, LLC		\$5.0000	\$7,490.00
	Adams Contracting, LLC		\$1.2800	\$1,917.44

SUB-TOTAL ROADWAY

Stansell Electric Company, Inc. Vulcan Construction Materials, LLC Adams Contracting, LLC \$3,205,861.87 \$3,271,430.85 \$3,361,482.63

TOTAL CONTRACT

Stansell Electric Company, Inc.	\$3,205,861.87
Vulcan Construction Materials, LLC	\$3,271,430.85
Adams Contracting, LLC	\$3,361,482.63

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

SHELBY COUNTY (Contract No. CNW281 Call 037)

HSIP-REG4(218),R4SVAR-F3-009

THE ADA CURB RAMP UPGRADES ON VARIOUS ROUTES IN MEMPHIS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

DBE GOAL 6.00%

Bluff City Construction Company, LLC GCM, Inc.

TOTAL CONTRACT

\$588,204.30 \$753,515.00

				CONTRACT CNW281
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.	488.000 S.Y.		
	Bluff City Construction Company, LLC GCM, Inc.		\$75.6000 \$50.0000	\$36,892.80 \$24,400.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Bluff City Construction Company, LLC GCM, Inc.	174.000 C.Y.	\$111.9000 \$105.0000	\$19,470.60 \$18,270.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Bluff City Construction Company, LLC GCM, Inc.	1.000 TON	\$850.0000 \$7,500.0000	\$850.00 \$7,500.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	Bluff City Construction Company, LLC GCM, Inc.	4,071.000 S.F.	\$10.0000 \$15.0000	\$40,710.00 \$61,065.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Bluff City Construction Company, LLC GCM, Inc.	6,670.000 S.F.	\$30.0000 \$35.0000	\$200,100.00 \$233,450.00
701-02.03	CONCRETE CURB RAMP			
	Bluff City Construction Company, LLC GCM, Inc.	2,530.000 S.F.	\$32.0500 \$35.0000	\$81,086.50 \$88,550.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
	Bluff City Construction Company, LLC GCM, Inc.	416.000 S.F.	\$85.9500 \$70.0000	\$35,755.20 \$29,120.00
702-01	CONCRETE CURB			
	Bluff City Construction Company, LLC GCM, Inc.	38.000 C.Y.	\$1,387.6500 \$795.0000	\$52,730.70 \$30,210.00
712-01	TRAFFIC CONTROL			
	Bluff City Construction Company, LLC GCM, Inc.	1.000 LS	\$49,500.0000 \$200,000.0000	\$49,500.00 \$200,000.00
713-16.20	SIGNS (STOP, R1-1)			
	Bluff City Construction Company, LLC GCM, Inc.	3.000 EACH	\$295.0000 \$650.0000	\$885.00 \$1,950.00

CO	NTR	ACT.	CNW281

				INTRACI CNW201
			UNIT PRICE	EXTENSION
716-02.05	5 PLASTIC PAVEMENT MARKING (STOP LINE)			
		36.000 L.F.		
	Bluff City Construction Company, LLC		\$50.0000	\$1,800.00
	GCM, Inc.		\$57.5000	\$2,070.00
716-02.09	9 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROS	S-WALK)		
		100.000 L.F.		
	Bluff City Construction Company, LLC		\$50.0000	\$5,000.00
	GCM, Inc.		\$57.5000	\$5,750.00
				+-,
717-01	MOBILIZATION			
		1.000 LS		
	Bluff City Construction Company, LLC		\$62,363.5000	\$62,363.50
	GCM, Inc.		\$50,000.0000	\$50,000.00
801-03	WATER (SEEDING & SODDING)			
		1.000 M.G.		
	Pluff City Construction Company, LLC	1:000 W.G.	¢250,0000	<u> </u>
	Bluff City Construction Company, LLC GCM, Inc.		\$250.0000 \$100.0000	\$250.00 \$100.00
			\$100.0000	\$100.00
803-01	SODDING (NEW SOD)			
		108.000 S.Y.		
	Bluff City Construction Company, LLC		\$7.5000	\$810.00
	GCM, Inc.		\$10.0000	\$1,080.00

SUB-TOTAL ROADWAY

Bluff City Construction Company, LLC GCM, Inc.

\$588,204.30 \$753,515.00

TOTAL CONTRACT

 Bluff City Construction Company, LLC
 \$588,204.30

 GCM, Inc.
 \$753,515.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

SHELBY COUNTY (Contract No. CNW290 Call 038)

NH/HSIP-4(12),79S004-F3-002,79S004-F8-002,79S004-M3-005

THE RESURFACING ON U.S. 78 (S.R. 4) FROM S.R. 176 (L.M. 5.34) TO NEAR I-240 (L.M. 7.68), INCLUDING BRIDGE DECK AND EXPANSION JOINT REPAIRS.

PROJECT LENGTH - 2.340 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2023

DBE GOAL 6.50%

	TOTAL CONTRACT
Standard Construction Company, Inc.	\$4,904,001.60
APAC-Tennessee, Inc.	\$5,176,266.55
Lehman-Roberts Company	\$6,517,318.08

UNIT PRICE EXTENSION ROADWAY CATEGORY 202-03 REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC. 698.000 S.Y. Standard Construction Company, Inc. \$102.000 \$71,196.00 APAC-Tennessee, Inc. \$86.2900 \$60,230.42	
202-03 REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC. 698.000 S.Y. Standard Construction Company, Inc. \$102.0000 \$71,196.00	
698.000 S.Y. Standard Construction Company, Inc. \$102.0000 \$71,196.00	
698.000 S.Y. Standard Construction Company, Inc. \$102.0000 \$71,196.00	
Standard Construction Company, Inc. \$102.0000 \$71,196.00	
Lehman-Roberts Company\$95.0000\$66,310.00	
202-03.01 REMOVAL OF ASPHALT PAVEMENT	
1,712.000 S.Y.	
Standard Construction Company, Inc. \$80.0000 \$136,960.00	
APAC-Tennessee, Inc. \$49.1400 \$84,127.68	
Lehman-Roberts Company \$170.0000 \$291,040.00	
203-06 WATER	
203-00 WATER 1.000 M.G.	
Standard Construction Company, Inc. \$510.000 W.G. \$510.000 \$510.000 \$510.000	
APAC-Tennessee, Inc. \$194.6700 \$194.6700	
Lehman-Roberts Company \$168.500 \$168.50	
208-01.05 BROOMING & DEGRASSING SHOULDERS	
2.400 L.M.	
Standard Construction Company, Inc. \$5,600.0000 \$13,440.00	
APAC-Tennessee, Inc. \$4,080.1700 \$9,792.41	
Lehman-Roberts Company \$17,500.0000 \$42,000.00	
303-02 MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)	
44.000 TON	
Standard Construction Company, Inc. \$126.5000 \$5,566.00	
APAC-Tennessee, Inc. \$248.5700 \$10,937.08	
Lehman-Roberts Company \$420.5000 \$18,502.00	
307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A	
13.000 TON	
Standard Construction Company, Inc. \$375.0000 \$4,875.000 \$4,875.000	
APAC-Tennessee, Inc. \$2,360.9200 \$30,691.96	
Lehman-Roberts Company \$1,950.0000 \$25,350.00	
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2	
447.000 TON	
Standard Construction Company, Inc. \$225.0000 \$100,575.00 APAC-Tennessee, Inc. \$417.2700 \$186,519.69	
Lehman-Roberts Company \$596.0000 \$266,412.00	
403-02.01 TRACKLESS TACK COAT	
54.000 TON	
Standard Construction Company, Inc. \$1,685.0000 \$90,990.00	
APAC-Tennessee, Inc. \$1,420.8300 \$76,724.82	
Lehman-Roberts Company \$1,600.0000 \$86,400.00	

EXTENSION

411-02.10	ACS MIX(PG70-22) GRADING D			
		8,227.000 TON		
	Standard Construction Company, Inc.		\$179.5000	\$1,476,746.50
	APAC-Tennessee, Inc.		\$239.8500	\$1,973,245.95
	Lehman-Roberts Company		\$240.0000	\$1,974,480.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		8,070.000 TON		
	Standard Construction Company, Inc.		\$59.0000	\$476,130.00
	APAC-Tennessee, Inc.		\$64.4600	\$520,192.20
	Lehman-Roberts Company		\$102.5000	\$827,175.00
502-03.25	FULL DEPTH PCC PAVEMENT REPAIR HIGH EARLY			
		8.000 C.Y.		
	Standard Construction Company, Inc.		\$1,430.0000	\$11,440.00
	APAC-Tennessee, Inc.		\$964.4700	\$7,715.76
	Lehman-Roberts Company		\$1,082.0000	\$8,656.00
502-04.01	SAWING CONCRETE PAVEMENT (FULL DEPTH)			
		90.000 L.F.		
	Standard Construction Company, Inc.		\$31.5000	\$2,835.00
	APAC-Tennessee, Inc.		\$21.3200	\$1,918.80
	Lehman-Roberts Company		\$50.0000	\$4,500.00
502-04.02	LOAD TRANSFER DOWELS			
		50.000 EACH		
	Standard Construction Company, Inc.		\$45.0000	\$2,250.00
	APAC-Tennessee, Inc.		\$87.0600	\$4,353.00
	Lehman-Roberts Company		\$62.1500	\$3,107.50
502-04.03	TRANSVERSE TIE-BARS			
		27.000 EACH		
	Standard Construction Company, Inc.		\$41.0000	\$1,107.00
	APAC-Tennessee, Inc. Lehman-Roberts Company		\$69.0400 \$45.5000	\$1,864.08 \$1,228.50
	Lenman-Roberts Company		\$45.5000	\$1,228.50
611-03.04	GRAY IRON CASTINGS (CATCHBASIN)			
		15,750.000 LB.		
	Standard Construction Company, Inc.		\$9.3000	\$146,475.00
	APAC-Tennessee, Inc.		\$8.1200	\$127,890.00
	Lehman-Roberts Company		\$8.9000	\$140,175.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		31.000 EACH		
	Standard Construction Company, Inc.		\$5,200.0000	\$161,200.00
	APAC-Tennessee, Inc.		\$4,263.9600	\$132,182.76
	Lehman-Roberts Company		\$5,250.0000	\$162,750.00

CONTRACT CNW290 UNIT PRICE EXTENSION

701-01.01 CONCRETE SIDEWALK (4 ")

		3,360.000 S.F.		
	Standard Construction Company, Inc.		\$19.1000	\$64,176.00
	APAC-Tennessee, Inc.		\$16.7500	\$56,280.00
			\$18.3500	\$61,656.00
	Lehman-Roberts Company		φ10.3300	φ01,000.00
701 02 01	CONCRETE CURB RAMP (RETROFIT)			
701-02.01	CONCRETE CORD RAMP (RETROFIT)			
		3,989.000 S.F.	A (0,0000	.
	Standard Construction Company, Inc.		\$46.0000	\$183,494.00
	APAC-Tennessee, Inc.		\$40.6100	\$161,993.29
	Lehman-Roberts Company		\$44.4000	\$177,111.60
701-02-03	3 CONCRETE CURB RAMP			
101 02.00		2,918.000 S.F.		
	Other dead Operation Operations in a	2,910.000 3.1 .	¢ 40,0000	¢404.000.00
	Standard Construction Company, Inc.		\$46.0000	\$134,228.00
	APAC-Tennessee, Inc.		\$40.6100	\$118,499.98
	Lehman-Roberts Company		\$44.4000	\$129,559.20
702-01	CONCRETE CURB			
		10.000 C.Y.		
		10.000 C. I.	# 222.222	\$ 0,000,00
	Standard Construction Company, Inc.		\$980.0000	\$9,800.00
	APAC-Tennessee, Inc.		\$807.1100	\$8,071.10
	Lehman-Roberts Company		\$882.5000	\$8,825.00
712-01				
712-01	TRAFFIC CONTROL	1 000 L S		
712-01		1.000 LS	\$F35,000,0000	¢525,000,00
712-01	Standard Construction Company, Inc.	1.000 LS	\$525,000.0000	\$525,000.00
712-01	Standard Construction Company, Inc. APAC-Tennessee, Inc.	1.000 LS	\$550,000.0000	\$550,000.00
712-01	Standard Construction Company, Inc.	1.000 LS		
	Standard Construction Company, Inc. APAC-Tennessee, Inc.	1.000 LS	\$550,000.0000	\$550,000.00
	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company	1.000 LS 2,410.000 L.F.	\$550,000.0000	\$550,000.00
	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 2 INTERCONNECTED PORTABLE BARRIER RAIL		\$550,000.0000	\$550,000.00 \$625,000.00
	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 2 INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc.		\$550,000.0000 \$625,000.0000 \$45.0000	\$550,000.00 \$625,000.00 \$108,450.00
	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 2 INTERCONNECTED PORTABLE BARRIER RAIL		\$550,000.0000 \$625,000.0000	\$550,000.00 \$625,000.00
	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 2 INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc.		\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70
712-02.02	Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 2 INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc.	2,410.000 L.F.	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS) 	2,410.000 L.F.	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 	2,410.000 L.F. H TL-3)	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS) 	2,410.000 L.F. H TL-3)	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS Standard Construction Company, Inc. 	2,410.000 L.F. H TL-3)	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00 \$45,600.00
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company 	2,410.000 L.F. H TL-3)	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000 \$22,697.9700	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00 \$45,600.00 \$90,791.88
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS Standard Construction Company, Inc. APAC-Tennessee, Inc. 	2,410.000 L.F. H TL-3) 4.000 EACH	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000 \$22,697.9700	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00 \$45,600.00 \$90,791.88
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company FLEXIBLE DRUMS (CHANNELIZING) 	2,410.000 L.F. H TL-3)	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000 \$22,697.9700 \$14,500.0000	\$550,000.00 \$625,000.00 \$91,748.70 \$133,755.00 \$45,600.00 \$90,791.88 \$58,000.00
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MASS Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company FLEXIBLE DRUMS (CHANNELIZING) Standard Construction Company, Inc. 	2,410.000 L.F. H TL-3) 4.000 EACH	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000 \$22,697.9700 \$14,500.0000 \$60.0000	\$550,000.00 \$625,000.00 \$108,450.00 \$91,748.70 \$133,755.00 \$45,600.00 \$90,791.88 \$58,000.00 \$10,860.00
712-02.02	 Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company INTERCONNECTED PORTABLE BARRIER RAIL Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company TEMPORARY WORK ZONE CRASH CUSHION (MAS Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company Standard Construction Company, Inc. APAC-Tennessee, Inc. Lehman-Roberts Company FLEXIBLE DRUMS (CHANNELIZING) 	2,410.000 L.F. H TL-3) 4.000 EACH	\$550,000.0000 \$625,000.0000 \$45.0000 \$38.0700 \$55.5000 \$11,400.0000 \$22,697.9700 \$14,500.0000	\$550,000.00 \$625,000.00 \$91,748.70 \$133,755.00 \$45,600.00 \$90,791.88 \$58,000.00

			Ľ	UNIRACI CNW290
			UNIT PRICE	EXTENSION
712-04.50	BARRIER RAIL DELINEATOR			
		92.000 EACH		
	Standard Construction Company, Inc.		\$18.0000	\$1,656.00
	APAC-Tennessee, Inc.		\$15.0000	\$1,380.00
	Lehman-Roberts Company		\$16.6500	\$1,531.80
712-05.01	WARNING LIGHTS (TYPE A)			
		130.000 EACH		
	Standard Construction Company, Inc.		\$66.0000	\$8,580.00
	APAC-Tennessee, Inc.		\$55.0000	\$7,150.00
	Lehman-Roberts Company		\$61.2500	\$7,962.50
712-05.03	WARNING LIGHTS (TYPE C)			
		96.000 EACH		
	Standard Construction Company, Inc.		\$66.0000	\$6,336.00
	APAC-Tennessee, Inc.		\$55.0000	\$5,280.00
	Lehman-Roberts Company		\$61.2500	\$5,880.00
712-06	SIGNS (CONSTRUCTION)			
		1,752.000 S.F.		
	Standard Construction Company, Inc.		\$9.9000	\$17,344.80
	APAC-Tennessee, Inc.		\$8.2500	\$14,454.00
	Lehman-Roberts Company		\$9.1500	\$16,030.80
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		128.000 L.F.		
	Standard Construction Company, Inc.		\$19.2000	\$2,457.60
	APAC-Tennessee, Inc.		\$16.0000	\$2,048.00
	Lehman-Roberts Company		\$17.7500	\$2,272.00
712-08.03	ARROW BOARD (TYPE C)			
		5.000 EACH		
	Standard Construction Company, Inc.		\$1,560.0000	\$7,800.00
	APAC-Tennessee, Inc.		\$1,300.0000	\$6,500.00
	Lehman-Roberts Company		\$1,500.0000	\$7,500.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		7,709.000 L.F.		
	Standard Construction Company, Inc.		\$8.3000	\$63,984.70
	APAC-Tennessee, Inc.		\$6.9500	\$53,577.55
	Lehman-Roberts Company		\$7.6000	\$58,588.40
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		14.000 L.F.		
	Standard Construction Company, Inc.		\$36.0000	\$504.00
	APAC-Tennessee, Inc.		\$30.4600 \$32.2000	\$426.44 \$466.20
	Lehman-Roberts Company		\$33.3000	\$466.20

EXTENSION

713-16 01	CHANGEABLE MESSAGE SIGN UNIT
113-10.01	

713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		6.000 EACH		
	Standard Construction Company, Inc.		\$9,600.0000	\$57,600.00
	APAC-Tennessee, Inc.		\$8,000.0000	\$48,000.00
	Lehman-Roberts Company		\$10,000.0000	\$60,000.00
714-05.03	PULL BOXES (TYPE B)			
		7.000 EACH		
	Standard Construction Company, Inc.		\$1,200.0000	\$8,400.00
	APAC-Tennessee, Inc.		\$1,530.0000	\$10,710.00
	Lehman-Roberts Company		\$2,426.3700	\$16,984.59
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
		267.000 EACH		
	Standard Construction Company, Inc.		\$62.0000	\$16,554.00
	APAC-Tennessee, Inc.		\$52.7900	\$14,094.93
	Lehman-Roberts Company		\$57.7000	\$15,405.90
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (M	ONO-DIR)(1 COLOR)		
		578.000 EACH		
	Standard Construction Company, Inc.		\$62.0000	\$35,836.00
	APAC-Tennessee, Inc.		\$52.7900	\$30,512.62
	Lehman-Roberts Company		\$57.7000	\$33,350.60
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		1,080.000 L.F.		
	Standard Construction Company, Inc.		\$43.0000	\$46,440.00
	APAC-Tennessee, Inc.		\$36.5500	\$39,474.00
	Lehman-Roberts Company		\$39.9500	\$43,146.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION S	STRIPING)		
		45.000 S.Y.		
	Standard Construction Company, Inc.		\$54.0000	\$2,430.00
	APAC-Tennessee, Inc.		\$38.5800	\$1,736.10
	Lehman-Roberts Company		\$42.2000	\$1,899.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		618.000 L.F.		
	Standard Construction Company, Inc.		\$34.0000	\$21,012.00
	APAC-Tennessee, Inc.		\$28.4300	\$17,569.74
	Lehman-Roberts Company		\$31.1000	\$19,219.80
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROY	W)		
		25.000 EACH		
	Standard Construction Company, Inc.		\$300.0000	\$7,500.00
	APAC-Tennessee, Inc.		\$253.8100	\$6,345.25
	Lehman-Roberts Company		\$277.4500	\$6,936.25

UNIT PRICE **EXTENSION** 716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK) 885.000 L.F. \$46,905.00 Standard Construction Company, Inc. \$53.0000 APAC-Tennessee, Inc. \$44.6700 \$39,532.95 Lehman-Roberts Company \$48.8500 \$43,232.25 716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY) 20.000 EACH Standard Construction Company, Inc. \$310.0000 \$6,200.00 APAC-Tennessee, Inc. \$263.9600 \$5,279.20 Lehman-Roberts Company \$288.5000 \$5,770.00 716-04.02 PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW) 4.000 EACH Standard Construction Company, Inc. \$420.0000 \$1,680.00 APAC-Tennessee, Inc. \$355.3300 \$1,421.32 Lehman-Roberts Company \$388.4000 \$1,553.60 716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE) 45.000 S.F. Standard Construction Company, Inc. \$42.0000 \$1,890.00 APAC-Tennessee, Inc. \$35.5300 \$1,598.85 Lehman-Roberts Company \$38.8500 \$1,748.25 716-05.20 PAINTED PAVEMENT MARKING (6" LINE) 13.000 L.M. Standard Construction Company, Inc. \$3,800.0000 \$49,400.00 APAC-Tennessee, Inc. \$3,248.7300 \$42,233.49 Lehman-Roberts Company \$3,550.0000 \$46,150.00 716-08.01 REMOVAL OF PAVEMENT MARKING (LINE) 1,931.000 L.F. Standard Construction Company, Inc. \$4.0000 \$7,724.00 \$2.0300 \$3,919.93 APAC-Tennessee, Inc. Lehman-Roberts Company \$2.2500 \$4,344.75 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) 13.400 L.M. Standard Construction Company, Inc. \$11,800.0000 \$158,120.00 APAC-Tennessee, Inc. \$9,949.2400 \$133,319.82 Lehman-Roberts Company \$10,875.0000 \$145,725.00 717-01 MOBILIZATION 1.000 LS Standard Construction Company, Inc. \$415,000.0000 \$415,000.00

APAC-Tennessee, Inc.

Lehman-Roberts Company

PAGE 7

\$255,000.00

\$650,000.00

\$255.000.0000

\$650,000.0000

EXTENSION

730-12.01	CONDUIT 1" DIAMETER (PVC)	

730-12.01	CONDUIT 1" DIAMETER (PVC)			
		110.000 L.F.		
	Standard Construction Company, Inc.		\$28.8000	\$3,168.00
	APAC-Tennessee, Inc.		\$28.5600	\$3,141.60
	Lehman-Roberts Company		\$70.6500	\$7,771.50
730-14.02	SAW SLOT			
		2,545.000 L.F.		
	Standard Construction Company, Inc.		\$14.4000	\$36,648.00
	APAC-Tennessee, Inc.		\$8.1600	\$20,767.20
	Lehman-Roberts Company		\$20.9600	\$53,343.20
730-14.03	LOOP WIRE			
		6,290.000 L.F.		
	Standard Construction Company, Inc.		\$2.4000	\$15,096.00
	APAC-Tennessee, Inc.		\$2.0400	\$12,831.60
	Lehman-Roberts Company		\$4.4100	\$27,738.90
730-26.14	PEDESTRIAN PUSHBUTTON ADJUSTMENT			
		28.000 EACH		
	Standard Construction Company, Inc.		\$840.0000	\$23,520.00
	APAC-Tennessee, Inc.		\$1,489.2000	\$41,697.60
	Lehman-Roberts Company		\$243.3300	\$6,813.24

		CONTRACT CNW290
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
414.000 L.	.F.	
Standard Construction Company, Inc.	\$73.0000	\$30,222.00
APAC-Tennessee, Inc.	\$61.9300	\$25,639.02
Lehman-Roberts Company	\$158.4500	\$65,598.30
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
41.000 S.	.Y.	
Standard Construction Company, Inc.	\$490.0000	\$20,090.00
APAC-Tennessee, Inc.	\$380.7100	\$15,609.11
Lehman-Roberts Company	\$930.4500	\$38,148.45

SUB-TOTAL ROADWAY

Standard Construction Company, Inc.	\$4,853,689.60
APAC-Tennessee, Inc.	\$5,135,018.42
Lehman-Roberts Company	\$6,413,571.33
SUB-TOTAL BRIDGE	
Standard Construction Company, Inc.	\$50,312.00
APAC-Tennessee, Inc.	\$41,248.13
Lehman-Roberts Company	\$103,746.75

TOTAL CONTRACT

Standard Construction Company, Inc.	\$4,904,001.60
APAC-Tennessee, Inc.	\$5,176,266.55
Lehman-Roberts Company	\$6,517,318.08

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

SULLIVAN COUNTY (Contract No. CNW265 Call 039)

82011-4233-04

THE REPAIR OF THE BRIDGE ON S.R. 93 OVER THE SOUTH FORK HOLSTON RIVER AND PLANT ROAD (L.M. 7.82).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2024

	TOTAL CONTRACT
Summers-Taylor, Inc.	\$5,137,452.00
Whaley Construction, LLC	\$5,266,762.25
Mid-State Construction Company, Inc.	\$6,109,735.39
Jones Bros. Contractors, LLC	\$6,246,471.00
Wright Brothers Construction Company, Inc.	\$7,477,789.90

				CONTRACT CNW265
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Summers-Taylor, Inc.		\$18,300.0000	\$18,300.00
	Whaley Construction, LLC		\$75,000.0000	\$75,000.00
	Mid-State Construction Company, Inc.		\$23,442.5500	\$23,442.55
	Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
	Wright Brothers Construction Company, Inc.		\$35,000.0000	\$35,000.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		325.000 L.F.		
	Summers-Taylor, Inc.		\$5.9000	\$1,917.50
	Whaley Construction, LLC		\$9.0000	\$2,925.00
	Mid-State Construction Company, Inc.		\$10.3900	\$3,376.75
	Jones Bros. Contractors, LLC		\$8.0000	\$2,600.00
	Wright Brothers Construction Company, Inc.		\$5.6000	\$1,820.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		200.000 TON		
	Summers-Taylor, Inc.		\$95.5000	\$19,100.00
	Whaley Construction, LLC		\$45.0000	\$9,000.00
	Mid-State Construction Company, Inc.		\$88.3300	\$17,666.00
	Jones Bros. Contractors, LLC		\$55.0000	\$11,000.00
	Wright Brothers Construction Company, Inc.		\$262.0000	\$52,400.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		1,160.000 TON		
	Summers-Taylor, Inc.	·	\$66.5000	\$77,140.00
	Whaley Construction, LLC		\$47.0000	\$54,520.00
	Mid-State Construction Company, Inc.		\$53.1400	\$61,642.40
	Jones Bros. Contractors, LLC		\$55.0000	\$63,800.00
	Wright Brothers Construction Company, Inc.		\$65.0000	\$75,400.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
		65.000 TON		
	Summers-Taylor, Inc.		\$467.0000	\$30,355.00
	Whaley Construction, LLC		\$489.5000	\$31,817.50
	Mid-State Construction Company, Inc.		\$525.3800	\$34,149.70
	Jones Bros. Contractors, LLC		\$467.0000	\$30,355.00
	Wright Brothers Construction Company, Inc.		\$529.0000	\$34,385.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-I	M2		
		25.000 TON		
	Summers-Taylor, Inc.		\$565.0000	\$14,125.00
	Whaley Construction, LLC		\$525.0000	\$13,125.00
	Mid-State Construction Company, Inc.		\$635.6300	\$15,890.75
	Jones Bros. Contractors, LLC		\$565.0000	\$14,125.00
	Wright Brothers Construction Company, Inc.		\$640.0000	\$16,000.00

				UNITACI CINW203
			UNIT PRICE	EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		0.300 TON		
	Summers-Taylor, Inc.		\$2,885.0000	\$865.50
	Whaley Construction, LLC		\$4,180.0000	\$1,254.00
	Mid-State Construction Company, Inc.		\$3,245.6300	\$973.69
	Jones Bros. Contractors, LLC		\$2,885.0000	\$865.50
	Wright Brothers Construction Company, Inc.		\$3,270.0000	\$981.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		1.100 TON		
	Summers-Taylor, Inc.		\$270.0000	\$297.00
	Whaley Construction, LLC		\$96.0000	\$105.60
	Mid-State Construction Company, Inc.		\$303.7500	\$334.13
	Jones Bros. Contractors, LLC		\$270.0000	\$297.00
	Wright Brothers Construction Company, Inc.		\$306.0000	\$336.60
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.100 TON		
	Summers-Taylor, Inc.		\$1,290.0000	\$2,709.00
	Whaley Construction, LLC		\$1,391.0000	\$2,921.10
	Mid-State Construction Company, Inc.		\$1,445.6200	\$3,035.80
	Jones Bros. Contractors, LLC		\$1,285.0000	\$2,698.50
	Wright Brothers Construction Company, Inc.		\$1,460.0000	\$3,066.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		325.000 TON		
	Summers-Taylor, Inc.		\$218.0000	\$70,850.00
	Whaley Construction, LLC		\$307.0000	\$99,775.00
	Mid-State Construction Company, Inc.		\$245.2500	\$79,706.25
	Jones Bros. Contractors, LLC		\$218.0000	\$70,850.00
	Wright Brothers Construction Company, Inc.		\$247.0000	\$80,275.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		1.000 L.M.		
	Summers-Taylor, Inc.		\$58,776.0000	\$58,776.00
	Whaley Construction, LLC		\$5,000.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$54,000.0000	\$54,000.00
	Jones Bros. Contractors, LLC		\$45,020.0000	\$45,020.00
	Wright Brothers Construction Company, Inc.		\$5,000.0000	\$5,000.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		4,400.000 S.Y.		
	Summers-Taylor, Inc.		\$9.3000	\$40,920.00
	Whaley Construction, LLC		\$5.5000	\$24,200.00
	Mid-State Construction Company, Inc.		\$10.1300	\$44,572.00
	Jones Bros. Contractors, LLC		\$9.0000	\$39,600.00
	Wright Brothers Construction Company, Inc.		\$10.2000	\$44,880.00

CONTRACT	CNW265
CONTRACT	CINVZOJ

				CONTRACT CNW265
			UNIT PRICE	EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		4.000 EACH		
	Summers-Taylor, Inc.		\$1,600.0000	\$6,400.00
	Whaley Construction, LLC		\$2,200.0000	\$8,800.00
	Mid-State Construction Company, Inc.		\$1,518.7500	\$6,075.00
	Jones Bros. Contractors, LLC		\$1,350.0000	\$5,400.00
	Wright Brothers Construction Company, Inc.		\$1,530.0000	\$6,120.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		475.000 L.F.		
	Summers-Taylor, Inc.		\$42.5000	\$20,187.50
	Whaley Construction, LLC		\$42.5000	\$20,187.50
	Mid-State Construction Company, Inc.		\$39.3800	\$18,705.50
	Jones Bros. Contractors, LLC		\$35.0000	\$16,625.00
	Wright Brothers Construction Company, Inc.		\$39.7500	\$18,881.25
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Summers-Taylor, Inc.		\$3,650.0000	\$14,600.00
	Whaley Construction, LLC		\$3,795.0000	\$15,180.00
	Mid-State Construction Company, Inc.		\$3,375.0000	\$13,500.00
	Jones Bros. Contractors, LLC		\$3,000.0000	\$12,000.00
	Wright Brothers Construction Company, Inc.		\$3,410.0000	\$13,640.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
		4.000 EACH		
	Summers-Taylor, Inc.		\$3,650.0000	\$14,600.00
	Whaley Construction, LLC		\$3,245.0000	\$12,980.00
	Mid-State Construction Company, Inc.		\$3,375.0000	\$13,500.00
	Jones Bros. Contractors, LLC		\$3,000.0000	\$12,000.00
	Wright Brothers Construction Company, Inc.		\$3,410.0000	\$13,640.00
706-01	GUARDRAIL REMOVED			
		735.000 L.F.		
	Summers-Taylor, Inc.		\$1.2000	\$882.00
	Whaley Construction, LLC		\$3.8500	\$2,829.75
	Mid-State Construction Company, Inc.		\$1.1300	\$830.55
	Jones Bros. Contractors, LLC		\$1.0000	\$735.00
	Wright Brothers Construction Company, Inc.		\$1.1500	\$845.25
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		350.000 L.F.		
	Summers-Taylor, Inc.		\$5.3000	\$1,855.00
	Whaley Construction, LLC		\$6.0000	\$2,100.00
	Mid-State Construction Company, Inc.		\$6.1800	\$2,163.00
	Jones Bros. Contractors, LLC		\$3.0000	\$1,050.00
	Wright Brothers Construction Company, Inc.		\$2.2500	\$787.50

EXTENSION

UNIT PRICE

709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		25.000 TON		
	Summers-Taylor, Inc.		\$117.0000	\$2,925.00
	Whaley Construction, LLC		\$58.0000	\$1,450.00
	Mid-State Construction Company, Inc.		\$109.0200	\$2,725.50
	Jones Bros. Contractors, LLC		\$85.0000	\$2,125.00
	Wright Brothers Construction Company, Inc.		\$93.5000	\$2,337.50
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Summers-Taylor, Inc.		\$76,885.0000	\$76,885.00
	Whaley Construction, LLC		\$250,000.0000	\$250,000.00
	Mid-State Construction Company, Inc.		\$156,555.7400	\$156,555.74
	Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
	Wright Brothers Construction Company, Inc.		\$531,000.0000	\$531,000.00
712-02.10	PORTABLE BARRIER RAIL (MASH TL-3)			
		1,760.000 L.F.		
	Summers-Taylor, Inc.		\$95.0000	\$167,200.00
	Whaley Construction, LLC		\$123.0000	\$216,480.00
	Mid-State Construction Company, Inc.		\$88.1000	\$155,056.00
	Jones Bros. Contractors, LLC		\$115.0000	\$202,400.00
	Wright Brothers Construction Company, Inc.		\$72.7500	\$128,040.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-	3)		
		4.000 EACH		
	Summers-Taylor, Inc.		\$15,300.0000	\$61,200.00
	Whaley Construction, LLC		\$20,000.0000	\$80,000.00
	Mid-State Construction Company, Inc.		\$15,750.0000	\$63,000.00
	Jones Bros. Contractors, LLC		\$9,625.0000	\$38,500.00
	Wright Brothers Construction Company, Inc.		\$15,900.0000	\$63,600.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		390.000 EACH		
	Summers-Taylor, Inc.		\$34.5000	\$13,455.00
	Whaley Construction, LLC		\$55.0000	\$21,450.00
	Mid-State Construction Company, Inc.		\$56.2500	\$21,937.50
	Jones Bros. Contractors, LLC		\$29.0000	\$11,310.00
	Wright Brothers Construction Company, Inc.		\$56.7500	\$22,132.50
712-04.50	BARRIER RAIL DELINEATOR			
		65.000 EACH		
	Summers-Taylor, Inc.		\$22.0000	\$1,430.00
	Whaley Construction, LLC		\$15.5000	\$1,007.50
	Mid-State Construction Company, Inc.		\$15.7500	\$1,023.75
	Jones Bros. Contractors, LLC		\$20.0000	\$1,300.00
	Wright Brothers Construction Company, Inc.		\$15.9000	\$1,033.50

EXTENSION

UNIT PRICE

712-05.01 WARNING LIGHTS (TYPE A)

	WARNING LIGHTS (TYPE A)		
		6.000 EACH	
	Summers-Taylor, Inc.	\$48.0000	\$288.00
	Whaley Construction, LLC	\$66.0000	\$396.00
	Mid-State Construction Company, Inc.	\$67.5000	\$405.00
	Jones Bros. Contractors, LLC	\$50.0000	\$300.00
	Wright Brothers Construction Company, Inc.	\$68.0000	\$408.00
	mgn Doniolo conclusion company, noi	\$00.0000	
712-06	SIGNS (CONSTRUCTION)		
		890.000 S.F.	
	Current Taular Inc.		¢0,000,00
	Summers-Taylor, Inc.	\$10.0000	\$8,900.00
	Whaley Construction, LLC	\$8.6500	\$7,698.50
	Mid-State Construction Company, Inc.	\$8.8300	\$7,858.70
	Jones Bros. Contractors, LLC	\$10.5000	\$9,345.00
	Wright Brothers Construction Company, Inc.	\$8.9000	\$7,921.00
712-07.03	TEMPORARY BARRICADES (TYPE III)		
		36.000 L.F.	
	Summers-Taylor, Inc.	\$15.0000	\$540.00
	Whaley Construction, LLC	\$16.5000	\$594.00
	Mid-State Construction Company, Inc.	\$16.8800	\$607.68
	Jones Bros. Contractors, LLC	\$26.5000	\$954.00
	Wright Brothers Construction Company, Inc.	\$17.0500	\$613.80
712-08.03	ARROW BOARD (TYPE C)		
		2.000 EACH	
	Summers-Taylor, Inc.	\$480.0000	\$960.00
	Whaley Construction, LLC	\$1,430.0000	\$2,860.00
	Mid-State Construction Company, Inc.	¢1 462 5000	
		\$1,462.5000	\$2,925.00
	Jones Bros. Contractors, LLC	\$1,462.5000 \$1,275.0000	\$2,925.00 \$2,550.00
	Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc.		
712-09.02	Wright Brothers Construction Company, Inc.	\$1,275.0000	\$2,550.00
712-09.02		\$1,275.0000	\$2,550.00
712-09.02	Wright Brothers Construction Company, Inc.	\$1,275.0000 \$1,480.0000	\$2,550.00
712-09.02	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500	\$2,550.00 \$2,960.00
712-09.02	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00
712-09.02	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500	\$2,550.00 \$2,960.00 \$123,500.00
712-09.02	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (STOP LINE)	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500 \$3.6500 \$3.6500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00 \$138,700.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (STOP LINE) Summers-Taylor, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500 \$3.6500 \$3.6500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00 \$123,500.00 \$138,700.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (STOP LINE) Summers-Taylor, Inc. Whaley Construction, LLC	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500 \$3.6500 \$3.6500 \$3.6500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00 \$123,500.00 \$138,700.00 \$138,700.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (STOP LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc.	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500 \$3.6500 \$3.6500 \$22.0000 \$22.0000 \$22.5000	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00 \$138,700.00 \$138,700.00 \$792.00 \$792.00 \$810.00
	Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (8" BARRIER LINE) Summers-Taylor, Inc. Whaley Construction, LLC Mid-State Construction Company, Inc. Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. REMOVABLE PAVEMENT MARKING (STOP LINE) Summers-Taylor, Inc. Whaley Construction, LLC	\$1,275.0000 \$1,480.0000 38,000.000 L.F. \$3.2500 \$3.5800 \$3.6600 \$3.2500 \$3.6500 \$3.6500 \$3.6500 \$3.6500	\$2,550.00 \$2,960.00 \$123,500.00 \$136,040.00 \$139,080.00 \$123,500.00 \$123,500.00 \$138,700.00 \$138,700.00

EXTENSION

UNIT PRICE

713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Summers-Taylor, Inc.		\$8,500.0000	\$17,000.00
	Whaley Construction, LLC		\$2,500.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$13,500.0000	\$27,000.00
	Jones Bros. Contractors, LLC		\$4,975.0000	\$9,950.00
	Wright Brothers Construction Company, Inc.		\$13,600.0000	\$27,200.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DI	R)(1 COLOR)		
		35.000 EACH		
	Summers-Taylor, Inc.		\$75.0000	\$2,625.00
	Whaley Construction, LLC		\$82.5000	\$2,887.50
	Mid-State Construction Company, Inc.		\$84.3800	\$2,953.30
	Jones Bros. Contractors, LLC		\$75.0000	\$2,625.00
	Wright Brothers Construction Company, Inc.		\$84.2500	\$2,948.75
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		35.000 EACH		
	Summers-Taylor, Inc.		\$45.0000	\$1,575.00
	Whaley Construction, LLC		\$55.0000	\$1,925.00
	Mid-State Construction Company, Inc.		\$56.2500	\$1,968.75
	Jones Bros. Contractors, LLC		\$50.0000	\$1,750.00
	Wright Brothers Construction Company, Inc.		\$56.2500	\$1,968.75
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		1.500 L.M.		
	Summers-Taylor, Inc.		\$9,000.0000	\$13,500.00
	Whaley Construction, LLC		\$9,625.0000	\$14,437.50
	Mid-State Construction Company, Inc.		\$9,843.7500	\$14,765.63
	Jones Bros. Contractors, LLC		\$8,750.0000	\$13,125.00
	Wright Brothers Construction Company, Inc.		\$9,830.0000	\$14,745.00
717-01	MOBILIZATION			
		1.000 LS	•	•
	Summers-Taylor, Inc.		\$409,552.0000	\$409,552.00
	Whaley Construction, LLC		\$109,000.0000	\$109,000.00
	Mid-State Construction Company, Inc.		\$302,765.1400	\$302,765.14
	Jones Bros. Contractors, LLC		\$310,000.0000	\$310,000.00
	Wright Brothers Construction Company, Inc.		\$370,000.0000	\$370,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		1.000 EACH		
	Summers-Taylor, Inc.		\$19,700.0000	\$19,700.00
	Whaley Construction, LLC		\$50,000.0000	\$50,000.00
	Mid-State Construction Company, Inc.		\$62,400.0000	\$62,400.00
	Jones Bros. Contractors, LLC		\$30,000.0000	\$30,000.00
	Wright Brothers Construction Company, Inc.		\$115,000.0000	\$115,000.00

	UNIT PRICE	EXTENSION
740-07.04 GEOGRID REINFORCEMENT TYPE 2		
2,150.000 S.Y.		
Summers-Taylor, Inc.	\$8.5500	\$18,382.50
Whaley Construction, LLC	\$6.0000	\$12,900.00
Mid-State Construction Company, Inc.	\$7.1200	\$15,308.00
Jones Bros. Contractors, LLC	\$5.0000	\$10,750.00
Wright Brothers Construction Company, Inc.	\$7.3500	\$15,802.50
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)		
560.000 S.Y.		
Summers-Taylor, Inc.	\$13.5000	\$7,560.00
Whaley Construction, LLC	\$7.0000	\$3,920.00
Mid-State Construction Company, Inc.	\$9.4300	\$5,280.80
Jones Bros. Contractors, LLC	\$3.5000	\$1,960.00
Wright Brothers Construction Company, Inc.	\$6.6000	\$3,696.00

		•	
		UNIT PRICE	EXTENSION
BRIDGE CATE	GORT		
201-05.31 VEGE	ETATION REMOVAL		
		1.000 LS	
Sumr	mers-Taylor, Inc.	\$19,750.0000	\$19,750.00
Whal	ey Construction, LLC	\$45,000.0000	\$45,000.00
	State Construction Company, Inc.	\$6,099.1200	\$6,099.12
	s Bros. Contractors, LLC	\$100,000.0000	\$100,000.00
Wrigh	nt Brothers Construction Company, Inc.	\$84,300.0000	\$84,300.00
202-04.01 REM	OVAL OF STRUCTURES (BR. NO. 82-SR093-07.82)		
		1.000 LS	
	mers-Taylor, Inc.	\$512,250.0000	\$512,250.00
	ey Construction, LLC	\$450,000.0000	\$450,000.00
	State Construction Company, Inc.	\$809,694.0600	\$809,694.06
	s Bros. Contractors, LLC	\$1,300,000.0000	\$1,300,000.00
Wrigh	nt Brothers Construction Company, Inc.	\$1,270,000.0000	\$1,270,000.00
603-02.01 REPA	AINTING EXISTING STEEL STRUCTURES (BR. NO. 82-SR093-07.	82)	
		1.000 LS	
Sumr	mers-Taylor, Inc.	\$625,000.0000	\$625,000.00
	ey Construction, LLC	\$633,150.0000	\$633,150.00
	State Construction Company, Inc.	\$678,375.0000	\$678,375.00
	s Bros. Contractors, LLC	\$603,000.0000	\$603,000.00
Wrigh	nt Brothers Construction Company, Inc.	\$705,000.0000	\$705,000.00
603-05.20 CON	TAINMENT & DISPOSAL OF WASTE(BR. NO. 82-SR093-07.82)		
		1.000 LS	
Sumr	mers-Taylor, Inc.	\$295,000.0000	\$295,000.00
Whal	ey Construction, LLC	\$386,000.0000	\$386,000.00
	State Construction Company, Inc.	\$292,500.0000	\$292,500.00
	s Bros. Contractors, LLC	\$260,000.0000	\$260,000.00
Wrigh	nt Brothers Construction Company, Inc.	\$302,000.0000	\$302,000.00
604-02.03 EPO>	KY COATED REINFORCING STEEL		
	396,7	50.000 LB.	
Sumr	mers-Taylor, Inc.	\$2.0000	\$793,500.00
	ey Construction, LLC	\$2.2000	\$872,850.00
	State Construction Company, Inc.	\$2.6200	\$1,039,485.00
	s Bros. Contractors, LLC	\$3.0000	\$1,190,250.00
Wrigh	nt Brothers Construction Company, Inc.	\$2.4000	\$952,200.00
604-03.04 PAVE	EMENT @ BRIDGE ENDS		
	3	35.000 S.Y.	
	mers-Taylor, Inc.	\$550.0000	\$184,250.00
	ey Construction, LLC	\$390.0000	\$130,650.00
	State Construction Company, Inc.	\$639.1500	\$214,115.25
	s Bros. Contractors, LLC	\$500.0000	\$167,500.00
\//riak	at Brothers Construction Company Inc	\$583,0000	\$105 305 00

Wright Brothers Construction Company, Inc.

\$195,305.00

\$583.0000

EXTENSION

UNIT PRICE

\$741.7500

\$265.0000

\$1,180.0000

604-03.35	CLASS L CONCRETE			
		800.000 C.Y.		
	Summers-Taylor, Inc.		\$1,430.0000	\$1,144,000.00
	Whaley Construction, LLC		\$1,483.0000	\$1,186,400.00
	Mid-State Construction Company, Inc.		\$1,751.5300	\$1,401,224.00
	Jones Bros. Contractors, LLC		\$1,500.0000	\$1,200,000.00
	Wright Brothers Construction Company, Inc.		\$2,290.0000	\$1,832,000.00
604-04.02	APPLIED TEXTURE FINISH (EXISTING STRUCTURES)			
		3,000.000 S.Y.		
	Summers-Taylor, Inc.		\$12.0000	\$36,000.00
	Whaley Construction, LLC		\$11.0000	\$33,000.00
	Mid-State Construction Company, Inc.		\$11.2500	\$33,750.00
	Jones Bros. Contractors, LLC		\$10.0000	\$30,000.00
	Wright Brothers Construction Company, Inc.		\$12.6000	\$37,800.00
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)			
		3,340.000 S.Y.		
	Summers-Taylor, Inc.		\$5.6000	\$18,704.00
	Whaley Construction, LLC		\$4.5700	\$15,263.80
	Mid-State Construction Company, Inc.		\$7.2600	\$24,248.40
	Jones Bros. Contractors, LLC		\$4.1500	\$13,861.00
	Wright Brothers Construction Company, Inc.		\$9.4500	\$31,563.00
604-10.05	CONCRETE			
		5.000 S.F.		
	Summers-Taylor, Inc.		\$597.0000	\$2,985.00
	Whaley Construction, LLC		\$580.0000	\$2,900.00
	Mid-State Construction Company, Inc.		\$750.9500	\$3,754.75
	Jones Bros. Contractors, LLC		\$470.0000	\$2,350.00
	Wright Brothers Construction Company, Inc.		\$927.0000	\$4,635.00
604-10.14	REMOVE EXISTING WEARING SURFACE			
		1.000 LS		
	Summers-Taylor, Inc.		\$26,500.0000	\$26,500.00
	Whaley Construction, LLC		\$57,090.0000	\$57,090.00
	Mid-State Construction Company, Inc.		\$29,812.5000	\$29,812.50
	Jones Bros. Contractors, LLC		\$26,500.0000	\$26,500.00
	Wright Brothers Construction Company, Inc.		\$30,000.0000	\$30,000.00
604-10.54	CONCRETE REPAIRS			
		5.000 S.F.		
	Summers-Taylor, Inc.		\$590.0000	\$2,950.00
	Whaley Construction, LLC		\$562.0000	\$2,810.00
	Mid State Construction Company, Inc.		© 744 7500	¢0 700 7 5

Mid-State Construction Company, Inc.

Wright Brothers Construction Company, Inc.

Jones Bros. Contractors, LLC

\$3,708.75

\$1,325.00

\$5,900.00

CONTRACT	CNW265
CONTINACT	

UNIT PRICE

EXTENSION

604-10.55	CONCRETE (FOUNDATION REPAIRS)
004 10.00	CONCILL	

604-10.55	CONCRETE (FOUNDATION REPAIRS)			
		10.000 C.Y.		
	Summers-Taylor, Inc.		\$1,570.0000	\$15,700.00
	Whaley Construction, LLC		\$1,135.0000	\$11,350.00
	Mid-State Construction Company, Inc.		\$1,632.2400	\$16,322.40
	Jones Bros. Contractors, LLC		\$2,500.0000	\$25,000.00
	Wright Brothers Construction Company, Inc.		\$1,680.0000	\$16,800.00
604-10.58	EPOXY INJECTION (INJECTION)			
		4.000 GAL.		
	Summers-Taylor, Inc.		\$416.0000	\$1,664.00
	Whaley Construction, LLC		\$385.0000	\$1,540.00
	Mid-State Construction Company, Inc.		\$393.7500	\$1,575.00
	Jones Bros. Contractors, LLC		\$350.0000	\$1,400.00
	Wright Brothers Construction Company, Inc.		\$393.0000	\$1,572.00
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)			
		40.000 L.F.		
	Summers-Taylor, Inc.		\$297.0000	\$11,880.00
	Whaley Construction, LLC		\$275.0000	\$11,000.00
	Mid-State Construction Company, Inc.		\$345.7500	\$13,830.00
	Jones Bros. Contractors, LLC		\$250.0000	\$10,000.00
	Wright Brothers Construction Company, Inc.		\$281.0000	\$11,240.00
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)			
		1,060.000 L.F.		
	Summers-Taylor, Inc.		\$99.5000	\$105,470.00
	Whaley Construction, LLC		\$120.0000	\$127,200.00
	Mid-State Construction Company, Inc.		\$154.0100	\$163,250.60
	Jones Bros. Contractors, LLC		\$135.0000	\$143,100.00
	Wright Brothers Construction Company, Inc.		\$135.0000	\$143,100.00

SUB-TOTAL ROADWAY

Summers-Taylor, Inc.	\$1,341,849.00
Whaley Construction, LLC	\$1,300,558.45
Mid-State Construction Company, Inc.	\$1,377,990.56
Jones Bros. Contractors, LLC	\$1,172,185.00
Wright Brothers Construction Company, Inc.	\$1,854,374.90

SUB-TOTAL BRIDGE

Summers-Taylor, Inc.	\$3,795,603.00
Whaley Construction, LLC	\$3,966,203.80
Mid-State Construction Company, Inc.	\$4,731,744.83
Jones Bros. Contractors, LLC	\$5,074,286.00
Wright Brothers Construction Company, Inc.	\$5,623,415.00

TOTAL CONTRACT

Summers-Taylor, Inc.	\$5,137,452.00
Whaley Construction, LLC	\$5,266,762.25
Mid-State Construction Company, Inc.	\$6,109,735.39
Jones Bros. Contractors, LLC	\$6,246,471.00
Wright Brothers Construction Company, Inc.	\$7,477,789.90

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

TIPTON COUNTY (Contract No. CNW278 Call 040)

HSIP-8400(85),84946-3405-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2023

LU, Inc. Superior Traffic Control, LLC TOTAL CONTRACT

\$252,307.10 \$311,432.50

				CONTRACT CNW278
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01.09	MINERAL AGGREGATE, TYPE A BASE, GRADING D LIMESTONE	125.050 TON		
	LU, Inc. Superior Traffic Control, LLC		\$61.3600 \$50.0000	\$7,673.07 \$6,252.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH	* 4 = 44 0000	\$ 0,400,00
	LU, Inc. Superior Traffic Control, LLC		\$1,711.0000 \$2,000.0000	\$3,422.00 \$4,000.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT			
	LU, Inc.	2.000 EACH	\$1,711.0000	\$3,422.00
	Superior Traffic Control, LLC		\$2,000.0000	\$4,000.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
	LU, Inc.	592.000 L.F.	\$3.6000	\$2,131.20
	Superior Traffic Control, LLC		\$6.0000	\$3,552.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	LU, Inc.	525.000 L.F.	\$34.3100	\$18,012.75
	Superior Traffic Control, LLC		\$38.0000	\$19,950.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	LU, Inc.	2.000 EACH	\$3,397.2200	\$6,794.44
	Superior Traffic Control, LLC		\$4,000.0000	\$8,000.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	LU, Inc.	2.000 EACH	\$2,978.9100	\$5,957.82
	Superior Traffic Control, LLC		\$3,800.0000	\$7,600.00
706-01	GUARDRAIL REMOVED	585.000 L.F.		
	LU, Inc.	565.000 L.F.	\$0.5900	\$345.15
	Superior Traffic Control, LLC		\$7.0000	\$4,095.00
712-01	TRAFFIC CONTROL	1.000 LS		
	LU, Inc.	1.000 ES	\$2,200.0000	\$2,200.00
	Superior Traffic Control, LLC		\$10,000.0000	\$10,000.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT	786.000 L.F.		
	LU, Inc.	100.000 L.F.	\$6.0600	\$4,763.16
	Superior Traffic Control, LLC		\$7.0000	\$5,502.00

EXTENSION

UNIT PRICE

713-11 01	"U" SECTION STEEL POSTS	
113-11.01	U SECTION STEEL FUSIS	

713-11.01	"U" SECTION STEEL POSTS			
		1,424.000 LB.		
			\$4.7100	\$6,707.04
	Superior Traffic Control, LLC		\$7.0000	\$9,968.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		1,688.000 LB.		
	LU, Inc.		\$5.4200	\$9,148.96
	Superior Traffic Control, LLC		\$7.0000	\$11,816.00
713-11 21	P POST SLIP BASE			
		40.000 EACH		
	LU, Inc.		\$549.8800	\$21,995.20
	Superior Traffic Control, LLC		\$650.0000	\$26,000.00
740 44 00				
/13-11.22	U POST SLIP BASE	45.000 EACH		
	LU, Inc.	43.000 EACH	\$354.8100	\$15,966.45
	Superior Traffic Control, LLC		\$450.0000	\$20,250.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		530.000 S.F.		
	LU, Inc. Superior Traffic Control, LLC		\$12.7600 \$20.0000	\$6,762.80 \$10,600.00
			φ20.0000	\$10,000.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		322.000 S.F.		
	LU, Inc.		\$13.9400	\$4,488.68
	Superior Traffic Control, LLC		\$22.0000	\$7,084.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		45.000 EACH		
	LU, Inc.		\$50.0000	\$2,250.00
	Superior Traffic Control, LLC		\$75.0000	\$3,375.00
740 45 00				
/13-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT	1.000 EACH		
	LU, Inc.	1.000 EACH	\$100.0000	\$100.00
	Superior Traffic Control, LLC		\$300.0000	\$300.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		363.000 L.F.	¢10,0000	¢7.004.04
	LU, Inc. Superior Traffic Control, LLC		\$19.3800 \$24.0000	\$7,034.94 \$8,712.00
			Ψ2	<i>40,112.00</i>
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		46.000 L.M.		
	LU, Inc.		\$2,550.0000	\$117,300.00
	Superior Traffic Control, LLC		\$2,700.0000	\$124,200.00

				CONTRACT CNW278
			UNIT PRICE	EXTENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		2,088.000 L.F.		
	LU, Inc.		\$1.3800	\$2,881.44
	Superior Traffic Control, LLC		\$2.0000	\$4,176.00
717-01	MOBILIZATION			
		1.000 LS		
	LU, Inc.		\$2,950.0000	\$2,950.00
	Superior Traffic Control, LLC		\$12,000.0000	\$12,000.00

SUB-TOTAL ROADWAY

LU, Inc. Superior Traffic Control, LLC \$252,307.10 \$311,432.50

TOTAL CONTRACT

LU, Inc. Superior Traffic Control, LLC \$252,307.10 \$311,432.50

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

WASHINGTON COUNTY (Contract No. CNW263 Call 041)

90946-3465-04

THE GRADING, DRAINAGE AND PAVING ON A S.I.A. ROUTE SERVING PROJECT STARLIGHT, INCLUDING RESTRIPING AT THE INTERSECTION OF U.S. 321 (U.S. 11E, S.R. 34) AND PRECISION BOULEVARD/STOCKYARD ROAD IN TELFORD.

PROJECT LENGTH - 0.717 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

	TOTAL CONTRACT
Summers-Taylor, Inc.	\$1,553,274.25
Adams Contracting, LLC	\$2,493,777.00
Morgan Contracting, Inc.	\$3,797,788.00

CONTRACT CNW263 UNIT PRICE **EXTENSION ROADWAY CATEGORY** 105-01 CONSTRUCTION STAKES, LINES AND GRADES 1.000 LS Summers-Taylor, Inc. \$15,000.0000 \$15,000.00 Adams Contracting, LLC \$60,000.0000 \$60,000.00 Morgan Contracting, Inc. \$100,000.0000 \$100,000.00 201-01 **CLEARING AND GRUBBING** 1.000 LS Summers-Taylor, Inc. \$28,299.5000 \$28,299.50 Adams Contracting, LLC \$100,000.0000 \$100,000.00 Morgan Contracting, Inc. \$150,000.0000 \$150,000.00 203-01 **ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)** 22,839.000 C.Y. Summers-Taylor, Inc. \$11.2500 \$256,938.75 Adams Contracting, LLC \$30.0000 \$685,170.00 \$44.0000 \$1,004,916.00 Morgan Contracting, Inc. 203-02.01 BORROW EXCAVATION (GRADED SOLID ROCK) 1,814.000 TON Summers-Taylor, Inc. \$48.5000 \$87,979.00 Adams Contracting, LLC \$55.0000 \$99,770.00 Morgan Contracting, Inc. \$125.0000 \$226,750.00 203-04 PLACING AND SPREADING TOPSOIL 1,721.000 C.Y. Summers-Taylor, Inc. \$8.5000 \$14,628.50 Adams Contracting, LLC \$15.0000 \$25,815.00 \$76.0000 Morgan Contracting, Inc. \$130,796.00 203-06 WATER 87.000 M.G. Summers-Taylor, Inc. \$15.5000 \$1,348.50 Adams Contracting, LLC \$100.0000 \$8,700.00 \$155.0000 \$13,485.00 Morgan Contracting, Inc. 204-06.02 FLOWABLE FILL (EXCAVATABLE) 18.000 C.Y. Summers-Taylor, Inc. \$247.0000 \$4,446.00 \$350.0000 Adams Contracting, LLC \$6,300.00 \$590.0000 \$10,620.00 Morgan Contracting, Inc. 208-01.05 BROOMING & DEGRASSING SHOULDERS 0.500 L.M. Summers-Taylor, Inc. \$5,746.7000 \$2,873.35 Adams Contracting, LLC \$4,000.0000 \$2,000.00

Morgan Contracting, Inc.

\$7,000.00

\$14,000.0000

				DNIRACI CNW26
			UNIT PRICE	EXTENSION
209-05	SEDIMENT REMOVAL			
		237.000 C.Y.		
	Summers-Taylor, Inc.		\$23.5000	\$5,569.50
	Adams Contracting, LLC		\$15.0000	\$3,555.00
	Morgan Contracting, Inc.		\$112.0000	\$26,544.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		3,008.000 L.F.		
	Summers-Taylor, Inc.		\$4.6000	\$13,836.80
	Adams Contracting, LLC		\$5.0000	\$15,040.00
	Morgan Contracting, Inc.		\$5.0000	\$15,040.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		1,432.000 L.F.		
	Summers-Taylor, Inc.		\$3.2500	\$4,654.00
	Adams Contracting, LLC		\$3.0000	\$4,296.00
	Morgan Contracting, Inc.		\$3.0000	\$4,296.00
209-08.07	ROCK CHECK DAM			
		9.000 EACH		
	Summers-Taylor, Inc.		\$429.0000	\$3,861.00
	Adams Contracting, LLC		\$500.0000	\$4,500.00
	Morgan Contracting, Inc.		\$1,000.0000	\$9,000.00
209-08.08	ENHANCED ROCK CHECK DAM			
		6.000 EACH		
	Summers-Taylor, Inc.		\$477.0000	\$2,862.00
	Adams Contracting, LLC		\$900.0000	\$5,400.00
	Morgan Contracting, Inc.		\$1,350.0000	\$8,100.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		7,971.000 TON		
	Summers-Taylor, Inc.		\$39.5000	\$314,854.50
	Adams Contracting, LLC Morgan Contracting, Inc.		\$40.0000 \$56.0000	\$318,840.00 \$446.376.00
	Morgan Contracting, Inc.		\$56.0000	\$446,376.00
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		148.000 TON	•	
	Summers-Taylor, Inc.		\$65.0000	\$9,620.00
	Adams Contracting, LLC		\$60.0000	\$8,880.00
	Morgan Contracting, Inc.		\$110.0000	\$16,280.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		9.000 TON		A-
	Summers-Taylor, Inc.		\$88.0000	\$792.00
	Adams Contracting, LLC		\$60.0000 \$110.0000	\$540.00 \$000.00
	Morgan Contracting, Inc.		\$110.0000	\$990.00

			C	ONTRACT	CNW263
			UNIT PRICE	EXTE	NSION
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	ADING A			
		1,307.000 TON			
	Summers-Taylor, Inc.		\$142.0000	\$185,	594.00
	Adams Contracting, LLC		\$157.0000		199.00
	Morgan Contracting, Inc.		\$292.0000	\$381,0	644.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR	ADING B-M2			
		944.000 TON			
	Summers-Taylor, Inc.		\$157.0000	\$148,2	208.00
	Adams Contracting, LLC		\$172.0000		368.00
	Morgan Contracting, Inc.		\$335.0000	\$316,2	240.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)				
		12.000 TON			
	Summers-Taylor, Inc.		\$1,975.0000		700.00
	Adams Contracting, LLC		\$2,000.0000		00.00
	Morgan Contracting, Inc.		\$1,200.0000	\$14,4	400.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)				
		5.000 TON			
	Summers-Taylor, Inc.		\$1,250.0000		250.00
	Adams Contracting, LLC		\$1,300.0000		500.00
	Morgan Contracting, Inc.		\$2,400.0000	\$12,0	00.00
411-01.10	ACS MIX(PG64-22) GRADING D				
		619.000 TON			
	Summers-Taylor, Inc.		\$185.0000		515.00
	Adams Contracting, LLC		\$200.0000		800.00
	Morgan Contracting, Inc.		\$595.0000	\$368,3	305.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT				
		327.000 S.Y.			
	Summers-Taylor, Inc.		\$18.0000		886.00
	Adams Contracting, LLC		\$23.0000		521.00
	Morgan Contracting, Inc.		\$68.0000	\$22,2	236.00
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)				
		137.000 L.F.			
	Summers-Taylor, Inc.		\$203.5000		879.50
	Adams Contracting, LLC		\$125.0000		125.00
	Morgan Contracting, Inc.		\$90.0000	\$12,3	330.00
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)				
		4.000 C.Y.			
	Summers-Taylor, Inc.		\$3,700.0000		800.00
	Adams Contracting, LLC		\$2,500.0000		00.00
	Morgan Contracting, Inc.		\$4,400.0000	\$17,0	600.00

				CONTRACT CNW263
			UNIT PRICE	EXTENSION
611-07.02 STEEL BAR RI	EINFORCEMENT (PIPE ENDWALLS)	4 44 000 L D		
Summere Tev		141.000 LB.	¢1 4000	¢107.40
Summers-Tay Adams Contra			\$1.4000 \$10.0000	\$197.40 \$1,410.00
Morgan Contra	-		\$11.0000	\$1,551.00
705-06.01 W BEAM GR (1	YPE 2) MASH TL-3	1 007 000 L E		
Summers-Tay	lor Inc	1,007.000 L.F.	\$33.0000	\$33,231.00
Adams Contra			\$35.0000	\$35,245.00
Morgan Contra			\$100.0000	\$100,700.00
705-06.30 GR TERMINAL	. (ENERGY ABSORBING) MASH TL-2	2.000 EACH		
Summers-Tay	lor Inc	2.000 2/(011	\$3,100.0000	\$6,200.00
Adams Contra			\$3,500.0000	\$7,000.00
Morgan Contra			\$6,000.0000	\$12,000.00
707-08.11 HIGH-VISIBILI	TY CONSTRUCTION FENCE			
0		105.000 L.F.	¢40,0000	¢4,000,00
Summers-Tay Adams Contra			\$12.0000 \$2.0000	\$1,260.00 \$210.00
Morgan Contra	-		\$20.0000	\$2,100.00
-	-			
709-05.05 MACHINED RII	P-RAP (CLASS A-3)			
		50.000 TON		
Summers-Tay			\$79.0000	\$3,950.00
Adams Contra			\$75.0000	\$3,750.00
Morgan Contra	acting, Inc.		\$73.0000	\$3,650.00
709-05.06 MACHINED RII	P-RAP (CLASS A-1)			
		46.000 TON		
Summers-Tay	lor, Inc.		\$81.5000	\$3,749.00
Adams Contra			\$75.0000	\$3,450.00
Morgan Contra	acting, Inc.		\$73.0000	\$3,358.00
709-05.08 MACHINED RII	P-RAP (CLASS B)			
		8.000 TON		
Summers-Tay	lor. Inc.		\$86.5000	\$692.00
Adams Contra			\$75.0000	\$600.00
Morgan Contra	-		\$73.0000	\$584.00
712-01 TRAFFIC CON	TROI			
		1.000 LS		
Summers-Tay		1.000 L3	\$7,500.0000	\$7,500.00
Adams Contra			\$150,000.0000	\$150,000.00
Morgan Contra	-		\$65,000.0000	\$65,000.00
	ino.		φ00,000.0000	ψ00,000.00

EXTENSION

UNIT PRICE

712-04.01 FLEXIBLE DRUMS (CI	HANNELIZING)		
	100.000 EACH		
Summers-Taylor, Inc.		\$42.5000	\$4,250.00
Adams Contracting, L		\$50.0000	\$5,000.00
Morgan Contracting, I	Inc.	\$110.0000	\$11,000.00
712-05.01 WARNING LIGHTS (T)	YPE A)		
	50.000 EACH		
Summers-Taylor, Inc.		\$35.0000	\$1,750.00
Adams Contracting, L		\$45.0000	\$2,250.00
Morgan Contracting, I	inc.	\$44.0000	\$2,200.00
712-06 SIGNS (CONSTRUCTI			
	293.000 S.F.	• · · ·	•
Summers-Taylor, Inc.		\$11.5000 \$12.0000	\$3,369.50 \$3,516.00
Adams Contracting, L Morgan Contracting, I		\$12.0000 \$12.0000	\$3,516.00 \$3,516.00
worgan contracting, i		ψ12.0000	\$3,510.00
712-07.03 TEMPORARY BARRIC	ADES (TYPE III)		
	36.000 L.F.		
Summers-Taylor, Inc.		\$9.9000	\$356.40
Adams Contracting, L		\$50.0000	\$1,800.00
Morgan Contracting, I	inc.	\$24.0000	\$864.00
713-01.01 CLASS A CONCRETE	(FOUNDATION FOR SIGN SUPPORTS)		
	1.000 C.Y.	•	• · · · · · · · ·
Summers-Taylor, Inc.		\$1,920.0000	\$1,920.00
Adams Contracting, L Morgan Contracting, I		\$2,500.0000 \$2,000.0000	\$2,500.00 \$2,000.00
worgan contracting, i		ψ2,000.0000	φ2,000.00
713-01.02 STEEL BAR REINFOR	CEMENT(FOUNDATION FOR SIGN SUPPORTS)		
	100.000 LB.		
Summers-Taylor, Inc.		\$10.0000	\$1,000.00
Adams Contracting, L Morgan Contracting, I		\$5.0000 \$15.0000	\$500.00 \$1,500.00
Morgan Contracting, I	п.с.	\$13.0000	\$1,300.00
713-11.02 PERFORATED/KNOCI	KOUT SQUARE TUBE POST		
	178.000 LB.		
Summers-Taylor, Inc.		\$11.0000	\$1,958.00
Adams Contracting, L		\$8.0000	\$1,424.00 \$1,780.00
Morgan Contracting, I	inc.	\$10.0000	\$1,780.00
713-13.03 FLAT SHEET ALUMIN	UM SIGNS (0.100" THICK)		
	53.000 S.F.		
Summers-Taylor, Inc.		\$35.0000	\$1,855.00
Adams Contracting, L		\$25.0000	\$1,325.00 \$1,740.00
Morgan Contracting, I	IIIC.	\$33.0000	\$1,749.00

UNIT PRICE **EXTENSION** 713-15 **REMOVAL OF SIGNS, POSTS AND FOOTINGS** 1.000 LS \$959.00 Summers-Taylor, Inc. \$959.0000 Adams Contracting, LLC \$2,500.0000 \$2,500.00 Morgan Contracting, Inc. \$8,000.0000 \$8,000.00 716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE) 65.000 L.F. Summers-Taylor, Inc. \$12,0000 \$780.00 Adams Contracting, LLC \$14.0000 \$910.00 Morgan Contracting, Inc. \$24.0000 \$1,560.00 716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW) 5.000 EACH Summers-Taylor, Inc. \$180.0000 \$900.00 Adams Contracting, LLC \$200.0000 \$1,000.00 Morgan Contracting, Inc. \$400.0000 \$2,000.00 716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE) 1,360.000 L.F. \$2.5000 \$3,400.00 Summers-Taylor, Inc. Adams Contracting, LLC \$3.0000 \$4,080.00 Morgan Contracting, Inc. \$10.0000 \$13,600.00 716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE) 0.200 L.M. Summers-Taylor, Inc. \$12,500.0000 \$2,500.00 Adams Contracting, LLC \$13,000.0000 \$2,600.00 Morgan Contracting, Inc. \$2,700.0000 \$540.00 716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW) 4.000 EACH Summers-Taylor, Inc. \$285.0000 \$1,140.00 \$350.0000 \$1,400.00 Adams Contracting, LLC Morgan Contracting, Inc. \$800.0000 \$3,200.00 716-05.01 PAINTED PAVEMENT MARKING (4" LINE) 3.000 L.M. \$4,950.00 Summers-Taylor, Inc. \$1,650.0000 Adams Contracting, LLC \$2,000.0000 \$6,000.00 Morgan Contracting, Inc. \$3,300.0000 \$9,900.00 716-05.20 PAINTED PAVEMENT MARKING (6" LINE) 0.500 L.M. Summers-Taylor, Inc. \$2,650.0000 \$1,325.00 Adams Contracting, LLC \$3.000.0000 \$1,500.00

Morgan Contracting, Inc.

\$2,650.00

\$5,300.0000

				CONTRACT CNW263
			UNIT PRICE	EXTENSION
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		8,115.000 L.F.	A a a a a a a a a a a	
	Summers-Taylor, Inc.		\$0.8000	\$6,492.00
	Adams Contracting, LLC		\$1.0000 \$1.5000	\$8,115.00 \$12,172.50
	Morgan Contracting, Inc.		\$1.5000	\$12,172.50
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		1.000 L.M.		
	Summers-Taylor, Inc.		\$6,500.0000	\$6,500.00
	Adams Contracting, LLC		\$7,500.0000	\$7,500.00
	Morgan Contracting, Inc.		\$11,500.0000	\$11,500.00
717-01	MOBILIZATION			
		1.000 LS		
	Summers-Taylor, Inc.		\$81,400.0000	\$81,400.00
	Adams Contracting, LLC		\$250,000.0000	\$250,000.00
	Morgan Contracting, Inc.		\$90,000.0000	\$90,000.00
740-06.01	GEOMEMBRANE			
		1,193.000 S.Y.		
	Summers-Taylor, Inc.		\$18.0000	\$21,474.00
	Adams Contracting, LLC		\$15.0000	\$17,895.00
	Morgan Contracting, Inc.		\$6.0000	\$7,158.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		194.000 S.Y.		
	Summers-Taylor, Inc.		\$9.0000	\$1,746.00
	Adams Contracting, LLC		\$4.0000	\$776.00
	Morgan Contracting, Inc.		\$9.0000	\$1,746.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		1,127.000 S.Y.		
	Summers-Taylor, Inc.		\$4.7500	\$5,353.25
	Adams Contracting, LLC		\$3.0000	\$3,381.00
	Morgan Contracting, Inc.		\$9.0000	\$10,143.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN			
		3,981.000 L.F.		
	Summers-Taylor, Inc.		\$4.8500	\$19,307.85
	Adams Contracting, LLC		\$5.0000	\$19,905.00
	Morgan Contracting, Inc.		\$8.0000	\$31,848.00
801-02	SEEDING (WITHOUT MULCH)			
	· · · · /	185.000 UNIT		
	Summers-Taylor, Inc.		\$39.5000	\$7,307.50
	Adams Contracting, LLC		\$50.0000	\$9,250.00
	Morgan Contracting, Inc.		\$43.0000	\$7,955.00
				÷ ,

			••	0.001200
			UNIT PRICE	EXTENSION
801-03	WATER (SEEDING & SODDING)			
		17.000 M.G.		
	Summers-Taylor, Inc.		\$85.0000	\$1,445.00
	Adams Contracting, LLC		\$200.0000	\$3,400.00
	Morgan Contracting, Inc.		\$660.0000	\$11,220.00
803-01	SODDING (NEW SOD)			
		762.000 S.Y.		
	Summers-Taylor, Inc.		\$6.2000	\$4,724.40
	Adams Contracting, LLC		\$10.0000	\$7,620.00
	Morgan Contracting, Inc.		\$24.0000	\$18,288.00
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
		10,323.000 S.Y.		
	Summers-Taylor, Inc.		\$1.3500	\$13,936.05
	Adams Contracting, LLC		\$2.0000	\$20,646.00
	Morgan Contracting, Inc.		\$2.5000	\$25,807.50

SUB-TOTAL ROADWAY

Summers-Taylor, Inc. Adams Contracting, LLC Morgan Contracting, Inc. \$1,553,274.25 \$2,493,777.00 \$3,797,788.00

TOTAL CONTRACT

Summers-Taylor, Inc.	\$1,553,274.25
Adams Contracting, LLC	\$2,493,777.00
Morgan Contracting, Inc.	\$3,797,788.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF AUGUST 19, 2022

WHITE COUNTY (Contract No. CNW289 Call 042)

93NMSC-S3-002

THE CONSTRUCTION OF A SALT BRINE SHED.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 15, 2022

H & H Construction, Inc. J & S Construction Company, Inc. TOTAL CONTRACT \$68,232.78

\$96,474.00

			CONT	RACT CNW289
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
680-02.0 1	BUILDING (40' X 60')			
		1.000 EACH		
	H & H Construction, Inc.	Ş	\$3,411.6400	\$3,411.64
	J & S Construction Company, Inc.	\$8	39,974.0000	\$89,974.00
717-01	MOBILIZATION			
		1.000 LS		
	H & H Construction, Inc.	\$6	64,821.1400	\$64,821.14
	J & S Construction Company, Inc.		\$6,500.0000	\$6,500.00

SUB-TOTAL MAINTENANCE

H & H Construction, Inc.

J & S Construction Company, Inc.

\$68,232.78 \$96,474.00

TOTAL CONTRACT

H & H Construction, Inc.

J & S Construction Company, Inc.

\$68,232.78 \$96,474.00